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1. Which of the following is not true

A. A continuous function is always differentiable

B. A differentable function is always continous

C. A polynomial function is always continuous

D. ex is continuous for all x

Answer: A

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_x4B9SsEm6Ddr


Watch Video Solution

2. Which of the following is not true always ?

A. If f(x) is continuous at x =a then it is differentiable at x=a

B. If f(x) is not cotinuous at x =a ,then it is not differentiable at x=a

C. If f(x) and g(x) are differentiable at x =a ,then f(x) +g(x) is also

differentiable at x=a

D. If f(x) is continuous at x =a,then lim f(x) exists

Answer: A

Watch Video Solution

3. if f(x) =
x for x ≥ 0
-x for x < 0 then

A. f(x) is continuous at x =0 but not differentiable

B. f(x) is continuous and differentiable at x=0

{

https://dl.doubtnut.com/l/_x4B9SsEm6Ddr
https://dl.doubtnut.com/l/_usTHjZj7XsfL
https://dl.doubtnut.com/l/_Anf9xGUtToHD


C. f(x) is differentiable at x=0

D. f(x) is not continuous at x=0

Answer: A

Watch Video Solution

4. If f(x) 
x for x ≥ 0
-x for x < 0

then f(x) at x=0 is

A. continuous but not differentiable

B. not continuous but differentbale

C. continuous and differentiable

D. not continous and not differentiable

Answer: A

Watch Video Solution

{

https://dl.doubtnut.com/l/_Anf9xGUtToHD
https://dl.doubtnut.com/l/_kPgLhLhbdV4Y


5. It f(x) =
x2

| x | for x ≠ 0

0 for x = 0
then

A. f '(x) axists in ( -2,2)

B. f'(x) exists in (-1,1)

C. f(x) is discontinuous at x= 0

D. f(x) is continuous at x=0

Answer: D

Watch Video Solution

{

6. If f(x) = 
1 + x for x ≤ 2
5 - x for x > 2

, then

A. f(x) is continuous and differentiable at x=2

B. f(x) is continuous at x=2 but not differentiable

C. f(x) is differentiable at x=2

{

https://dl.doubtnut.com/l/_A7l8hUJSmasf
https://dl.doubtnut.com/l/_hUOGnk7mSfEd


D. f(x) is not continuous at x=2

Answer: B

Watch Video Solution

7. If f(x) =
x - 1 for x < 2
2x - 3 for x ≥ 2

, then at x=2

A. f(x) is continuous but not differentiable

B. f (x) is continuous and differentiable

C. f (x) is not differentiable

D. f (x) is not continuous

Answer: A

Watch Video Solution

{

https://dl.doubtnut.com/l/_hUOGnk7mSfEd
https://dl.doubtnut.com/l/_iCPWLSn2rxE2


8. If f (x) =
x for0 ≤ x ≤ 1
2x - 1 for 1 < x

then

A. f(x) is discontinuous at x=1

B. f (x) is differntiable at x=1

C. f(x) is continuous but not differentiable at x=1

D. f (x) is not continuous but differentiable at x=1

Answer: C

Watch Video Solution

{

9. If f(x) =

x + 2 for -2 < x < 3
5 for x = 3
8 - x f or x > 3

, then at x=3 ,f'(x) =

A. -1

B. 0

C. 1

{

https://dl.doubtnut.com/l/_Kg0jps6THAKU
https://dl.doubtnut.com/l/_C21NakkGEeqa


D. does not exist

Answer: D

Watch Video Solution

10. If f(x) =
1 - 2x + 3x2 - 4x3 + ......∞ forx ≠ 1
1 for x = - 1

, then f(x) is

A. continuous for all x ∈  R

B. continuous but not differentiable at x=-1

C. continuous and differentiable at x = -1

D. not continous and not differentiable at x=-1

Answer: D

Watch Video Solution

{

11. The set of points where f(x) =
x

1 + |x|
 is differentiable is

https://dl.doubtnut.com/l/_C21NakkGEeqa
https://dl.doubtnut.com/l/_T4r2ZaFwC336
https://dl.doubtnut.com/l/_TESybmdc98dD


A. ( - ∞, 0) ∪ (0, ∞)

B. ( - ∞, - 1) ∪ ( - 1, ∞)

C. (0, ∞)

D. ( - ∞, ∞)

Answer: D

Watch Video Solution

12. If f(x) =|x-1| ,x ∈ R then at x =1

A. f(x) is not differentiable

B. f (x) is not continuous

C. f(x) is not continuous but not differentiable

D. f (x)is continuous and differentiable

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TESybmdc98dD
https://dl.doubtnut.com/l/_5AXVRtinyDbY


13. If f(x)=x -|x| is

A. differentiable at x=0

B. discontinuous at x=0

C. differentiable on R

D. continuous on R

Answer: D

Watch Video Solution

14. If f (x) =|x - 1| + |x - 2| ,then at x=2

A. f (x) is differentiable

B. f(x) is not differentiable

C. f′ 2 - = 2( )

https://dl.doubtnut.com/l/_5AXVRtinyDbY
https://dl.doubtnut.com/l/_N5Qt414wAb7d
https://dl.doubtnut.com/l/_Y4I4vi9YwkXl


D. f′ 2 + = 0

Answer: D

Watch Video Solution

( )

15. If f (x) = 
xcos

1

x for x ≠ 0

0 for x = 0

, then at x =0

A. f(x) is not continuous

B. f (x) is differentiable

C. f(x) is continuous and differentiable

D. f (x) is continuous but not differentiable

Answer: C

View Text Solution

{ ( )

https://dl.doubtnut.com/l/_Y4I4vi9YwkXl
https://dl.doubtnut.com/l/_EKRVcnQxC8VH


16. IF f(x) =

1
2 sin2x for x ≠ 0

0 for x = 0
, then at x=0

A. f (x) is not continuous

B. f(x) is not defferentiable

C. f(x) is not continuous and differentiable

D. f (x) is continuous but not differentiable

Answer: D

Watch Video Solution

{

17. If f(x) 
1 for

-π

2 < x < 0

1 + sinx for0 ≤ x <
π

2

, then at x= 0 ,f'(x) -

A. 1

B. -1

{

https://dl.doubtnut.com/l/_qemtCZ1uUFOK
https://dl.doubtnut.com/l/_6VjvxFumPEOx


C. ∞

D. does not exist

Answer: B

Watch Video Solution

18. If f(x) =[x],where x is the greatest integer not greater than 

x, - 2 ≤ x ≤ 2,  then at x= 1

A. f (x) is continuous and differentiable

B. f (x) is not continuous and not differentiable

C. f (x) is not continuous

D. f (x) is differentiable

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6VjvxFumPEOx
https://dl.doubtnut.com/l/_xJPcIk6WgAlQ
https://dl.doubtnut.com/l/_XEpFSQTVcq8z


19. If f(x) is derivable at x =2, where f(x) =
x2 forx ≤ 2
ax + b for x > 2

, then

A. a= 4 ,b=-4

B. a=-4 ,b=4

C. a=4,b=4

D. a=-4,b=-4

Answer: C

Watch Video Solution

{

20. If the function 

g(x) =
k√x + 1 0 ≤ x ≤ 3

mx + 2 3 < x ≤ 5
 is differentiable, then the value of k+m is

A. 
10
30

B. 
16
5

C. 2

{

https://dl.doubtnut.com/l/_XEpFSQTVcq8z
https://dl.doubtnut.com/l/_C0GVcuH8WYum


D. 4

Answer: D

Watch Video Solution

21. The value of m which the function f(x)
mx2 for x ≤ 1
2x forx > 1

is differentiable

at x= 1,is

A. 0

B. 1

C. 2

D. does not exist

Answer: C

Watch Video Solution

{

https://dl.doubtnut.com/l/_C0GVcuH8WYum
https://dl.doubtnut.com/l/_EsTEAODZaNw7


22. If f (x) =
px2 + q for x ≤ 1

qx2 + px + r for xl > 1
 where q ≠ 0 is derivable at x =1

,then

A. p=q,r=0

B. p=q ,r ≠  0

C. p=2q,r=0

D. p=2q ,r ≠ 0

Answer: B

Watch Video Solution

{

23. Let f(x) =
xnsin

1
x x ≠ 0

0 x = 0
 Then f(x) is continuous but not

differentiable at x=0. If

A. 1 ≤ p < ∞

{

https://dl.doubtnut.com/l/_7nViQzmVPV84
https://dl.doubtnut.com/l/_JFecG4DaYhYE


B. 0 < p ≤ 1

C. -∞ < p < 0

D. p = 0

Answer: C

Watch Video Solution

24. If f(x) = 
ex + ax for x < 0

b(x - 1)2 for x ≥ 0
,  is differentiable at x =0,then (a,b) is

A. ( - 3, - 1)

B. (3, 1)

C. ( - 3, 1)

D. (3, - 1)

Answer: B

Watch Video Solution

{

https://dl.doubtnut.com/l/_JFecG4DaYhYE
https://dl.doubtnut.com/l/_CNA6z7WGgOy3


25. If f (x)= ae | x | + b|x|2, a, b ∈  R and f(x) is differentiable at x =0 ,then

A. a=1,b=3

B. a=0 ,b ∈  R

C. a=1 ,b=2

D. a=2,b=3

Answer: B

Watch Video Solution

26. If lim x→ 2
f(x) - f(2)
x - 2

 exist ,then

A. lim x→ 2 - f(x) ≠ lim x→ 2 + f(x)

B. f(x) is differentiable

C. lim x→ 2f(x) = f(2)

D. lim x→ 2f(x) ≠ f(2)

https://dl.doubtnut.com/l/_CNA6z7WGgOy3
https://dl.doubtnut.com/l/_LB6N00qcDFGI
https://dl.doubtnut.com/l/_xXBNBoC9LszF


Answer: B

Watch Video Solution

27. If f is derivable at x =a,then lim x→a
xf(a) - af(x)

x - a

A. af′ (a) - f(a)

B. f(a) - af′ (a)

C. af(a)

D. -af′ (a)

Answer: B

Watch Video Solution

( )

28. If the relation f'(a+b) =f'( a)+ f '(b) and 
d
dx

(f(x)) = f′ (x),then f(x) =

A. x4

https://dl.doubtnut.com/l/_xXBNBoC9LszF
https://dl.doubtnut.com/l/_lj0OAyCWI4C0
https://dl.doubtnut.com/l/_bwHYg9dvf1S4


B. x2

C. x3

D. x

Answer: C

View Text Solution

29. Derivative of even function is

A. non-negative

B. even function

C. odd function

D. zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bwHYg9dvf1S4
https://dl.doubtnut.com/l/_4rv2mrbMTDHj
https://dl.doubtnut.com/l/_Mo90g0KV7CSY


30. Derivative of odd function is

A. non-positive

B. even function

C. zero

D. odd function

Answer: D

Watch Video Solution

31. If f (x) is polynomial of degree two and f(0) =4 f'(0) =3,f''(0) =4,then f(-1)

=

A. 2

B. -2

C. 3

D. -3

https://dl.doubtnut.com/l/_Mo90g0KV7CSY
https://dl.doubtnut.com/l/_fGon0NtwGlX1


Answer: C

Watch Video Solution

32. If f (x) is a polynomial of degree two and f(0) =4 f'(0) =3,f'' (0) 4 then

f(-1) =

A. 2

B. -2

C. 3

D. -3

Answer: A

Watch Video Solution

33. let f(x) be a polynomial function of second degree. If 

f(1) = f( - 1) and a1, a2, a3 are in AP, then show that f′ a1 , f′ a2 , f′ a3( ) ( ) ( )

https://dl.doubtnut.com/l/_fGon0NtwGlX1
https://dl.doubtnut.com/l/_0aGSPKLXIIzH
https://dl.doubtnut.com/l/_bQAPzMF2F3UF


are in AP.

A. A .P.

B. G.P.

C. H.P

D. A.G.P.

Answer: B

Watch Video Solution

34. For x ∈ R, f(x) = |log2 - sinx| and g(x) = f(f(x)), then

A. g is not differentiable at x=0

B. g′ (0) = cos(log2)

C. g(0) = - cos(log2)

D. g is differentiable at x =0 and g '(0) = - sin(log2)

Answer: A

https://dl.doubtnut.com/l/_bQAPzMF2F3UF
https://dl.doubtnut.com/l/_7tC92sRGCJwP


Watch Video Solution

35. y = 5x3 - 4x2 - 8x
9
, find

dy
dx

A. 9 5x3 - 4x2 - 8x
8

15x2 - 8x - 8

B. 9 5x3 - 4x2 - 8x
9

15x2 - 8x - 8

C. 9 5x3 - 4x2 - 8x
8

5x2 - 8x - 8

D. 9 5x3 - 4x2 - 8x
9

5x2 - 8x - 8

Answer: A

Watch Video Solution

( )

( ) ( )
( ) ( )
( ) ( )
( ) ( )

36. If y = 
1

x2 + 3
, then

dy
dx  =

A. 
-2x

x2 + 3
2

( )

( )

https://dl.doubtnut.com/l/_7tC92sRGCJwP
https://dl.doubtnut.com/l/_W23ndOJC2ww6
https://dl.doubtnut.com/l/_SUKJZrCzpeZp


B. 
2x

x2 + 3 3

C. 
-4x

x2 + 3 2

D. 
4x

x2 + 3
3

Answer: A

Watch Video Solution

( )

( )

( )

37. If y= x +
1
x

, then
dy
dx

=

A. 
x2 - 1

2x2√x2 + 1

B. 
1 - x2

2x2√x2 + 1

C. 
x2 - 1

2x√x x2 +1

D. 
1 - x2

2x√x√x2 + 1

√

√

https://dl.doubtnut.com/l/_SUKJZrCzpeZp
https://dl.doubtnut.com/l/_TpjjcksMmpR7


Answer: C

Watch Video Solution

38. If y= √x +
1

√x

5
, then

dy
dx

 =

A. 
5(x - 1)

2x√x √x +
1

√x

4

B. 
5(1 - x)

2x√x √x +
1

√x

C. 
5(x - 1)

2√x √x +
1

√x

D. 
5(1 - x)

2√x √x +
1

√x

4

Answer: A

Watch Video Solution

( )
( )
( )
( )
( )

39. If y = 3 2x2 - 7x - 4 5, then
dy
dx

=√ ( )

https://dl.doubtnut.com/l/_TpjjcksMmpR7
https://dl.doubtnut.com/l/_57U6xviwlGaC
https://dl.doubtnut.com/l/_WVvXnWq6Mm2L


A. 
5
3

2x3 - 7x - 4
2
3 (2x - 7)

B. 
5
3

2x3 - 7x - 4
2

3 (4x - 7)

C. 
5
3

2x3 - 7x - 4
3
2 (2x - 7)

D. 
5
3

2x3 - 7x - 4
3

2 (4x - 7)

Answer: B

Watch Video Solution

( )
( )
( )
( )

40. If y = x + √x + √x, then
dy
dx

=

A. 
1

√x + √x + √x
1 +

1

√x + √x
1 +

1

√x

B. 
1

2√x + √x + √x
1 +

1

√x + √x
1 +

1

√x

C. 
1

2√x + √x + √x
1 +

1

2√x + √x
1 +

1

√x

D. 
1

2√x + √x + √x
1 +

1

2√x + √x
1 +

1

2√x

√

( ( ))
( ( ))
( ( ))
( ( ))

https://dl.doubtnut.com/l/_WVvXnWq6Mm2L
https://dl.doubtnut.com/l/_XPc6T5Nqv11t


Answer: D

Watch Video Solution

41. If y =
1 - x
1 + x

, then 1 - x2 dy
dx

+ y is equal to

A. 1

B. -1

C. 2

D. 0

Answer: D

Watch Video Solution

√ ( )

42. If y =
1

√3x + 7
-

1

√7 - 3x
, then

dy
dx

 =

https://dl.doubtnut.com/l/_XPc6T5Nqv11t
https://dl.doubtnut.com/l/_9wJtxgjLVOfD
https://dl.doubtnut.com/l/_H7dx2noQzO1h


A. 
3
2

1

(3x + 7)
3

2

-
1

(7 - 3x)
3

2

B. 
-3
2

1

(3x + 7)
3

2

-
1

(7 - 3x)
3

2

C. 
3
2

1

(3x + 7)
3

2

+
1

(7 - 3x)
3

2

D. 
-3
2

1

(3x + 7)
3

2

+
1

(7 - 3x)
3

2

Answer: D

Watch Video Solution

( )
( )

( )
( )

43. If y= 1 + x +
x2

2!
+
x3

3!
+ ......∞, then

dy
dx

 =

A. y

B. -y

https://dl.doubtnut.com/l/_H7dx2noQzO1h
https://dl.doubtnut.com/l/_CbpDjhCdbxP5


C. 1

D. 0

Answer: A

Watch Video Solution

44. If y = 
1

1 + xp - r + xq - r +
1

1 + xp -q + xr -q +
1

1 + xq -p + xr -p , then
dy
dx

=

A. xp+q+ r

B. xp+q+ r - 1

C. 1

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CbpDjhCdbxP5
https://dl.doubtnut.com/l/_QrheE6GZ0CZA


45. If y = a2 + √a2 + x2, then
dy
dx

=

A. 
ax

4√a2 + x2 a2 + √a2 + x2

B. 
ax

2√a2 + x2 a2 + √a2 + x2

C. 
x

4√a2 + x2 a2 + √a2 + x2

D. 
x

2√a2 + x2 a2 + √a2 + x2

Answer: D

Watch Video Solution

√

√

√

√

√

46. If y = sin x2 + x , then
dy
dx

=

A. - (2x + 1)cos x2 + x

B. (2x + 1)cos x2 + x

C. 2xcos x2 + 5

( )

( )
( )

( )

https://dl.doubtnut.com/l/_JPsGhYwrwVd0
https://dl.doubtnut.com/l/_9TFSHprOYO86


D. (2x + 5)cos x2 + 5

Answer: B

Watch Video Solution

( )

47. If y = sin x2 + 5 , then
dy
dx

=

A. xcos x2 + 5

B. (x + 5)cos x2 + 5

C. 2xcos x2 + 5

D. (2x + 5)cos x2 + 5

Answer: C

Watch Video Solution

( )

( )
( )

( )
( )

48. If y = sin ax2 + bx + c then
dy
dx =( )

https://dl.doubtnut.com/l/_9TFSHprOYO86
https://dl.doubtnut.com/l/_4IH4V23BdvTY
https://dl.doubtnut.com/l/_MoQJ5kj6OO4r


A. (2ax + b)sin ax2 + bx + c

B. (2ax + b)cos ax2 + bx + c

C. (2ax + 2b)cos ax2 + bx + c

D. (2ax + 2b)sin ax2 + bx + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

49. If y = sin x2 + x + 5 , then
dy
dx

=

A. - (x + 1)cos x2 + x + 5

B. (x + 1)cos x2 + x + 5

C. - (2x + 1)cos x2 + x + 5

D. (2x + 1)cos x2 + x + 5

Answer: D

Watch Video Solution

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_MoQJ5kj6OO4r
https://dl.doubtnut.com/l/_3ZDbo7CRSlkP


50. If y = sin(cos(tanx)), then
dy
dx =

A. - sin(cos(tanx))sin(tanx)sec2x

B. sin(cos(tanx))sin(tanx)sec2x

C. -cos(cos(tanx))sin(tanx)sec2x

D. cos(cos(tanx))sin(tanx)sec2x

Answer: C

Watch Video Solution

51. If y= sin√sin√x, then
dy
dx

=

A. 
cos√xcos√sin√x

2√xsin√x

B. 
cos√xcos√sin√x

2√sin√x

https://dl.doubtnut.com/l/_3ZDbo7CRSlkP
https://dl.doubtnut.com/l/_VHWdTGTpZKjZ
https://dl.doubtnut.com/l/_MvlgcsHh4vmE


C. 
cos√xcos√sin√x

4√xsin√x

D. 
cos√xcos√sin√x

4√sin√x

Answer: C

Watch Video Solution

52. If y = cos√x, then
dy
dx

 =

A. 
sin√x

2√x

B. 
- sin√x

2√x

C. 
sin√x

2x√x

D. 
- sin√x

2x√x

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MvlgcsHh4vmE
https://dl.doubtnut.com/l/_7egysSYZfA4j


53. Ify = cos 2x + 45 ∘ , then
dy
dx

=

A. 2sin 2x + 45 ∘

B. -2sin 2x + 45 ∘

C. 
π
90

sin 2x + 45 ∘

D. 
-π
90

sin 2x + 45 ∘

Answer: D

Watch Video Solution

( )

( )
( )
( )
( )

54. If y = cos(sinx),then 
dy
dx =

A. (sinx)sin(sinx)

B. - (sinx)sin(sinx)

C. (cosx)sin(sinx)

D. - (cosx)sin(sinx)

https://dl.doubtnut.com/l/_g80X4S5cLSb9
https://dl.doubtnut.com/l/_ObSTvn9jg5rR


Answer: D

Watch Video Solution

55. Ify = cos x2ex , then
dy
dx

=

A. ex x2 + 2 sin x2ex

B. -ex x2 + 2 sin x2ex

C. xex(x + 2)sin x2ex

D. -xex(x + 2)sin x2ex

Answer: B

Watch Video Solution

( )

( ) ( )
( ) ( )

( )
( )

56. Ify =
1

cot(atanx + bcosx) , then
dy
dx

A. asec2x + bcosec2x sec2(atanx + bcotx)( )

https://dl.doubtnut.com/l/_ObSTvn9jg5rR
https://dl.doubtnut.com/l/_KrtH9eMEBXKH
https://dl.doubtnut.com/l/_jVSN5aN74KEb


B. asec2x - bcosec2x sec2(atanx + bcotx)

C. 

D. asec2x - bcosec2x cosec2(atanx + bcotx)

Answer: B

Watch Video Solution

( )

( )

57. If y = sec tan√x , then
dy
dx

=

A. 
tan√xsec2√xsec tan√x

2√x

B. 
sec2√xsec tan√x tan tan√x

2√x

C. 
sec2√xsec tan√x tan tan√x

√x

D. 
tan√xsec2√xsec tan√x

√x

Answer: A

( )

( )

( ) ( )

( ) ( )

( )

https://dl.doubtnut.com/l/_jVSN5aN74KEb
https://dl.doubtnut.com/l/_kGKZxzXoD4Uj


Watch Video Solution

58. If y = √sinx, then
dy
dx

=

A. 
cosx

2√sinx

B. 
-cosx

2√sinx

C. 
cosx

√sinx

D. 
-cosx

√sinx

Answer: A

Watch Video Solution

59. Ify = √sin√x, then
dy
dx

=

A. 
cos√x

2√sin√x

B. 
cos√x

4√sin√x

https://dl.doubtnut.com/l/_kGKZxzXoD4Uj
https://dl.doubtnut.com/l/_uMh3Q4Xn3jPF
https://dl.doubtnut.com/l/_S1pSwEWOLkeD


C. 
cos√x

2√xsin√x

D. 
cos√x

4√xsin√x

Answer: D

Watch Video Solution

60. y = sin2(log(2x + 3)), find
dy
dx

A. 
- sin(2log(2x + 3))

2x + 3

B. 
sin(log(4x + 6))

2x + 3

C. 
2sin(log(4x + 6))

2x + 3

D. 
2sin(2log(2x + 3))

2x + 3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_S1pSwEWOLkeD
https://dl.doubtnut.com/l/_ng93humFbaJW
https://dl.doubtnut.com/l/_ffqmOMlsBT7U


61. Ify = sin
2

5 (logx), then
dy
dx

=

A. 
2
5x

cos(logx)sin
- 3

5 (logx)

B. 
-2
5x

cos(logx)sin
- 3

5 (logx)

C. 
2
5x

sin(logx)sin
- 2

3 (logx)

D. 
-2
5x

sin(logx)sin
- 2

3 (logx)

Answer: B

Watch Video Solution

62. Ify = cos2(log(2x + 3)), then
dy
dx =

A. 
2sin(2log(2x + 3))

2x + 3

B. 
-2sin(2log(2x + 3))

2x + 3

C. 
sin(2log(2x + 3))

2x + 3

D. 
- sin(2log(2x + 3))

2x + 3

https://dl.doubtnut.com/l/_ffqmOMlsBT7U
https://dl.doubtnut.com/l/_VKuitKCnN9ia


Answer: A

Watch Video Solution

63. Ify = √tan√x, then
dy
dx

=

A. 
sec2√x

4√xtan√x

B. 
sec2√x

2√xtan√x

C. 
sec2√x

4√tanx√x

D. 
sec2√x

2√tanx√x

Answer: C

Watch Video Solution

64. if y = tan2 logx3 , find
dy
dx

.( )

https://dl.doubtnut.com/l/_VKuitKCnN9ia
https://dl.doubtnut.com/l/_BYpvoJGMItcI
https://dl.doubtnut.com/l/_LThKk6oEt9Dg


A. 
2
x

tan logx3 sec2 logx3

B. 
3
x

tan logx3 sec2 logx3

C. 
6
x

tan logx3 sec2 logx3

D. 
2
x

tan logx3 sec2 logx3

Answer: D

Watch Video Solution

( ) ( )
( ) ( )
( ) ( )
( ) ( )

65. 
d
dx

(cosecx + cotx) =

A. cosecx(cosecx - cotx)

B. -cosecx(cosecx - cotx)

C. cosecx(cosecx + cotx)

D. -cosecx(cosecx + cotx)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LThKk6oEt9Dg
https://dl.doubtnut.com/l/_EsqDmkaB6Ga2


66. Ify = √sinx + √cosx, then
dy
dx =

A. 
2cosx√cosx - sinx

4√cosx√sinx + √cosx

B. 
2cosx√cosx + sinx

4√cosx√sinx + √cosx

C. 
2cosx√cosx - sinx

2√cosx√sinx + √cosx

D. 
2cosx√cosx + sinx

2√cosx√sinx + √cosx

Answer: A

Watch Video Solution

67. Ify =
1

3√cosecx + cotx
, then

dy
dx

=

A. 
4cosecx

3√cosecx + cotx

B. 
-4cosecx

3√cosecx + cotx

https://dl.doubtnut.com/l/_EsqDmkaB6Ga2
https://dl.doubtnut.com/l/_AJ74BKC5wGMF
https://dl.doubtnut.com/l/_hzX8utUbEKWx


C. 
1
3

cosecx

3√cosecx + cotx

D. 
-cosecx

3√cosecx + cotx

Answer: C

Watch Video Solution

68. If r = 2ϕ + cos2 2ϕ +
π
4

1 / 2
, then dr /dϕ at ϕ = π /4

A. 2
1

π + 1

- 1

2

B. 2
2

π + 1

- 1

2

C. 2
1

π + 1

1

2

D. 2
2

π + 1

1

2

Answer: D

Watch Video Solution

[ ( )]
( )
( )
( )
( )

https://dl.doubtnut.com/l/_hzX8utUbEKWx
https://dl.doubtnut.com/l/_cLtAnBrp6hKM
https://dl.doubtnut.com/l/_XZKvYz6ysXRb


69. If y= √cosx + √cos√x, then
dy
dx

A. 
- sinx

2√cosx
-

sin√x

4√xcos√x

B. 
- sinx

2√cosx
+

sin√x

2√xcos√x

C. 
sinx

2√cosx
-

sin√x

4√xcos√x

D. 
sinx

2√cosx
+

sin√x

4√xcos√x

Answer: A

Watch Video Solution

70. If y = √sin3(5x + 3) + √cos3(5x + 3), then
dy
dx =

A. 
3
2cos(5x + 3)√sin(5x + 3) -

3
2sin(5x + 3)√cos(5x + 3)

B. 
3
2cos(5x + 3)√sin(5x + 3) +

3
2sin(5x + 3)√cos(5x + 3)

C. 
15
2 cos(5x + 3)√sin(5x + 3) -

15
2 sin(5x + 3)√cos(5x + 3)

https://dl.doubtnut.com/l/_XZKvYz6ysXRb
https://dl.doubtnut.com/l/_zgceESAQUh5H


D. 
15
2

cos(5x + 3)√sin5x + 3 -
15
2

sin(5x + 3) cos5x + 3

Answer: C

Watch Video Solution

√

71. If y = tan 2x ∘ - sin 3x ∘ , then
dy
dx

=

A. 
π
90

sec2 2x ∘ -
π
60

cos 3x ∘

B. 
π
90

sec2 2x ∘ -
π
90

cos 3x ∘

C. 
π
60

sec2 2x ∘ -
π
60

cos 3x ∘

D. 
π

180
sec2 2x ∘ -

π
180

cos 3x ∘

Answer: A

Watch Video Solution

( ) ( )

( ) ( )
( ) ( )
( ) ( )
( ) ( )

72. If f(x) = cosxcos2xcos4xcos(8x). cos16x then find f′
π
4( )

https://dl.doubtnut.com/l/_zgceESAQUh5H
https://dl.doubtnut.com/l/_OJljZ0u16B0W
https://dl.doubtnut.com/l/_68VhYr3fq8Vp


A. 
1

√2

B. 
√3

2

C. √2

D. 1

Answer: C

Watch Video Solution

73. If y = cos x3 sin2 x5 , then
dy
dx

=

A. 5x4sin x3 sin 2x5 - 3x2cos x3 sin x5

B. 5x4sin x3 sin 2x5 + 3x2cos x3 sin x5

C. 5x4sin x3 sin 2x5 - 3x2sin x3 sin2 x5

D. 5x4sin x3 sin 2x5 + 3x2sin x3 sin2 x5

Answer: C

Watch Video Solution

( ) ( )

( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )
( ) ( ) ( ) ( )

https://dl.doubtnut.com/l/_68VhYr3fq8Vp
https://dl.doubtnut.com/l/_5j36jCXolaB6


Watch Video Solution

74. Ify = sin23xtan32x, then
dy
dx

=

A. sin3xtan22x 2sin3xsec22x + 3cos3xtan3x

B. 2sin3xtan22x 2sin3xsec22x + 3cos3xtan3x

C. 3sin3xtan22x 2sin3xsec22x + 3cos3xtan3x

D. 6sin3xtan22x 2sin3xsec22x + 3cos3xtan3x

Answer: D

Watch Video Solution

( )
( )
( )
( )

75. 
sinmx

sinnx

m+n
⋅

sinnx

sinqx

n+q sinqx

sinmx

q+m

A. sinx

B. cosx

( ) ( ) ( )

https://dl.doubtnut.com/l/_5j36jCXolaB6
https://dl.doubtnut.com/l/_e63QXndWTNN3
https://dl.doubtnut.com/l/_O5hl6D9OqC0e


C. 1

D. 0

Answer: D

Watch Video Solution

76. Ify =
cosx - sinx
cosx + sinx

, then
dy
dx

=

A. 
2

1 + sin2x

B. 
-2

1 + sin2x

C. 
1

1 + sin2x

D. 
-1

1 + sin2x

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_O5hl6D9OqC0e
https://dl.doubtnut.com/l/_oWBnPvHsRHbY


77. Ify =
sin2x

1 + cos2x
, then

dy
dx

=

A. 
- sin2x

1 + cos2x 2

B. 
sin2x

1 + cos2x 2

C. 
-2sin2x

1 + cos2x

D. 
2sin2x

1 + cos2x
2

Answer: D

Watch Video Solution

( )

( )

( )

( )

78. Ify =
secx ∘ + tanx ∘

sec ∘ - tanx ∘
, then

dy
dx

A. 
π

180
tan

π
4

+
x ∘

2
sec2 π

4
+
x ∘

2

B. 
-π

180
tan

π
4

+
x ∘

2
sec2 π

4
+
x ∘

2

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_Ctqyd1PNUnBp
https://dl.doubtnut.com/l/_3ReoJePFrZWK


C. 
-π

360
tan

π
4

+
x ∘

2
sec2 π

4
+
x ∘

2

D. 
-π
90

tan
π
4

+
x ∘

2
sec2 π

4
+
x ∘

2

Answer: A

Watch Video Solution

( ) ( )
( ) ( )

79. If y =
1 + sinx
1 - sinx

, then
dy
dx

=

A. 
-1

1 - sinx

B. 
1

1 - sinx

C. 
-2

1 - sinx

D. 
2

1 - sinx

Answer: B

Watch Video Solution

√

https://dl.doubtnut.com/l/_3ReoJePFrZWK
https://dl.doubtnut.com/l/_hWMObv9jPLNt


80. If y =
1 - sin10x
1 + sin10x

, then
dy
dx

=

A. 5sec2 π
4

- 5x

B. -5sec2 π
4

- 5x

C. 5sec2 π
4

+ 5x

D. -5sec2 π
4

+ 5x

Answer: B

Watch Video Solution

√
( )
( )

( )
( )

81. If y =
1 - tan2x
1 + tan2x

, then
dy
dx

=

A. - sec2 π
4

- 2x
1 - tan2x
1 + tan2x

B. sec2 π
4

- 2x
1 - tan2x
1 + tan2x

√
( )√

( )√

https://dl.doubtnut.com/l/_kPWsMaabXAlF
https://dl.doubtnut.com/l/_qbimiLIkBZsX


C. - sec2 π
4

- 2x
1 + tan2x
1 - tan2x

D. sec2 π
4

- 2x
1 + tan2x
1 - tan2x

Answer: C

Watch Video Solution

( )√
( )√

82. If y = e5x2 - x+ 3, then
dy
dx

=

A. (5x - 1)e5x2 - x+ 3

B. 5x2 - 1 e5x2 - x+ 3

C. 10x2 - 1 e5x2 - x+ 3

D. (10x - 1)e5x2 - x+ 3

Answer: D

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_qbimiLIkBZsX
https://dl.doubtnut.com/l/_LnHvnCDZZtgg
https://dl.doubtnut.com/l/_CyUQtAx4IsK3


83. If y = ecosecx, then
dy
dx =

A. 2ecosecx, cosecxcotx

B. -2ecosecx, cosecxcotx

C. -2ecosecx, cosec2xcotx

D. -2ecosecx, cosec2xcotx

Answer: D

Watch Video Solution

84. If y = exsin2x+ cos2x, then
dy
dx

=

A. (2xcos2x - sin2x)exsin2x+ cos2x

B. (2xcos2x + sin2x)exsin2x+ cos2x

C. (2cos2x - xsin2x)exsin2x+ cos2x

D. (2cos2x + xsin2x)exsin2x+ cos2x

https://dl.doubtnut.com/l/_CyUQtAx4IsK3
https://dl.doubtnut.com/l/_ZMgu5nO25rgl


Answer: A

Watch Video Solution

85. If y = ex
2sin2x+ cos2x, then

dy
dx

=

A. 2xsin2x - (x - 1)sin2x ex
2sin2x+ cos2x

B. 2xsin2x + (x - 1)sin2x ex
2sin2x+ cos2x

C. 2xsin2x - x2 - 1 sin2x ex
2sin2x+ cos2x

D. 2xsin2x + x2 - 1 sin2x ex
2sin2x+ cos2x

Answer: D

Watch Video Solution

( )
( )
( ( ) )
( ( ) )

86. If y = elogx, then
dy
dx

A. elogx

https://dl.doubtnut.com/l/_ZMgu5nO25rgl
https://dl.doubtnut.com/l/_OE36hQW11NWq
https://dl.doubtnut.com/l/_EIyS8fwj7OQw


B. 
1
x

C. 0

D. 1

Answer: D

Watch Video Solution

87. If y= elog ( logx ) , then
dy
dx

 =

A. 
1
x

B. 
1

logx

C. 
1

xlogx

D. 
x

logx

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EIyS8fwj7OQw
https://dl.doubtnut.com/l/_2YSeM3Iur2wM
https://dl.doubtnut.com/l/_3CvzHITou4wp


88. Ify = 7x+
1

x , then
dy
dx =

A. 7x+
1

x (log7)
x2 - 1

x2

B. -7x+
1

x (log7)
x2 - 1

x2

C. 7x+
1

x
x2 - 1

x2

D. -7x+
1

x
x2 - 1

x2

Answer: A

Watch Video Solution

( )
( )

( )
( )

89. If y = alog ( 1 + logx ) , then
dy
dX

A. 
alog ( 1 + logx ) loga

x + logx

B. 
alog ( 1 + logx ) loga
x + (1 + logx)

https://dl.doubtnut.com/l/_3CvzHITou4wp
https://dl.doubtnut.com/l/_RmxtAQBcsl5u


C. 
alog ( 1 + logx ) loga

1 + logx

D. 
alog ( 1 + logx ) loga

1 + xlogx

Answer: B

Watch Video Solution

90. If y = a√x sinx
, then

dy
dx

=

A. a√xsinx(loga) √xcosx -
sinx

√x

B. a√xsinx(loga) √xcosx +
sinx

√x

C. a√xsinx(loga) √xcosx +
sinx

2√x

D. a√xsinx(loga) √xcosx -
sinx

2√x

Answer: C

Watch Video Solution

( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_RmxtAQBcsl5u
https://dl.doubtnut.com/l/_7qJDTw7x9WzJ


91. If y = 5e
xsinx

, then
dy
dx

=

A. sin2x + 2sin2x (log5)5e
xsin2xex

B. sin2x - 2sin2x (log5)5e
xsin2xxe

C. sin2x + sin2x (log5)5e
xsin2xxe

D. sin2x - sin2x (log5)5e
xsin2xxe

Answer: C

Watch Video Solution

( )
( )
( )
( )

92. If y = a5sin ( x ) , then
dy
dx =

A. log5a (cosx)a5sinx5sinx

B. - log5a (cosx)a5sinx5sinx

C. (loga)(log5)(cosx)a5sinx5sinx

D. - (loga)(log5)(cosx)a5sinx5sinx

( )
( )

https://dl.doubtnut.com/l/_nj3csPGojM29
https://dl.doubtnut.com/l/_DvHOUJes6NHN


Answer: C

Watch Video Solution

93. If y = (10) ( 10 ) logcosec ( 10x )
10 , then

dy
dx

=

A. -10cosec(10x)cot(10x)(log10)10cosec ( 10x )

B. 10cosec(10x)cot(10x)(log10)10cosec ( 10x )

C. -10cosec(10x)cot(10x)(log10)210cosec ( 10x )

D. 10cosec(10x)cot(10x)(log10)210cosec ( 10x )

Answer: A

Watch Video Solution

94. If y = 2sinx - sin2x, then
dy
dx =

A. 2sinxlog2 - 2sinx (cosx)( )

https://dl.doubtnut.com/l/_DvHOUJes6NHN
https://dl.doubtnut.com/l/_BbkxU0w0NIzL
https://dl.doubtnut.com/l/_UQlOAYPIlnPl


B. 2sinxlog2 - sinx (cosx)

C. - 2sinxlog2 - 2sinx (cosx)

D. - 2sinxlog2 - sinx (cosx)

Answer: A

Watch Video Solution

( )
( )
( )

95. If y = 4log2sinx+ 9log3cosx, then
dy
dx

=

A. 1

B. 0

C. sin2x

D. - sin2x

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UQlOAYPIlnPl
https://dl.doubtnut.com/l/_yR7tqg17vDzk
https://dl.doubtnut.com/l/_iYlskyIxfFun


96. If y = 4log2sinx - 9log3cosx, then
dy
dx =

A. 1

B. 0

C. sec2x

D. - tan2x

Answer: B

Watch Video Solution

97. y = 4log2cosecx - 9log3cotx, then
dy
dx

=

A. 1

B. 0

C. 2x

D. x

https://dl.doubtnut.com/l/_iYlskyIxfFun
https://dl.doubtnut.com/l/_APRZDc7QcKsh


Answer: B

Watch Video Solution

98. If y = ex+ 2logx, then
dy
dx

=

A. x x2 + 2 ex

B. x x2 + 2 e2x

C. x(x + 2)ex

D. x(x + 2)e2x

Answer: C

Watch Video Solution

( )
( )

99. If y = ex
5ex, then

dy
dx =

A. 5x4 + 1 ex
5 + x( )

https://dl.doubtnut.com/l/_APRZDc7QcKsh
https://dl.doubtnut.com/l/_VF0UzKjSNmHu
https://dl.doubtnut.com/l/_zez0U2EmzDaj


B. 5x4 - 1 ex
5 + x

C. 5x4 + x ex
5 + x

D. 5x4 - x ex
5 + x

Answer: A

Watch Video Solution

( )
( )
( )

100. If y = 5xx5, then
dy
dx

 is

A. 5xx4(5 + log5)

B. 5xx5(5 + log5)

C. 5xx4(5 + xlog5)

D. 5xx5(5 + xlog5)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zez0U2EmzDaj
https://dl.doubtnut.com/l/_E7bGQ0oofiMV
https://dl.doubtnut.com/l/_2x5jnEi0AT0J


101. If y = ecotxtan xex , then
dy
dx =

A. ecotx ex(x + 1) sec2 xex + cosec2x tan xex

B. ecotx ex(x + 1) sec2 xex - cosec2xtan xex

C. ecotx ex(x - 1) sec2 xex + cosec2xtan xex

D. ecotx ex(x - 1) sec2 xex - cosec2xtan xex

Answer: B

Watch Video Solution

( )

( ) ( ) ( ) ( ))
( ) ( ) ( ( ))
( ) ( ) ( ( ))
( ) ( ) ( ( ) )

102. If y = elog ( logx ) log3x, then
dy
dx

A. 
3logx + log3x

x

B. 
3logx + log3x

3x

C. 
logx + log3x

x

D. 
logx + log3x

3x

https://dl.doubtnut.com/l/_2x5jnEi0AT0J
https://dl.doubtnut.com/l/_k89XtNNzHhTA


Answer: C

Watch Video Solution

103. If y =
ex + 1

ex
, then

dy
dx

=

A. 
-1

ex

B. 
1

ex

C. 0

D. ex

Answer: A

Watch Video Solution

104. If y =
ex + e - x

ex - e - x , then
dy
dx

=

A. 
4e2x

e2x - 1 2( )

https://dl.doubtnut.com/l/_k89XtNNzHhTA
https://dl.doubtnut.com/l/_DFDRPylbjdxI
https://dl.doubtnut.com/l/_zceZz65UeDPW


B. 
-4e2x

e2x - 1 2

C. 
2e2x

e2x - 1 2

D. 
-2e2x

e2x - 1 2

Answer: B

Watch Video Solution

( )

( )

( )

105. If y =
e2x - e - 2x

e2x + e - 2x , then
dy
dx

=

A. 
4

e2x + e - 2x

B. 
-4

e2x + e - 2x 2

C. 
8

e2x + e - 2x 2

D. 
-8

e2x + e - 2x 2

( )

( )

( )

( )

https://dl.doubtnut.com/l/_zceZz65UeDPW
https://dl.doubtnut.com/l/_S1iU2Q8W0Ru8


Answer: C

Watch Video Solution

106. If y =
e2x - e - 2x

e2x + e - 2x , then
dy
dx

=

A. 2 - 2y2

B. 2 + 2y2

C. 2 - y2

D. 2 + y2

Answer: A

Watch Video Solution

107. y =
e√x+ 1

e√x - 1
, then

dy
dx

=

https://dl.doubtnut.com/l/_S1iU2Q8W0Ru8
https://dl.doubtnut.com/l/_3RbEfbpGDNMA
https://dl.doubtnut.com/l/_05thV3fkJLqq


A. 
-e√x

√x e√x - 1 2

B. 
e√x

√x e√x - 1 2

C. 
-e√x

2√x e√x - 1 2

D. 
-2e√x

√x e√x - 1 2

Answer: A

Watch Video Solution

( )

( )

( )

( )

108. If y =
acosx

√1 + x2
, then

dy
dx

=

A. 
acosx 1 + x2 (loga)(sina)(sinx)

√1 + x2 3

B. 
-acosx 1 + x2 (loga)(sina)(sinx)

√1 + x2 3

( ( ) )
( )

(( ) )
( )

https://dl.doubtnut.com/l/_05thV3fkJLqq
https://dl.doubtnut.com/l/_9GGVHgxyO20G


C. 
acosx 1 + x2 (loga)(sina)(sinx) + x

√1 + x2 3

D. 
-acosx 1 + x2 (loga)(sina)(sinx) + x

√1 + x2 3

Answer: D

View Text Solution

( ( ) )
( )

(( ) )
( )

109. y = log 3x2 + 2x + 1 , find
dy
dx

A. 
2(3x + 1)

3x2 + 2x + 1

B. 
-2(3x + 1)

3x2 + 2x + 1

C. 
3x + 1

3x2 + 2x + 1

D. 
- (3x + 1)

3x2 + 2x + 1

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_9GGVHgxyO20G
https://dl.doubtnut.com/l/_rJVzNNzJFg4q


110. 
d
dx

(logx)4 is equal to

A. 
4(logx)3

3x

B. 
(4logx)3

3x

C. 
4(logx)3

x

D. 
(4logx)3

3x

Answer: C

Watch Video Solution

111. If y = (log(log(logx)))2, then
dy
dx

=

A. 
log(log(logx))
xlog(logx)

B. 
2log(log(logx))
xlog(logx)

C. 
log(log(logx))
xlogxlog(logx)

https://dl.doubtnut.com/l/_rJVzNNzJFg4q
https://dl.doubtnut.com/l/_j4XlqOWLAp0B
https://dl.doubtnut.com/l/_rzy0NSx8LNHa


D. 
2log(log(logx))
xlogxlog(logx)

Answer: D

Watch Video Solution

112. If y = log(secx + tanx), then
dy
dx

A. secx

B. secxtanx

C. tanx

D. cosx

Answer: A

Watch Video Solution

113. If y = log(cosecx - cotx), then
dy
dx

https://dl.doubtnut.com/l/_rzy0NSx8LNHa
https://dl.doubtnut.com/l/_fNrrluGQ9ARG
https://dl.doubtnut.com/l/_dlQyl9dhlChY


A. -cosecx

B. cosecx

C. - (cosecx - cotx)

D. cosecx - cotx

Answer: B

Watch Video Solution

114. If y = log(sinx + cosx), then
dy
dx

A. 
xsinx

xsinx + cosx

B. 
-xsinx

xsinx + cosx

C. 
xcosx

xsinx + cosx

D. 
-xcosx

xsinx + cosx

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dlQyl9dhlChY
https://dl.doubtnut.com/l/_sMXyUYB51fy3


115. If y = log(xcosx - sinx), then
dy
dx

A. 
xcosx

xcosx - sinx

B. 
-xcosx

xcosx - sinx

C. 
xsinx

xcosx - sinx

D. 
-xsinx

xcosx - sinx

Answer: D

Watch Video Solution

116. y = log(xtanx + secx), then
dy
dx

=

A. 
xsec2x + (1 + secx)tanx

xtanx + secx

B. 
xsec2x - (1 + secx)tanx

xtanx + secx

C. 
xsec2x + (1 - secx)tanx

xtanx + secx

https://dl.doubtnut.com/l/_sMXyUYB51fy3
https://dl.doubtnut.com/l/_lTOdR0oIbTTo
https://dl.doubtnut.com/l/_b1DNCQaiI1dw


D. 
xsec2x + (1 + secx)tanx

xtanx + secx

Answer: A

Watch Video Solution

117. If y = logsecex
2
, then ⋅

dy
dx

A. xex
2
tanex

2

B. 2xex
2
tanex

2

C. -xex
2
tanex

2

D. -2xex
2
tanex

2

Answer: B

Watch Video Solution

118. If y = logex(logx), then
dy
dx

https://dl.doubtnut.com/l/_b1DNCQaiI1dw
https://dl.doubtnut.com/l/_xvoz3CB9sdZX
https://dl.doubtnut.com/l/_40uw2A42bfaC


A. 
2

xlogx

B. 
-2

xlogx

C. 
1

2xlogx

D. 
-1

2xlogx

Answer: C

Watch Video Solution

119. If y = log(log(logx)), then
dy
dx

A. 
1

xlog(logx)

B. 
logx

xlog(logx)

C. 
1

x(logx)log(logx)

D. 
1

(logx)log(logx)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_40uw2A42bfaC
https://dl.doubtnut.com/l/_Ml6l9L8p63Cr


120. If y = log5 log7x , then
dy
dx =

A. 
1

xlog5 ⋅ log7x

B. 
1

xlog5 ⋅ logx

C. 
1

xlog7 ⋅ log5x

D. 
1

xlog7 ⋅ logx

Answer: B

Watch Video Solution

( )

121. f(x) = logx(logx), thenf′ (x)atx = eis

A. 
1
e

B. 1

C. e

https://dl.doubtnut.com/l/_Ml6l9L8p63Cr
https://dl.doubtnut.com/l/_p6jGU7CXedjy
https://dl.doubtnut.com/l/_9NSjUyD6MUoW


D. -e

Answer: A

Watch Video Solution

122. If y = logxx, then
dy
dx

=

A. log(ex)

B. xx(1 + logx)

C. log
e
x

D. - log
e
x

Answer: A

Watch Video Solution

( )
( )

123. If y = (logsinx)(logx), then
dy
dx

https://dl.doubtnut.com/l/_9NSjUyD6MUoW
https://dl.doubtnut.com/l/_z7AJvDm4Hy1u
https://dl.doubtnut.com/l/_0kBjxbRx6oNs


A. 
log(sinx)

x
+ (logx)(cotx)

B. 
log(sinx)

x
- (logx)(cotx)

C. 
log(sinx)

x
+ (logx)(tanx)

D. 
log(sinx)

x
- (logx)(tanx)

Answer: A

Watch Video Solution

124. y = log
1 - sinx
1 + sinx

, then
dy
dx

=

A. -2secx

B. 2secx

C. -2tanx

D. 2tanx

Answer: A

W t h Vid S l ti

( )

https://dl.doubtnut.com/l/_0kBjxbRx6oNs
https://dl.doubtnut.com/l/_zGoiz5HV9m0X


Watch Video Solution

125. If y = log
cosx

1 - sinx
, then

dy
dx

 is equal to

A. - secx

B. secx

C. -cosecx

D. cosecx

Answer: B

Watch Video Solution

( )

126. If y = log
sinx

1 + cosx
, then

dy
dx

A. secx

B. - secx

( )

https://dl.doubtnut.com/l/_zGoiz5HV9m0X
https://dl.doubtnut.com/l/_3AX9ZKwlgpXT
https://dl.doubtnut.com/l/_43Ru60XJGfRv


C. cosecx

D. -cosecx

Answer: C

Watch Video Solution

127. If y = log
1 - cosx
1 + cosx

 thenn 
dy
dx

=

A. -cosecx

B. cosecx

C. -2cosecx

D. 2cosecx

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_43Ru60XJGfRv
https://dl.doubtnut.com/l/_AlfbxTEFYbls


128. If y = log

1 - cos
3x

2

1 + cos
3x
2

, then
dy
dx

=

A. 
-3
2 cosec

3x
2

B. 
3
2cosec

3x
2

C. 
-3
4 cosec

3x
4

D. 
3
4cosec

3x
4

Answer: B

Watch Video Solution

√ ( )
( )

( )
( )
( )

( )

129. y = log sin3x. cos4x. x2 - 1 5

A. 3cotx + 4tanx +
2x

x2 - 1

B. 3cotx - 4tanx +
2x

x2 - 1

[ ( ) ]

https://dl.doubtnut.com/l/_PgWRs8mihUSg
https://dl.doubtnut.com/l/_7sUKFUoJZ4Uy


C. 3cotx + 4tanx +
10x

x2 - 1

D. 3cotx - 4tanx +
10x

x2 - 1

Answer: D

Watch Video Solution

130. If y = log
ex

x2 , then
dy
dx

=

A. 
2 - x
x

B. 
x - 2
x

C. 
e - x
xe

D. 
x - e
ex

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_7sUKFUoJZ4Uy
https://dl.doubtnut.com/l/_26TMSdBPRX0f
https://dl.doubtnut.com/l/_ALWTDcSc9DK2


131. y = log
x + √x2 + 25

√x2 + 25 - x
, find

dy
dx

A. 0

B. 
1

√x2 + 25

C. 
-1

√x2 + 25

D. 
2

√x2 + 25

Answer: D

Watch Video Solution

[ ]

132. If y = log
x + √x2 + a2

-x + √x2 + a2
then

dy
dx

=

A. 
2

√x2 + a2

B. 
-2

√x2 + a2

( )

https://dl.doubtnut.com/l/_ALWTDcSc9DK2
https://dl.doubtnut.com/l/_W07jsbKKi0Np


C. 
2x

√x2 + a2

D. 
-2x

√x2 + a2

Answer: A

Watch Video Solution

133. y = log e3x
⋅

x - 4
x + 3

2 / 3
,  find 

dy
dx

A. 3 +
2

3(x - 4)(x + 3)

B. 3 -
2

3(x - 4)(x + 3)

C. 3 +
14

3(x - 4)(x + 3)

D. 3 -
14

3(x - 4)(x + 3)

Answer: C

Watch Video Solution

[ ( ) ]

https://dl.doubtnut.com/l/_W07jsbKKi0Np
https://dl.doubtnut.com/l/_WMtiyP1Wp7T3
https://dl.doubtnut.com/l/_JSoaFX8WSl9w


134. If y = log e4x x - 5
x + 4

5

4 then
dy
dx

=

A. 4 +
45

4(x - 5)(x + 4)

B. 4 -
45

4(x - 5)(x + 4)

C. 4 +
5

4(x - 5)(x + 4)

D. 4 -
5

4(x - 5)(x + 4)

Answer: A

Watch Video Solution

( ( ) )

135. y = log a4x.
x - 5
x + 4

3

4

A. 4loga +
9

4(x - 5)(x + 4)

B. 4loga -
9

4(x - 5)(x + 4)

[ ( ) ]

https://dl.doubtnut.com/l/_JSoaFX8WSl9w
https://dl.doubtnut.com/l/_45srKqu0IMGk


C. 4loga +
27

4(x - 5)(x + 4)

D. 4loga -
27

4(x - 5)(x + 4)

Answer: C

Watch Video Solution

136. If y = sin - 1 x2 - 1 then
dy
dx

=

A. 
2x

√2 - x2

B. 
2

√2 - x2

C. 
2x

√x2 - 2

D. 
2

√x2 - 2

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_45srKqu0IMGk
https://dl.doubtnut.com/l/_Fw9iDQmi6S3y
https://dl.doubtnut.com/l/_M1WQR10h9Xaj


137. If y = sin - 1 2x , then
dy
dx

=

A. 
-x

2 1 - 1 - x2 2

B. 
x

2 1 - 1 - x2 2

C. 
-2x

2 1 - 1 - x2 2

D. 
2x

2 1 - 1 - x2 2

Answer: C

Watch Video Solution

( )

√ ( )

√ ( )

√ ( )

√ ( )

138. If y = sin - 1 2x , then
dy
dx

=

A. 
2x

√1 - 4x

B. 
2xlog2

√1 - 4x

C. 
2x

√1 - 2x

( )

https://dl.doubtnut.com/l/_M1WQR10h9Xaj
https://dl.doubtnut.com/l/_FhBhWzz8LAve


D. 
2xlog2

√1 - 2x

Answer: B

Watch Video Solution

139. If y = cos - 1 4√x , then
dy
dx

=

A. 
-2

√x - 16x2

B. 
-4

√x - 16x2

C. 
-1

2√x - 16x2

D. 
-1

√x - 16x2

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_FhBhWzz8LAve
https://dl.doubtnut.com/l/_taSNkd7Qn358


140. If y = cos - 1 √cosx , then
dy
dx

=

A. 
- sinx

√cosx(1 - cosx)

B. 
sinx

√cosx(1 - cosx)

C. 
- sinx

2√cosx(1 - cosx)

D. 
sinx

2√cosx(1 - cosx)

Answer: C

Watch Video Solution

( )

141. If y = cos - 1 log2x , then
dy
dx

=

A. 
- log2

x√(log2)2 - (logx)2

B. 
log2

x√(log2)2 - (logx)2

C. 
-1

x√(log2)2 - (logx)2

( )

https://dl.doubtnut.com/l/_64lpvqRJkKWE
https://dl.doubtnut.com/l/_NKugtM1KCPvg


D. 
1

x√(log2)2 - (logx)2

Answer: D

Watch Video Solution

142. If y = tan - 1 3x2 + 2 , then
dy
dx =

A. 
-3x

9x4 + 12x2 + 5

B. 
3x

9x4 + 12x2 + 5

C. 
-6x

9x4 + 12x2 + 5

D. 
6x

9x4 + 12x2 + 5

Answer: D

Watch Video Solution

( )

143. At x = 0, if
d
dx

tan - 1(a + bx) = 1, then a6 - b3 + 1 =( )

https://dl.doubtnut.com/l/_NKugtM1KCPvg
https://dl.doubtnut.com/l/_UU7BRaAWObWE
https://dl.doubtnut.com/l/_VhvOcwmz4UVI


A. -3a2b

B. 3a2b

C. -3ab2

D. -3ab2

Answer: A

Watch Video Solution

144. If y = cot - 1 1

√x
, then

dy
dx

=

A. 
-1

√x(1 + x)

B. 
1

√x(1 + x)

C. 
-1

2√x(1 + x)

D. 
1

2√x(1 + x)

Answer: D

( )

https://dl.doubtnut.com/l/_VhvOcwmz4UVI
https://dl.doubtnut.com/l/_XXhrc04fSaIT


Watch Video Solution

145. If y = cosec - 1(2x + 1), then
dy
dx

=

A. 
2 tan - 1x

2

3

3 1 + x2

B. 
4 tan - 1x

2
3

3 1 + x2

C. 
4 tan - 1x

4

3

3 1 + x2

D. 
4 tan - 1x

1

3

3 1 + x2

Answer: C

Watch Video Solution

( )
( )

( )
( )

( )
( )

( )
( )

146. If y = tan - 1x
4
3 , then

dy
dx

=( )

https://dl.doubtnut.com/l/_XXhrc04fSaIT
https://dl.doubtnut.com/l/_vMS04Rcg0PyQ
https://dl.doubtnut.com/l/_HmUmPgHGw1IL


A. 
2 tan - 1x

2
3

3 1 + x2

B. 
4 tan - 1x

2
3

3 1 + x2

C. 
4 tan - 1x

4

3

3 1 + x2

D. 
4 tan - 1x

1

3

3 1 + x2

Answer: D

Watch Video Solution

( )
( )

( )
( )

( )
( )

( )
( )

147. If y = sin 2cos - 1x , then
dy
dx =

A. 
2cos 2cos - 1x

√1 - x2

B. 
-2cos 2cos - 1x

√1 - x2

( )

( )

( )

https://dl.doubtnut.com/l/_HmUmPgHGw1IL
https://dl.doubtnut.com/l/_5A5RLkMhTPbP


C. 
cos 2cos - 1x

2√1 - x2

D. 
-cos 2cos - 1x

2√1 - x2

Answer: B

Watch Video Solution

( )

( )

148. If y = cosec 3tan - 1x , then
dy
dx

=

A. 
3cosec 3tan - 1x cot 3tan - 1x

1 + x2

B. 
-3cosec 3tan - 1x cot 3tan - 1x

1 + x2

C. 
cosec 3tan - 1x cot 3tan - 1x

1 + x2

D. 
-cosec 3tan - 1x cot 3tan - 1x

1 + x2

Answer: B

( )

( ) ( )

( ) ( )

( ) ( )

( ) ( )

https://dl.doubtnut.com/l/_5A5RLkMhTPbP
https://dl.doubtnut.com/l/_33FG4iEsBbjd


Watch Video Solution

149. 
d
dx

cos sec - 1 x
8

=

A. 
8

x2

B. 
-8

x2

C. 
1
8

D. 
-1
8

Answer: B

Watch Video Solution

( ( ( ))

150. If y = sin - 1(cos3x), then
dy
dx

=

A. 3

B. -3

https://dl.doubtnut.com/l/_33FG4iEsBbjd
https://dl.doubtnut.com/l/_28foUQ7iDhFX
https://dl.doubtnut.com/l/_7C1F23aGTKAd


C. 
3

√1 - x2

D. 
-3

√1 - x2

Answer: B

Watch Video Solution

151. If y = cos - 1(cosx), then
dy
dx

 is

A. 1 and the 2nd and 3rd quadrants of the plane

B. -1 and the 3rd and 4th quadrants of the plane

C. 1 in the whole plane

D. -1 in the whole plane I152

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7C1F23aGTKAd
https://dl.doubtnut.com/l/_8D5RGiAbte7O


152. If y = cos - 1 sinx2 , then
dy
dx

=

A. -2

B. 2

C. -2x

D. 2x

Answer: C

Watch Video Solution

( )

153. If y = sin - 1x + cos - 1x, then
dy
dx =

A. 
π
2

B. 
πx
2

C. 0

D. π

https://dl.doubtnut.com/l/_f1QiFg3ysdCq
https://dl.doubtnut.com/l/_D526kKeHPkZp


Answer: A

Watch Video Solution

154. If y = cosec - 1 x2 + 1

x2 - 1
+ cos - 1 x2 - 1

x2 + 1
, then

dy
dx

=

A. 0

B. 1

C. 
1

√1 - x2

D. 
-1

√1 - x2

Answer: A

Watch Video Solution

( ) ( )

155. If y = sec - 1
√x - 1

x + √x
+ sin - 1

x + √x

√x - 1
, then

dy
dx

=( ) ( )

https://dl.doubtnut.com/l/_D526kKeHPkZp
https://dl.doubtnut.com/l/_sl7ctcYsn8fg
https://dl.doubtnut.com/l/_4CRD3bJWNHvp


A. x

B. 
1
x

C. 1

D. 0

Answer: D

Watch Video Solution

156. If y = tan - 1√x2 + y2 + cot - 1√x2 + y2, then
dy
dx

=

A. 
π
2

B. 
2
π

C. 0

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4CRD3bJWNHvp
https://dl.doubtnut.com/l/_5mE3pTQF3YO9


157. If xy = tan - 1(xy) + cot - 1(xy), then
dy
dx  is equal to

A. 0

B. 1

C. 
-x
y

D. 
-y
x

Answer: A

Watch Video Solution

158. If y = tan - 1(1 + 2x) + tan - 1(1 - 2x), then
dy
dx

=

A. 
-4x

1 + 4x4

B. 
4x

1 + 4x4

C. 
-2x

1 + 4x4

https://dl.doubtnut.com/l/_5mE3pTQF3YO9
https://dl.doubtnut.com/l/_jGABScN7t3nh
https://dl.doubtnut.com/l/_io40f7b8CEdL


D. 
2x

1 + 4x4

Answer: D

Watch Video Solution

159. If y = 10cot - 1
+ 10tan - 1

, then
dy
dx

=

A. 
log100

1 + x2 10cot - 1 - 10tan - 1x

B. 
log100

1 + x2 10tan - 1x - 10cot - 1x

C. 
log10

1 + x2 10cot - 1 - 10tan - 1x

D. 
log10

1 + x2 10tan - 1x - 10cot - 1x

Answer: D

Watch Video Solution

( )
( )
( )
( )

160. If y = √xcosec - 1 1
4x

, then
dy
dx

=( )

https://dl.doubtnut.com/l/_io40f7b8CEdL
https://dl.doubtnut.com/l/_I4NgaiArKN4A
https://dl.doubtnut.com/l/_Udrfj0m6BmRD


A. 
sin - 14x

2√x
+

4√x

√1 - 16x2

B. 
sin - 14x

2√x
+

2√x

√1 - 16x2

C. 
sin - 14x

2√x
-

4√x

√1 - 16x2

D. 
sin - 14x

2√x
-

2√x

√1 - 16x2

Answer: A

Watch Video Solution

161. If y = e2xtan - 12x, then
dy
dx

=

A. 2e2x tan - 12x +
1

1 + 4x2

B. e2x tan - 12x +
1

1 + 4x2

C. 2e2x tan - 12x +
2

1 + 4x2

( )
( )
( )

https://dl.doubtnut.com/l/_Udrfj0m6BmRD
https://dl.doubtnut.com/l/_46yg0p0yTEjz


D. 2e2x tan - 12x +
1

1 + 4x2

Answer: A

Watch Video Solution

( )

162. If y = 5xsec - 1x, then
dy
dx

=

A. 5x (log5)sec - 12x +
1

x√4x2 - 1

B. 5x (log5)sec - 12x +
2

x√4x2 - 1

C. 5x (log5)sec - 12x +
1

2x√4x2 - 1

D. 5x (log5)sec - 12x +
1

x√4x2 - 1

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_46yg0p0yTEjz
https://dl.doubtnut.com/l/_LxX1Jcm2Ee88


163. If f(x) = xtan - 1x, then
dy
dx =

A. 2

B. 1 +
π
4

C. 
1
2 +

π
4

D. 
1
2 -

π
4

Answer: A

Watch Video Solution

164. If y =
sin - 1x

√1 - x2
, then

1 - x2 dy

dx

 is equal to
 x + y
 (b) 1 + xy
 1 - xy
 (d) 

xy - 2

A. 1 + xy

B. 1 - xy

( )

https://dl.doubtnut.com/l/_LxX1Jcm2Ee88
https://dl.doubtnut.com/l/_VNiHVxxiOxLI
https://dl.doubtnut.com/l/_WTeFNi47DtDx


C. x + y

D. xy - 2

Answer: C

Watch Video Solution

165. If y =
cos - 1x

1 + x2 , then
dy
dx

=

A. 
x2 + 1 - x√1 - x2cos - 1x

x2 + 1 2√1 - x2

B. 
x2 + 1 + x√1 - x2cos - 1x

x2 + 1
2√1 - x2

C. -
x2 + 1 + x√1 - x2cos - 1x

x2 + 1
2√1 - x2

D. -
x2 + 1 - 2x√1 - x2cos - 1x

x2 + 1
2√1 - x2

Answer: C

( )

( )

( ( ) )
( ( ) )

https://dl.doubtnut.com/l/_WTeFNi47DtDx
https://dl.doubtnut.com/l/_zUAcDpjEmv5M


Watch Video Solution

166. If y = sin - 1 2cos2x - 1 , then
dy
dx

=

A. 1

B. -1

C. 2

D. -2

Answer: D

Watch Video Solution

( )

167. If y = cos - 1 1 - 2sin2x , then
dy
dx =

A. 2

B. -2

( )

https://dl.doubtnut.com/l/_zUAcDpjEmv5M
https://dl.doubtnut.com/l/_VCcgF8WoU2ST
https://dl.doubtnut.com/l/_SJDWPnevUnYy


C. 1

D. -1

Answer: A

Watch Video Solution

168. If y = cos - 1√(1 + cosx) / (2), then
dy
dx

=

A. 
1
2

B. 
-1
2

C. 1

D. -1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SJDWPnevUnYy
https://dl.doubtnut.com/l/_3EJCHljgYY7X


169. If y = tan - 1 1 - cosx
sinx

then
dy
dx

=  ?

A. 2

B. -2

C. 
1
2

D. 
-1
2

Answer: C

Watch Video Solution

( )

170. If y = tan - 1 sinx
1 - cosx

, then
dy
dx

=

A. -1

B. 1

C. 
-1
2

D. 
1
2

( )

https://dl.doubtnut.com/l/_fr3WB7wtEkBT
https://dl.doubtnut.com/l/_gzM25CEnhEVD


Answer: C

Watch Video Solution

171. if y = tan - 1 sinx
1 + cosx

 prove that 
dy
dx

=
1
2

A. 
-1
2

B. 
1
2

C. -2

D. 2

Answer: B

Watch Video Solution

( )

172. If y = tan - 1 cosx
1 + sinx

, then
dy
dx

 is equal to

A. -1

( )

https://dl.doubtnut.com/l/_gzM25CEnhEVD
https://dl.doubtnut.com/l/_FwYhkF71tnZ1
https://dl.doubtnut.com/l/_30BRcwvO92JT


B. 1

C. 
-1
2

D. 
1
2

Answer: C

Watch Video Solution

173. If y = tan - 1 1 - sinx
cosx

, then
dy
dx

=

A. 2

B. -2

C. 
1
2

D. 
-1
2

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_30BRcwvO92JT
https://dl.doubtnut.com/l/_umgydA3h2Nrd


174. If y = tan - 1 cosx
1 - sinx

, then
dy
dx

=

A. 
-3
2

B. 
3
2

C. 
-1
2

D. 
1
2

Answer: D

Watch Video Solution

( )

175. If y = tan - 1 1 - cosx
1 + cosx

,  prove that 
dy
dx

=
1
2

.

A. 
1
2

B. 
-1
2

C. 2

D. -2

√

https://dl.doubtnut.com/l/_syovYrHoTYhR
https://dl.doubtnut.com/l/_7iqVKz61fasi


Answer: A

Watch Video Solution

176. If y = tan - 1

1 + cos
x

2

1 - cos
x
2

, then
dy
dx

=

A. 
1
2

B. 
-1
2

C. 
1
4

D. 
-1
4

Answer: D

Watch Video Solution

√ ( )
( )

177. If y = tan - 1(cosec x - cotx), then
dy
dx

=

https://dl.doubtnut.com/l/_7iqVKz61fasi
https://dl.doubtnut.com/l/_UX7AGqrWoXVN
https://dl.doubtnut.com/l/_K7As5SUEgH0F


A. 1

B. -1

C. 
1
2

D. 
-1
2

Answer: C

Watch Video Solution

178. If y = tan - 1(secx + tanx) then
dy
dx

=  ?

A. -1

B. 1

C. 
-1
2

D. 
1
2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_K7As5SUEgH0F
https://dl.doubtnut.com/l/_yApLkWcnFV9n


179. If y = cot - 1(cosec x + cotx), then
dy
dx =

A. -1

B. 1

C. 
-1
2

D. 
1
2

Answer: D

Watch Video Solution

180. If y = tan - 1(secx + tanx) then
dy
dx

=  ?

A. 
-cosx

1 + sin2x

B. 
cosx

1 + sinx

C. 
- sinx

1 + cos2x

https://dl.doubtnut.com/l/_yApLkWcnFV9n
https://dl.doubtnut.com/l/_8T78bH9RbGPd
https://dl.doubtnut.com/l/_WJHNsQv5Ab5c


D. 
sinx

1 + cos2x

Answer: B

Watch Video Solution

181. If y = tan - 1 1 - sin4x
1 + sin4x

, then
dy
dx

=

A. 2

B. -2

C. 4

D. -4

Answer: B

Watch Video Solution

√

https://dl.doubtnut.com/l/_WJHNsQv5Ab5c
https://dl.doubtnut.com/l/_5eKTF4HbezmN


182. Ify =
tan - 1 √1 + sinx + √1 - sinx

√1 + sinx - √1 - sinx
 find the value of 

dy
dx

A. 
-1
2

B. 
1
2

C. -1

D. 1

Answer: A

Watch Video Solution

( )

183. If y = tan - 1 sinx + cosx
cosx - sinx 
, then 

dy
dx 
is equal to


1
2 
(b) 0 (c) 1 (d) none of

these

A. -1

B. 1

C. 
-1
2

( )

https://dl.doubtnut.com/l/_2hsSnaxtKdUh
https://dl.doubtnut.com/l/_WAoOOOUARn6i


D. 
1
2

Answer: B

Watch Video Solution

184. If y = sin - 1 cosx + sinx

√2
, then

dy
dx

=

A. -1

B. 1

C. -√2

D. √2

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_WAoOOOUARn6i
https://dl.doubtnut.com/l/_RmKC0e2LLi5h


185. If y = sin - 1 asinx + bcosx

√a2 + b2
, then

dy
dx =

A. a

B. b

C. -1

D. 1

Answer: D

Watch Video Solution

( )

186. If y = sin - 1 4cosx + 5sinx

√41
, then

dy
dx

=

A. -1

B. -2

C. 0

( )

https://dl.doubtnut.com/l/_cTH6IXOcgtNN
https://dl.doubtnut.com/l/_cVubgOd9Ajte


D. 1

Answer: D

Watch Video Solution

187. If y = cos - 1 cosx + sinx

√2
, then

dy
dx

=

A. 2

B. -2

C. 0

D. -1

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_cVubgOd9Ajte
https://dl.doubtnut.com/l/_MOZluF5YhBmX


188. If y = cos - 1
√3cosx + sinx

2
, then

dy
dx

=

A. -1

B. 2

C. -√3

D. √3

Answer: A

Watch Video Solution

( )

189. If y = cos - 1 3cosx - 2sinx

√13
, then

dy
dx

=

A. 3

B. -2

C. 1

( )

https://dl.doubtnut.com/l/_bMhL3vo7sBj2
https://dl.doubtnut.com/l/_EUT0P3CxZwz6


D. 0

Answer: C

Watch Video Solution

190. If y = cos - 1 3sinx + 4cosx
5

, then
dy
dx

=

A. 
3
5

B. 
4
5

C. -1

D. 0

Answer: C

Watch Video Solution

( )

191. If y = cos - 1 3cosx - 4sinx
5

, then
dy
dx

=( )

https://dl.doubtnut.com/l/_EUT0P3CxZwz6
https://dl.doubtnut.com/l/_DSZf8dUyGpE9
https://dl.doubtnut.com/l/_9UxuyDYFpsxY


A. 1

B. 0

C. 3

D. -4

Answer: A

Watch Video Solution

192. If y = sin - 1√1 - x2, then
dy
dx

=

A. 
1

√1 + x2

B. 
-1

√x2 - 1

C. 
1

√1 - x2

D. 
-1

√1 - x2

Answer: D

https://dl.doubtnut.com/l/_9UxuyDYFpsxY
https://dl.doubtnut.com/l/_K3rDdMHQnhLK


Watch Video Solution

193. If y = sin - 1 2x√1 - x2 , then
dy
dx

=

A. 
1

√1 - x2

B. 
-1

√1 - x2

C. 
2

√1 - x2

D. 
-2

√1 - x2

Answer: C

Watch Video Solution

( )

194. y = sin - 1 1 - 2x2 , then
dy
dx

=

A. 
1

√1 - x2

B. 
-1

√1 - x2

( )

https://dl.doubtnut.com/l/_K3rDdMHQnhLK
https://dl.doubtnut.com/l/_Acxu590IM1BQ
https://dl.doubtnut.com/l/_bcUY3prBBufd


C. 
2

√1 - x2

D. 
-2

√1 - x2

Answer: D

Watch Video Solution

195. If y = sin - 1 2x2 - 1 , then
dy
dx

=

A. 
2

√1 - x2

B. 
-2

√1 - x2

C. 
1

√1 - x2

D. 
-1

√1 - x2

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_bcUY3prBBufd
https://dl.doubtnut.com/l/_JmKH2xT3tMjx
https://dl.doubtnut.com/l/_ekYS6JOtcEC8


196. If y = sin - 1 4x3 - 3x , then
dy
dx

=

A. 
-3

√1 - x2

B. 
3

√1 - x2

C. 
-1

√1 - x2

D. 
1

√1 - x2

Answer: B

Watch Video Solution

( )

197. If y = sin - 1 3x - 4x3 then
dy
dx =  ?

A. 
-3

√1 - x2

B. 
3

√1 - x2

C. 
-1

√1 - x2

( )

https://dl.doubtnut.com/l/_ekYS6JOtcEC8
https://dl.doubtnut.com/l/_CweYzlSvWYFr


D. 
1

√1 - x2

Answer: B

Watch Video Solution

198. If y = sin - 1 2x

1 + x2 , then
dy
dx

 is equal to

A. 
-2

1 + x2

B. 
2

1 + x2

C. 
-1

1 + x2

D. 
1

1 + x2

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_CweYzlSvWYFr
https://dl.doubtnut.com/l/_lOj4fR1fBJjW


199. If y = sin - 1 2x+ 1

1 + 4x
, then

dy
dx

=

A. 
-2xlog2

1 + 4x

B. 
2xlog2

1 + 4x

C. 
-2x+ 1log2

1 + 4x

D. 
2x+ 1log2

1 + 4x

Answer: D

Watch Video Solution

( )

200. sin - 1 1 - 25x2

1 + 25x2  differentiate

A. 
10

1 + 25x2

B. 
-10

1 + 25x2

C. 
2

1 + 25x2

( )

https://dl.doubtnut.com/l/_eWE8pgwRi3YR
https://dl.doubtnut.com/l/_YpDebtjJgK4N


D. 
-2

1 + 25x2

Answer: B

Watch Video Solution

201. If y = sin - 1 1 + x2

2 , then
dy
dx =

A. 
-x

√1 - x4

B. 
x

√1 - x4

C. 
-2x

√1 - x4

D. 
2x

√1 - x4

Answer: B

Watch Video Solution

√

https://dl.doubtnut.com/l/_YpDebtjJgK4N
https://dl.doubtnut.com/l/_3wHCSNT9VYA2


202. If y = sin - 1 x

√x2 + a2
, then

dy
dx =

A. 
-a2

a2 + x2

B. 
a2

a2 + x2

C. 
-a

a2 + x2

D. 
a

a2 + x2

Answer: D

Watch Video Solution

( )

203. If y = sin - 1 xcosa + √1 - x2sinα , then
dy
dx

=

A. 
1

√1 - x2

B. 
-1

√1 - x2

C. 
2

√1 - x2

( )

https://dl.doubtnut.com/l/_uvBSmSj8dpkZ
https://dl.doubtnut.com/l/_BDa2qXrq1hHN


D. 
-2

√1 - x2

Answer: A

Watch Video Solution

204. If y = sin - 1 x√1 - x + √x√1 - x2 , then
dy
dx =

A. 
-2x

√1 - x2
+

1

2√x - x2

B. 
-1x

√1 - x2
+

1

2√x - x2

C. 
1x

√1 - x2
+

1

2√x - x2

D. 
1x

√1 - x2
-

1

2√x - x2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_BDa2qXrq1hHN
https://dl.doubtnut.com/l/_LHes7mv62EJX


205. यदि y = sin - 1
5x + 12√1 - x2

13  तब 
dy
dx  का मान ज्ञात कीजिए|

A. 
1

√1 - x2

B. 
-1

√1 - x2

C. 
2

√1 - x2

D. 
-2

√1 - x2

Answer: A

Watch Video Solution

{ }

206. if y = sin - 1
√1 + x + √1 - x

2  then 
dy
dx

A. 
-2

√1 - x2

B. 
2

√1 - x2

( )

https://dl.doubtnut.com/l/_bUCAh3IwElfJ
https://dl.doubtnut.com/l/_KFo9vbeKbYhu


C. 
-1

√1 - x2

D. 
1

√1 - x2

Answer: C

Watch Video Solution

207. If y = sin - 1
3x + 4√1 - x2

5
, then

dy
dx

=

A. 
-1

√1 - x2

B. 
1

√1 - x2

C. 
-2

√1 - x2

D. 
2

√1 - x2

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_KFo9vbeKbYhu
https://dl.doubtnut.com/l/_UUe6knG6JS73


208. If

y = (log)cosxsinx (log)sinxcosx - 1 + sin - 1 2x

1 + x2 , f ∈ d
dy
dx

atx =
π
4

A. 0

B. 1

C. 
8

4 + π2

D. 
-8

4 + π2

Answer: C

Watch Video Solution

{ }{ } ( )

209. If
y = sin 2tan - 1 1 - x
1 + x

, f ∈ d
dy
dx

A. 
-x

√1 - x2

B. 
x

√1 - x2

[ {√ }]

https://dl.doubtnut.com/l/_UUe6knG6JS73
https://dl.doubtnut.com/l/_lEuTyRAiuTJD
https://dl.doubtnut.com/l/_Xu68H6QIXFRi


C. 
-2x

√1 - x2

D. 
2x

√1 - x2

Answer: A

Watch Video Solution

210. If y = sin2 cot - 1 1 + x
1 - x

 then
dy
dx

 is

A. 
-1
2

B. 
1
2

C. -2

D. 2

Answer: A

Watch Video Solution

( √ )

https://dl.doubtnut.com/l/_Xu68H6QIXFRi
https://dl.doubtnut.com/l/_fNI3KCJ50nAr
https://dl.doubtnut.com/l/_YsEzG23uNin1


211. If y = cos - 1√1 - x, then
dy
dx

=

A. 
-1

2√x - x2

B. 
1

2√x - x2

C. 
-2

2√x - x2

D. 
2

2√x - x2

Answer: B

Watch Video Solution

212. If y = cos - 1 logx2

1 + (logx)2 , then
dy
dx

=

A. 
-2

x 1 + (logx)2

B. 
2

x 1 + (logx)2

( )
( )

( )

https://dl.doubtnut.com/l/_YsEzG23uNin1
https://dl.doubtnut.com/l/_ZF0eXHvmHWpc


C. 
-1

x 1 + (logx)2

D. 
1

x 1 + (logx)2

Answer: A

Watch Video Solution

( )

( )

213. If y = cos - 1 1 - x2

1 + x2 , then
dy
dx

=

A. 
1

1 + x2

B. 
-1

1 + x2

C. 
2

1 + x2

D. 
-2

1 + x2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_ZF0eXHvmHWpc
https://dl.doubtnut.com/l/_zUT0JzbOm8V8


214. If f(x) = cos - 1 1 - (logx)2

1 + (logx)2 
, then the value of f′ (e)
is equal to........

A. 1

B. 
2

e2

C. 
2
e

D. 
1
e

Answer: D

Watch Video Solution

[ ]

215. If y = cos - 1 x - x - 1

x + x - 1 , then
dy
dx

=

A. 
1

1 + x2

B. 
-1

1 + x2

C. 
2

1 + x2

( )

https://dl.doubtnut.com/l/_Ek6CJWTjt8AH
https://dl.doubtnut.com/l/_8e26GOoCRa6n


D. 
-2

1 + x2

Answer: D

Watch Video Solution

216. If y = cos - 1 x - 1 - x

x - 1 + x
, then

dy
dx

=

A. 
1

1 + x2

B. 
-1

1 + x2

C. 
2

1 + x2

D. 
-2

1 + x2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_8e26GOoCRa6n
https://dl.doubtnut.com/l/_fTUhvAJzcEec


217. If y = cos - 1 a - x - ax

a - x + ax
, then

dy
dx

=

A. 
-axloga

1 + a2x

B. 
axloga

1 + a2x

C. 
-2axloga

1 + a2x

D. 
2axloga

1 + a2x

Answer: D

Watch Video Solution

( )

218. If y = cos - 1 1 + x
2

then
dy
dx

=

A. 
-1

2√1 - x2

B. 
1

2√1 - x2

C. 
-2

2√1 - x2

√

https://dl.doubtnut.com/l/_aBR0qICvWJje
https://dl.doubtnut.com/l/_B7V26GLumD7M


D. 
2

2√1 - x2

Answer: A

Watch Video Solution

219. If y = cos - 1 xsinα - cosα√1 - x2 , then
dy
dx =

A. 
-2

√1 - x2

B. 
2

√1 - x2

C. 
-1

√1 - x2

D. 
1

√1 - x2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_B7V26GLumD7M
https://dl.doubtnut.com/l/_OCd8H58ypSuW


220. If y = cos - 1
√1 + x - √1 - x

2
, then

dy
dx

=

A. 
1

2√1 - x2

B. 
-1

2√1 - x2

C. 
2

2√1 - x2

D. 
-2

2√1 - x2

Answer: B

Watch Video Solution

( )

221. Find 
dy
dx


for the function:
y = sin - 1√(1 - x) + cos - 1√x

A. 
1

√x + x2

B. 
-1

√x + x2

C. 
2

√x + x2

https://dl.doubtnut.com/l/_DkZnfDAxdr8L
https://dl.doubtnut.com/l/_tMSzcLJ4PmD4


D. 
-2

√x + x2

Answer: C

Watch Video Solution

222. If y = cos - 1 2x

1 + x2 , then 
dy
dx

 is equal to

A. 
1

√x(1 + x)

B. 
-1

√x(1 + x)

C. 
2

√x(1 + x)

D. 
-2

√x(1 + x)

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_tMSzcLJ4PmD4
https://dl.doubtnut.com/l/_6pwtymY00t4r


223. If y = cos - 1 2x

1 + x2 , then 
dy
dx

 is equal to

A. 
2

1 + x2

B. 
-2

1 + x2

C. 
1

1 + x2

D. 
-1

1 + x2

Answer: B

Watch Video Solution

( )

224. sec - 1 1 + e2√x

2e√x
 differentiate

A. 
-e√x

√x 1 + e2√x

B. 
e√x

√x 1 + e2√x

( )
( )

( )

https://dl.doubtnut.com/l/_JOYThbJ3ktJ8
https://dl.doubtnut.com/l/_VDHxysDqOC6G


C. 
-2e√x

√x 1 + e2√x

D. 
2e√x

√x 1 + e2√x

Answer: A

Watch Video Solution

( )

( )

225. If y = cos - 1√1 + x2, then
dy
dx

=

A. 
-2

1 + x2

B. 
2

1 + x2

C. 
-1

1 + x2

D. 
1

1 + x2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VDHxysDqOC6G
https://dl.doubtnut.com/l/_uqmhr7REuKJy


226. If y = cos - 1 1

3x - 4x3 , then
dy
dx

A. 
-1

√1 - x2

B. 
2

√1 - x2

C. 
-1

√1 - x2

D. 
1

√1 - x2

Answer: D

Watch Video Solution

( )

227. if y = tan - 1 x

√1 + x2
 then find 

dy
dx

A. 
1

√1 - x2

B. 
-1

√1 - x2

( )

https://dl.doubtnut.com/l/_RYU7GBN38O0J
https://dl.doubtnut.com/l/_2pRODJdjw0Z7


C. 
x

√1 - x2

D. 
√1 - x2

x

Answer: A

Watch Video Solution

228. If y = tan - 1 2x+ 1

1 - 4x
, then

dy
dx

=

A. 
2xlog2

1 + 4x

B. 
-2xlog2

1 + 4x

C. 
2x+ 1log2

1 + 4x

D. 
-2x+ 1log2

1 + 4x

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_2pRODJdjw0Z7
https://dl.doubtnut.com/l/_qb8QbLpvESma


229. If `y=tan^(-1)((3x-x^3)/(1-3x^2)),1/(sqrt(3))

A. 
3

1 + x2

B. 
-3

1 + x2

C. 
1

1 + x2

D. 
-1

1 + x2

Answer: A

Watch Video Solution

230. If y =
3a2x - x3

a3 - 3ax2  then find 
dy
dx

A. 
-3a

a2 + x2

B. 
3a

a2 + x2

C. 
-3a2

a2 + x2

D. 
3a2

a2 + x2

https://dl.doubtnut.com/l/_OyNiUAE9xkWT
https://dl.doubtnut.com/l/_r9hHSzm8q9Z0


Answer: B

Watch Video Solution

231. If y = tann - 1
√x(3 - x)

1 - 3x
, then

dy
dx

=

A. 
-3

√x(1 + x)

B. 
3

√x(1 + x)

C. 
-3

2√x(1 + x)

D. 
3

2√x(1 + x)

Answer: D

Watch Video Solution

( )

232. If y = tan - 1 1 - x
1 +x

, then find 
dy
dx

 when -1 < x < 1.√

https://dl.doubtnut.com/l/_r9hHSzm8q9Z0
https://dl.doubtnut.com/l/_sgBjV6UaRtBj
https://dl.doubtnut.com/l/_NsisCdEaqpsR


A. 
-2

√1 - x2

B. 
2

√1 - x2

C. 
-1

√1 - x2

D. 
1

√1 - x2

Answer: C

Watch Video Solution

233. If y = tan - 1 a - x
a + x

, then
dy
dx

=

A. 
-1

2√a2 - x2

B. 
1

2√a2 - x2

C. 
-1

√a2 - x2

D. 
1

√a2 - x2

√

https://dl.doubtnut.com/l/_NsisCdEaqpsR
https://dl.doubtnut.com/l/_M3r6O2V4p76r


Answer: A

Watch Video Solution

234. If y = tan - 1 √1 + x2 + x , then
dy
dx

=

A. 
-1

2 1 + x2

B. 
1

2 1 + x2

C. 
-2

2 1 + x2

D. 
2

2 1 + x2

Answer: A

Watch Video Solution

( )

( )

( )

( )

( )

235. If y = tan - 1 √1 + x2 - x , then
dy
dx

=( )

https://dl.doubtnut.com/l/_M3r6O2V4p76r
https://dl.doubtnut.com/l/_fPgU51NLfult
https://dl.doubtnut.com/l/_5eKP0GZv9EC6


A. 
-1

2 1 + x2

B. 
1

2 1 + x2

C. 
-2

2 1 + x2

D. 
2

2 1 + x2

Answer: A

Watch Video Solution

( )

( )

( )

( )

236. 11Ify = tan - 1
√1 + a2x2 - 1

ax
, thenfind

dy
dx

A. 
-a

1 + a2x2

B. 
a

1 + a2x2

C. 
-a

2 1 + a2x2

[ ]

( )

https://dl.doubtnut.com/l/_5eKP0GZv9EC6
https://dl.doubtnut.com/l/_NnzyQc40lsE6


D. 
a

2 1 + a2x2

Answer: D

Watch Video Solution

( )

237. If y = tan - 1
√1 + x2 - 1

x
then

dy
dx

=  ?

A. 
-1

1 + x2

B. 
1

1 + x2

C. 
-1

2 1 + x2

D. 
1

2 1 + x2

Answer: D

Watch Video Solution

{ }

( )

( )

https://dl.doubtnut.com/l/_NnzyQc40lsE6
https://dl.doubtnut.com/l/_vV0zEWwj7dpd
https://dl.doubtnut.com/l/_EBo3QSYUIoqY


238. If y = tan - 1 √1 + x2 - x , then
dy
dx

=

A. 
2

1 + x2

B. 
-2

1 + x2

C. 
1

2 1 + x2

D. 
-1

2 1 + x2

Answer: D

Watch Video Solution

( )

( )

( )

239. If y = cot - 1 x2 + a2 + x

√x2 + a2 - x
, then

dy
dx =

A. 
-a

2 a2 + x2

B. 
a

2 a2 + x2

√
( )

( )

https://dl.doubtnut.com/l/_EBo3QSYUIoqY
https://dl.doubtnut.com/l/_1AlrCd52AfKu


C. 
-a2

2 a2 + x2

D. 
a2

2 a2 + x2

Answer: A

View Text Solution

( )

( )

240. 
dy
dx

if y = cot - 1 xx - xx

2
atx = 1

A. 2

B. -2

C. 1

D. -1

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_1AlrCd52AfKu
https://dl.doubtnut.com/l/_6y8FrErhxwuK


241. If y = tan - 1 6x

1 - 8x2 , then
dy
dx

=

A. 
4

1 + 16x2 -
2

1 + 4x2

B. 
4

1 + 16x2 +
2

1 + 4x2

C. 
2

1 + 16x2 -
1

1 + 4x2

D. 
2

1 + 16x2 +
1

1 + 4x2

Answer: B

Watch Video Solution

( )

242. tan - 1 7x

1 - 12x2

A. 
4

1 + 16x2 -
3

1 + 9x2

B. 
4

1 + 16x2 +
3

1 + 9x2

C. 
2

1 + 16x2 -
3

1 + 9x2

( )

https://dl.doubtnut.com/l/_ihsbecGm1D2i
https://dl.doubtnut.com/l/_bXsuHlMy1ImT


D. 
2

1 + 16x2 +
3

1 + 9x2

Answer: B

Watch Video Solution

243. If y = tan - 1 a + x
1 - ax

, then
dy
dx

=

A. 
1

1 + a2

B. 
-1

1 + a2

C. 
1

1 + x2

D. 
-1

1 + x2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_bXsuHlMy1ImT
https://dl.doubtnut.com/l/_OmNVF6Jf63xr


244. If y = tan - 1 log(ex)

log
e
x

, then
dy
dx

=

A. 
1

x 1 + (logx)2

B. 
-1

x 1 + (logx)2

C. 
x

x 1 + (logx)2

D. 
-x

x 1 + (logx)2

Answer: A

Watch Video Solution

( ( ) )
( )

( )

( )

( )

245. If y = tan - 1 1 + x
1 - x

 then 
dy
dx

=

A. 1 - x2

( )

https://dl.doubtnut.com/l/_gpTRWUGkwl9B
https://dl.doubtnut.com/l/_8Shr7limXp0f


B. 1 + x2

C. 
1

1 +
1 + x

1 - x

2

D. 
1

1 + x2

Answer: D

Watch Video Solution

( )

246. tan - 1 5x + 1

3 - x - 6x2

A. 
3

9x2 + 12x + 5
-

2

2x2 - 2x + 1

B. 
3

9x2 + 12x + 5
+

2

2x2 - 2x + 1

C. 
3

9x2 + 12x + 5
-

1

2x2 - 2x + 1

D. 
3

9x2 + 12x + 5
+

1

2x2 - 2x + 1

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_8Shr7limXp0f
https://dl.doubtnut.com/l/_bX1MsxtglLHi


Watch Video Solution

247. If y = tan - 1 5ax

a2 - 6x2 , then
dy
dx

=

A. 
3

a2 + 9x2 +
2

a2 + 4x2

B. 
3

a2 + 9x2 -
2

a2 + 4x2

C. 
3a

a2 + 9x2 +
2a

a2 + 4x2

D. 
3a

a2 + 9x2 -
2a

a2 + 4x2

Answer: A

Watch Video Solution

( )

248. tan - 1 a + btanx
b - atanx

A. 1

B. 0

( )

https://dl.doubtnut.com/l/_bX1MsxtglLHi
https://dl.doubtnut.com/l/_yfImP17B6ykK
https://dl.doubtnut.com/l/_stkDjyxPAUNp


C. 
1

1 + x2

D. 
-1

1 + x2

Answer: B

Watch Video Solution

249. If y = tan - 1 a - x

1 + x2 , then
dy
dx

=

A. 
1

1 + x2

B. 
-1

1 + x2

C. 
a

1 + x2

D. 
-a

1 + x2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_stkDjyxPAUNp
https://dl.doubtnut.com/l/_RNFHoaKTAtHh
https://dl.doubtnut.com/l/_J9bgHezo04Nn


250. tan - 1 6x

1 + 16x2

A. 
4

1 + 16x2 -
1

1 + x2

B. 
4

1 + 16x2 +
1

1 + x2

C. 
8

1 + 64x2 -
2

1 + 4x2

D. 
8

1 + 64x2 +
2

1 + 4x2

Answer: C

Watch Video Solution

( )

251. tan - 1
√x

1 + 20x

A. 
1

√x

5
1 + 25x

-
2

1 + 16x

B. 
1

√x

5
1 + 25x

+
2

1 + 16x

C. 
1

√x

5
1 + 25x -

4
1 + 16x

( )
( )
( )
( )

https://dl.doubtnut.com/l/_J9bgHezo04Nn
https://dl.doubtnut.com/l/_pPlDb44l8o7s


D. 
1

√x

5
1 + 25x

+
4

1 + 16x

Answer: C

Watch Video Solution

( )

252. If y = tan - 1

log
e

x3

log ex3
, then

dy
dx =

A. 
-3

x 1 + 3(logx)2

B. 
3

x 1 + 3(logx)2

C. 
-3

x 1 + 9(logx)2

D. 
3

x 1 + 9(logx)2

Answer: C

W t h Vid S l ti

( ( )
( ) )

( )

( )

( )

( )

https://dl.doubtnut.com/l/_pPlDb44l8o7s
https://dl.doubtnut.com/l/_UKOYtjEHxRUB


Watch Video Solution

253. If y = tan - 1
√a - √x

1 + √ax
, then

dy
dx

=

A. 
-1

√x(1 + x)

B. 
1

√x(1 + x)

C. 
-1

2√x(1 + x)

D. 
1

2√x(1 + x)

Answer: D

Watch Video Solution

( )

254. tan - 1 5 - x

6x2 - 5x - 3

A. 
2

2x2 + 2x + 1
+

3

9x2 - 24x + 17

B. 
2

2x2 + 2x + 1
-

3

9x2 - 24x + 17

( )

https://dl.doubtnut.com/l/_UKOYtjEHxRUB
https://dl.doubtnut.com/l/_LopgmhXrNRGW
https://dl.doubtnut.com/l/_0XRvKb8eIfaS


C. 
1

2x2 + 2x + 1
+

3

9x2 - 24x + 17

D. 
1

2x2 + 2x + 1
-

3

9x2 - 24x + 17

Answer: D

Watch Video Solution

255. Find 
dy
dx


if y =
tan - 1(4x)

1 + 5x2 +
tan - 1(2 + 3x)

3 - 2x

A. 
-5

1 + 25x2

B. 
5

1 + 25x2

C. 
-25

1 + 25x2

D. 
25

1 + 25x2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0XRvKb8eIfaS
https://dl.doubtnut.com/l/_xRF9oBfFEll5


256. If y = tan - 1 x - a
x + a

, then
dy
dx

=

A. 
-a2

a2 + x2

B. 
a2

a2 + x2

C. 
-a

a2 + x2

D. 
a

a2 + x2

Answer: D

Watch Video Solution

( )

257. If y = tan - 1 acosx - bsinx
bcosx + asinx

, then
dy
dx

=

A. 
-1

1 + x2

B. 
1

1 + x2

C. -1

D. 1

( )

https://dl.doubtnut.com/l/_z2d8zAGmvzmj
https://dl.doubtnut.com/l/_VNSj9Xuy2nic


Answer: C

Watch Video Solution

258. If y = cot - 1 1 - x
1 + x

then
dy
dx

=  ?

A. 
1

1 + x2

B. 
-1

1 + x2

C. 
x

1 + x2

D. 
-x

1 + x2

Answer: A

Watch Video Solution

( )

259. If `y=cot^(-1)[(sqrt(1+sinx)+sqrt(1-sinx))/(sqrt(1+sinx)-sqrt(1-sinx))](0

A. 
-1
2

https://dl.doubtnut.com/l/_VNSj9Xuy2nic
https://dl.doubtnut.com/l/_CA0v9tE8DcaG
https://dl.doubtnut.com/l/_BqWRxst1IoNO


B. 
1
2

C. -1

D. 1

Answer: B

Watch Video Solution

260. If y = cot - 1 3 + 4tanx
4 - 3tanx

, then
dy
dx

=

A. -3

B. 4

C. -1

D. 1

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_BqWRxst1IoNO
https://dl.doubtnut.com/l/_TkwJ9AHrVbYj


261. If y = tan - 1 4x

1 + 5x2 + cot - 1 3 - 2x
2 + 3x

, then
dy
dx

=

A. 
5

1 + 25x2 +
2

1 + x2

B. 
5

1 + 25x2 -
2

1 + x2

C. 
-5

1 + 25x2

D. 
5

1 + 25x2

Answer: D

Watch Video Solution

( ) ( )

262. If the inverse function ofy = f(x) isx = g(y)and f′ (x) =
1

1 + x2  , then

prove that, g′ (x) = 1 + [g(x)]2.

A. (1 + f(x))2

B. (1 + g(x))2

C. 1 + (f(x))2

https://dl.doubtnut.com/l/_EPiM3KjaqDRO
https://dl.doubtnut.com/l/_1McyLq5XpG5e


D. 1 + (g(x))2

Answer: D

Watch Video Solution

263. If g is the inverse of a function f and f′ (x) =
1

1 + x5 , then g'(x) is equal

to

A. 1 + x5

B. 5x4

C. 
1

1 + (g(x))5

D. 1 + (g(x))5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1McyLq5XpG5e
https://dl.doubtnut.com/l/_YKPuSy6J5DRj


264. Let f(x) =
x2 - x

x2 + 2x
 then d

f - 1x
dx

 is equal to

A. 
-3

(1 - x)2

B. 
3

(1 - x)2

C. 
-1

(1 - x)2

D. 
1

(1 - x)2

Answer: B

Watch Video Solution

265. If y = emsin - 1
x and 1 - x2 dy

dx

2
= Ay2.  then A =

A. m

B. -m

C. m2

D. -m2

( )( )

https://dl.doubtnut.com/l/_WjwlNStGlNA4
https://dl.doubtnut.com/l/_6NTm0qHiCu4V


Answer: C

Watch Video Solution

266. If y = (x + 3)4(x + 4)5(x + 5)6, then
dy
dx

=

A. y
4

x + 3
-

5
x + 4

-
6

x + 5

B. y
4

x + 3
-

5
x + 4

+
6

x + 5

C. y
4

x + 3
+

5
x + 4

+
6

x + 5

D. y
4

x + 3
+

5
x + 4

-
6

x + 5

Answer: C

Watch Video Solution

( )
( )
( )
( )

267. If y = (x + 1)
3

2 (2x + 3)
5

2 (7 - 3x)
7

2 , then
dy
dx =

https://dl.doubtnut.com/l/_6NTm0qHiCu4V
https://dl.doubtnut.com/l/_XEha7lfe4Ois
https://dl.doubtnut.com/l/_ZMxz2ru3WbVP


A. y
3

2x + 2
-

5
2x + 3

-
21

14 - 16x

B. y
3

2x + 2
-

5
2x + 3

+
21

14 - 16x

C. y
3

2x + 2
+

5
2x + 3

-
21

14 - 16x

D. y
3

2x + 2
+

5
2x + 3

+
21

14 - 16x

Answer: C

Watch Video Solution

( )
( )
( )
( )

268. If y = e3xsin2xlogx, then
dy
dx

=

A. y 3 - 2cotx +
1

xlogx

B. y 3 + 2cotx -
1

xlogx

C. y 3 + 2cotx +
1

xlogx

D. y 3 - 2cotx -
1

xlogx

( )
( )
( )
( )

https://dl.doubtnut.com/l/_ZMxz2ru3WbVP
https://dl.doubtnut.com/l/_M4xGqq1XUcAI


Answer: C

Watch Video Solution

269. If y =
(x - 1)(x - 2)

(x - 3)(x - 4)(x - 5)
then

dy
dx

 is equal to

A. 
y
2

1
x - 1

+
1

x - 2
+

1
x - 3

-
1

x - 4
-

1
x - 5

B. 
y
2

1
x - 1

+
1

x - 2
-

1
x - 3

-
1

x - 4
-

1
x - 5

C. 
y
2

1
x - 1

+
1

x - 2
-

1
x - 3

+
1

x - 4
-

1
x - 5

D. 
y
2

1
x - 1

+
1

x - 2
-

1
x - 3

-
1

x - 4
+

1
x - 5

Answer: B

Watch Video Solution

√
( )
( )
( )
( )

270. If y =
(x - 3) x2 + 4

3x2 + 4x + 5
, find 

dy
dx

.√ ( )
( )

https://dl.doubtnut.com/l/_M4xGqq1XUcAI
https://dl.doubtnut.com/l/_epzLiggZaspt
https://dl.doubtnut.com/l/_7cnQpr6pdvB9


A. y =
1

2x - 6
+

x

x2 + 4
-

3x + 2

3x2 + 4x + 5

B. y =
1

2x - 6
-

x

x2 + 4
+

3x + 2

3x2 + 4x + 5

C. y =
1

2x - 6
-

x

x2 + 4
-

3x + 2

3x2 + 4x + 5

D. y =
1

2x - 6
+

x

x2 + 4
+

3x + 2

3x2 + 4x + 5

Answer: A

Watch Video Solution

( )
( )
( )
( )

271. y =
(2x + 3)5

(3x - 1)3(5x - 2)

A. 
y
2

10
2x + 3

-
9

3x - 1
-

5
5x - 2

B. 
y
2

10
2x + 3

+
9

3x - 1
-

5
5x - 2

C. 
y
2

10
2x + 3

-
9

3x - 1
+

5
5x - 2

√
( )
( )
( )

https://dl.doubtnut.com/l/_7cnQpr6pdvB9
https://dl.doubtnut.com/l/_J4qOlR0IlGfa


D. 
y
2

10
2x + 3

+
9

3x - 1
+

5
5x - 2

Answer: A

Watch Video Solution

( )

272. If y = 3
3x - 1

(2x + 3)(5 - x)2 , then
dy
dx

=

A. y
1

3x - 1
-

2
6x + 9

+
2

15 - 3x

B. y
1

3x - 1
+

2
6x + 9

-
2

15 - 3x

C. y
1

3x - 1
-

2
6x + 9

-
2

15 - 3x

D. y
1

3x - 1
+

2
6x + 9

+
2

15 - 3x

Answer: A

Watch Video Solution

√
( )
( )
( )
( )

https://dl.doubtnut.com/l/_J4qOlR0IlGfa
https://dl.doubtnut.com/l/_Nu9xIvTp2flo


273. If 
x + 1

(x + 2)2(x + 3)4 , then
dy
dx

=

A. y
1

x + 1 +
2

x + 2 +
4

x + 3

B. y
1

x + 1 +
2

x + 2 -
4

x + 3

C. y
1

x + 1 -
2

x + 2 +
4

x + 3

D. y
1

x + 1 -
2

x + 2 -
4

x + 3

Answer: D

Watch Video Solution

( )
( )
( )
( )

274. y =
x3tan5x
tan4x

A. y
3
x

+ 10cosec2x + 8cosec8x

B. y
3
x

+ 10cosec2x - 8cosec8x

C. y
3
x

- 10cosec2x + 8cosec8x

( )
( )
( )

https://dl.doubtnut.com/l/_AYJqcBWFvzOl
https://dl.doubtnut.com/l/_FDPEaeZBk9hr


D. y
3
x

- 10cosec2x - 8cosec8x

Answer: B

Watch Video Solution

( )

275. If y =
(cosx)x

1 + x - x2 , then
dy
dx

=

A. y log(cosx) + xtanx +
2x - 1

1 + x - x2

B. y log(cosx) - xtanx -
2x - 1

1 + x - x2

C. y log(cosx) + xtanx -
2x - 1

1 + x - x2

D. y log(cosx) - xtanx +
2x - 1

1 + x - x2

Answer: D

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_FDPEaeZBk9hr
https://dl.doubtnut.com/l/_JwLJwlNJCx6F
https://dl.doubtnut.com/l/_SzryZ5QZChOy


276. If y =
(sinx)logx

1 + x2 , then
dy
dx

=

A. y (logx)cotx +
log(sinx)

x
+

2x

1 + x2

B. y (logx)cotx +
log(sinx)

x
-

2x

1 + x2

C. y (logx)cotx -
log(sinx)

x
+

2x

1 + x2

D. y (logx)cotx -
log(sinx)

x
-

2x

1 + x2

Answer: B

Watch Video Solution

( )
( )
( )
( )

277. if y = xx then 
dy
dx

A. xx(1 + xlogx)

B. xx(1 - xlogx)

C. xx(1 + logx)

https://dl.doubtnut.com/l/_SzryZ5QZChOy
https://dl.doubtnut.com/l/_UjEoidgM5efY


D. xx(1 - logx)

Answer: C

Watch Video Solution

278. If y = √xx, then
dy
dx

A. 
√xx

2
(1 + logx)

B. 
√xx

2
(x + logx)

C. √xx(1 + logx)

D. √xx(x + logx)

Answer: A

Watch Video Solution

279. If y = x
1

x , then
dy
dx

=

https://dl.doubtnut.com/l/_UjEoidgM5efY
https://dl.doubtnut.com/l/_TfKIzs5gRW0U
https://dl.doubtnut.com/l/_4WB2LphDB4ru


A. 
x

1
x

x2 (1 + logx)

B. 
x

1

x

x2 (1 - logx)

C. 
x

1

x

x (1 + logx)

D. 
x

1
x

x
(1 - logx)

Answer: B

Watch Video Solution

280. If y =
x + 1
x

x
, then

dy
dx

=

A. y log 1 +
1
x

-
x

1 + x

B. y log 1 +
1
x

+
x

1 + x

C. y log 1 +
1
x

-
x

1 + x

D. y log 1 +
1
x

+
x

1 + x

( )
( ( ) )
( ( ) )
( ( ) )
( ( ) )

https://dl.doubtnut.com/l/_4WB2LphDB4ru
https://dl.doubtnut.com/l/_YGfaiEfJdx0A


Answer: C

Watch Video Solution

281. If y = ex
x
,  then 

dy
dx

 is

A. ex
x
xx(1 - logx)logx

B. ex
x
xx(1 + logx)logx

C. ex
x
xx(1 - logx)

D. ex
x
xx(1 + logx)

Answer: D

Watch Video Solution

282. If y = ex
x
,  then 

dy
dx  is

A. xx
x
xxlogx 1 + logx -

1
xlogx( )

https://dl.doubtnut.com/l/_YGfaiEfJdx0A
https://dl.doubtnut.com/l/_JhnJBmH9uutl
https://dl.doubtnut.com/l/_ogcp6Uq1jx4r


B. xx
x
xxlogx 1 + logx +

1
xlogx

C. xx
x
xx 1 + logx -

1
x

D. xx
x
xx 1 + logx +

1
x

Answer: B

Watch Video Solution

( )
( )
( )

283. If y = xx
2x

, then
dy
dx

=

A. xx
2x
x2xlogx 2 + 2logx +

1
xlogx

B. xx
2x
x2xlogx 2 + logx +

1
xlogx

C. xx
2x
x2x 2 + 2logx +

1
xlogx

D. xx
2x
x2x 2 + logx +

1
xlogx

Answer: A

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_ogcp6Uq1jx4r
https://dl.doubtnut.com/l/_PmFAn7YKEZZ3


Watch Video Solution

284. If y = xe
x
, then

dy
dx =

A. xe
x
ex

1
x + xlogx

B. xe
x
ex

1
x - xlogx

C. xe
x
ex

1
x + logx

D. xe
x
ex

1
x - logx

Answer: C

Watch Video Solution

( )
( )
( )
( )

285. If y = x4x, then
dy
dx

=

A. x4x4x
1
x

+ log4. logx

B. x4x4x
1
x

- log4. logx

( )
( )

https://dl.doubtnut.com/l/_PmFAn7YKEZZ3
https://dl.doubtnut.com/l/_S1vUw9RgLyCB
https://dl.doubtnut.com/l/_F00B61ObdcE7


C. x4x4x
1
x

+ log4. x

D. x4x4x
1
x

- logx

Answer: A

Watch Video Solution

( )
( )

286. If y = (tanx)cotx
, then 
dy
dx


is equal to......

A. y = cosec2xlog(tanx)

B. ycosec2x(1 + log(tanx))

C. ycosec2x(log(tanx) - 1)

D. ycosec2x(1 - log(tanx))

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F00B61ObdcE7
https://dl.doubtnut.com/l/_PSVXK2KNolOY


287. If y = (tanx)sinx, then
dy
dx

=

A. y sec2x + cosx log(tanx)

B. y sec2x - (cosx)log(tanx)

C. y(secx + (cosx)log(tanx))

D. y(secx - (cosx)log(tanx))

Answer: C

Watch Video Solution

( ) )
( )

288. If y = (sinx - cosx) ( sinx+ cosx ) , then
dy
dx =

A. y
(sinx + cosx)2

sinx - cosx
+ (cosx - sinx)log(sinx - cosx)

B. y
(sinx + cosx)2

sinx - cosx
- (cosx - sinx)log(sinx - cosx)

C. y
sinx + cosx
sinx - cosx + (cosx - sinx)log(sinx - cosx)

( )
( )
( )

https://dl.doubtnut.com/l/_5Q5gDCbaIRtE
https://dl.doubtnut.com/l/_hib9XuRlubYb


D. y
sinx + cosx
sinx - cosx

- (cosx - sinx)log(sinx - cosx)

Answer: A

Watch Video Solution

( )

289. If y = (sinx + cosx) ( 1 + tanx ) , then
dy
dx

=

A. y 1 + tanx + sec2x log(sinx + cosx)

B. y 1 - tanx - sec2x log(sinx + cosx)

C. y 1 + tanx - sec2x log(sinx + cosx)

D. y 1 - tanx + sec2x log(sinx + cosx)

Answer: D

Watch Video Solution

( ( ) )
( ( ) )
( ( ) )
( ( ) )

290. If y = xtan - 1x ,then 
dy
dx =

https://dl.doubtnut.com/l/_hib9XuRlubYb
https://dl.doubtnut.com/l/_k4gk9DUkwmX4
https://dl.doubtnut.com/l/_01XGjy9mu20I


A. y
tan - 1x

x
+

logx

1 + x2

B. y
tan - 1x

x
-

logx

1 + x2

C. 
y
2

tan - 1x
x

+
logx

1 + x2

D. 
y
2

tan - 1x
x

-
logx

1 + x2

Answer: A

Watch Video Solution

( )
( )
( )
( )

291. If y = xsinx then
dy
dx

=  ?

A. 
y(cosxlogx + cosx)

x

B. 
y(xcosxlogx + sinx)

x

C. y(xsinxlogx + cosx)

D. 
y(xcosxlogx + sinx)

x

https://dl.doubtnut.com/l/_01XGjy9mu20I
https://dl.doubtnut.com/l/_aDlV8eTgbpX0


Answer: B

Watch Video Solution

292. If y = xlogx, then
dy
dx

=

A. 2x ( logx - 1 ) logx

B. x ( logx - 1 )

C. 
2

xlogx

D. x ( logx - 1 ) logx

Answer: A

Watch Video Solution

293. If y = sec2x
1
x , then

dy
dx

=

A. 
2y

x2 (tanx + logxsecx)

( )

https://dl.doubtnut.com/l/_aDlV8eTgbpX0
https://dl.doubtnut.com/l/_T9OrsoWd7a9d
https://dl.doubtnut.com/l/_NclkoXLvB4fT


B. 
2y

x2 (tanx - logsecx)

C. 

D. 
2y

x2 (xtanx - logsecx)

Answer: D

Watch Video Solution

294. If y = (xcosx - sinx)x, then
dy
dx

=

A. y log(xcosx - sinx) +
xsinx

xcosx - sinx

B. y log(xcosx - sinx) -
xsinx

xcosx - sinx

C. y log(xcosx - sinx) +
x2sinx

xcosx - sinx

D. y log(xcosx - sinx) -
x2sinx

xcosx - sinx

Answer: D

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_NclkoXLvB4fT
https://dl.doubtnut.com/l/_5R2Zyh7qH0Tb


Watch Video Solution

295. If y = (xtanx)secx, then
dy
dx =

A. ysecx
1
x - 2cosec2x - (tanx)log(xtanx)

B. ysecx
1
x + 2cosec2x + (tanx)log(xtanx)

C. ysecx
1
x - 2cosec2x + (tanx)log(xtanx)

D. ysecx
1
x + 2cosec2x - (tanx)log(xtanx)

Answer: B

Watch Video Solution

( )
( )
( )
( )

296. If ,y = (logx)sinx, then
dy
dx

=

A. y
sinx
xlogx

- (cosx)log(logx)

B. y
sinx
xlogx

+ (cosx)log(logx)

( )
( )

https://dl.doubtnut.com/l/_5R2Zyh7qH0Tb
https://dl.doubtnut.com/l/_ZGOaSZX6V0MR
https://dl.doubtnut.com/l/_m8nzElz0e60o


C. y
cosx
xlogx

- (sinx)log(logx)

D. y
cosx
xlogx

+ (sinx)log(logx)

Answer: B

Watch Video Solution

( )
( )

297. If y = (sinx)logx, then
dy
dx

=

A. y
logsinx

x
+ cotx

B. y
logsinx

x
+ logx

C. y
logx
tanx

+
logsinx

x

D. 

Answer: C

Watch Video Solution

( )
( )
( )

https://dl.doubtnut.com/l/_m8nzElz0e60o
https://dl.doubtnut.com/l/_IWeMSmn4rw8f
https://dl.doubtnut.com/l/_Y6o8cypcbUnQ


298. If y = (logx)logx, then
dy
dx =

A. y(1 + log(logx))

B. y(1 + logx)

C. 
y
x (1 + log(logx))

D. 
y
x (1 + logx)

Answer: C

Watch Video Solution

299. If y = (tanx) ( tanx ) ( tanx ) ( tanx ) ... ... ∞

 , then prove that 
dy
dx

= 2 at x =
π
4

A. 1

B. √2

C. -2

D. 2

https://dl.doubtnut.com/l/_Y6o8cypcbUnQ
https://dl.doubtnut.com/l/_ZGwzH2HMl0dr


Answer: D

Watch Video Solution

300. If y = xx + aa, then
dy
dx

=

A. -xx(1 + logx)

B. -xx(1 - logx)

C. xx(1 - logx)

D. xx(1 + logx)

Answer: D

Watch Video Solution

301. If y = xsinx + √x, then at =
π
2 ,

dy
dx =

A. 1 +
1

√2π

https://dl.doubtnut.com/l/_ZGwzH2HMl0dr
https://dl.doubtnut.com/l/_p4hXSclaOY0l
https://dl.doubtnut.com/l/_QFN5GLXlCQ0P


B. 1 -
1

√2π

C. 1

D. 
1

√2π

Answer: A

Watch Video Solution

302. If y = cos - 1 sin
(1 + x)

2
+ xx ,then find 

dy
dx

 at x = 1

A. 
1
2

B. 
-1
2

C. 
3
4

D. 0

Answer: C

Watch Video Solution

[ √ ]

https://dl.doubtnut.com/l/_QFN5GLXlCQ0P
https://dl.doubtnut.com/l/_gVCuHcoUW6N2


303. If y = etanx + (logx)tanx then find 
dy
dx

A. etanxsec2x + (logx)tanx tanx
xlogx

- log(logx)sec2x

B. etanxsec2x + (logx)tanx tanx
xlogx

+ log(logx)sec2x

C. etanxsec2x + (logx)tanx tanx
logx

- log(logx)sec2x

D. etanxsec2x + (logx)tanx tanx
logx

+ log(logx)sec2x

Answer: B

Watch Video Solution

( ))
( ))
( ))
( ))

304. IF y = xx
3

+ x3 , then
dy
dx

=

A. xx
3
x2(1 + 3logx) + x3x(1 + logx)

B. xx
3
x2(1 + logx) + 3x3x(1 + logx)

C. xx
3
x2(1 + logx) + x3x(1 + logx)

( )

https://dl.doubtnut.com/l/_gVCuHcoUW6N2
https://dl.doubtnut.com/l/_lJwq6Svzc4WW
https://dl.doubtnut.com/l/_JG3r1OByecMM


D. xx
3
x2(1 + logx) + 3x3x(1 + logx)

Answer: D

Watch Video Solution

305. If y = xx + (tanx)x, then
dy
dx

=

A. xx(1 + logx) + (tanx)x(2xcosec2x - log(tanx))

B. xx(1 + logx) + (tanx)x(2xcosec2x + log(tanx))

C. xx(1 + logx) + (tanx)x(xcosec2x - log(tanx))

D. xx(1 + logx) + (tanx)x(xcosec2x + log(tanx))

Answer: B

Watch Video Solution

306. Ify = (2x)secx + (tanx)x, then
dy
dx =

https://dl.doubtnut.com/l/_JG3r1OByecMM
https://dl.doubtnut.com/l/_55vm4ctCethJ
https://dl.doubtnut.com/l/_4ztbNfogIGJI


A. (2x)secxsecx
1
x

+ tanxlog(2x) + 2(secx)2x(xtanx + log(secx))

B. (2x)secxsecx
1
x

+ tanxlog(2x) + 2(secx)2x(tanx + log(secx))

C. (2x)secxsecx
1
x

+ tanxlog(2x) + (secx)2x(xtanx + log(secx))

D. (2x)secxsecx
1
x

+ tanxlog(2x) + (secx)2x(tanx + log(secx))

Answer: A

View Text Solution

( )
( )
( )
( )

307. If y = (sinx)tanx + (cosx)secx, then
dy
dx

A. (sinx)tanx 1 + log(sinx)sec2x + (cosx)secxsecxtanx(log(cosx) + 1)

B. (sinx)tanx 1 - log(sinx)sec2x + (cosx)secxsecxtanx(log(cosx) - 1)

C. (sinx)tanx 1 - log(sinx)sec2x + (cosx)secxsecxtanx(log(cosx) + 1)

D. (sinx)tanx 1 + log(sinx)sec2x + (cosx)secxsecxtanx(log(cosx) - 1)

Answer: D

( )
( )
( )
( )

https://dl.doubtnut.com/l/_4ztbNfogIGJI
https://dl.doubtnut.com/l/_WUf1D96nNLF8


Watch Video Solution

308. If y = x +
1
x

x
+ x x+

1

x , then
dy
dx

=

A. x +
1
x

x x2 - 1

x2 + 1
+ log x +

1
x

+ x x+
1
x

x2 + 1

x2 -
x2 - 1

x2 logx

B. x +
1
x

x x2 - 1

x2 + 1
+ log x +

1
x

+ x x+
1
x

x2 + 1

x2 +
x2 - 1

x2 logx

C. x +
1
x

x x2 - 1

x2 + 1
+ log x +

1
x

+ x x+
1
x

x2 + 1
x

-
x2 - 1

x2 logx

D. x +
1
x

x x2 - 1

x2 + 1
+ log x +

1
x

+ x x+
1
x

x2 + 1
x

+
x2 - 1

x2 logx

Answer: A

Watch Video Solution

( ) ( )

( ) ( ( ) ( ) ( ( ) )
( ) ( ( ) ( ) ( ( ) )
( ) ( ( ) ( ) ( ( ) )
( ) ( ( ) ( ) ( ( ) )

309. If y = sin - 1x
x

+ (x)cos - 1x, then
dy
dx( )

https://dl.doubtnut.com/l/_WUf1D96nNLF8
https://dl.doubtnut.com/l/_qXzkdXIE0ZjY
https://dl.doubtnut.com/l/_IJ5ccHpB5CgO


A. sin - 1x
x

logsin - 1x -
x

√1 - x2sinx
+ xcos - 1x cos - 1x +

x +
logx

√1 - x2

B. sin - 1x
x

logsin - 1x -
x

√1 - x2sinx
- xcos - 1x cos - 1x +

x +
logx

√1 - x2

C. 

D. sin - 1x
x

logsin - 1x -
x

√1 - x2sinx
+ xcos - 1x cos - 1x +

x -
logx

√1 - x2

Answer: C

View Text Solution

( ) ( ) ( )
( ) ( ) ( )

( ) ( ) ( )

310. If y = xsinx + (sinx)x, then
dy
dx

=

A. xsinx (cosx)(logx) -
sinx
x

+ (sinx)x(logsinx - xcotx)

B. xsinx (cosx)(logx) +
sinx
x

+ (sinx)x(logsinx + xcotx)

C. xsinx (cosx)(logx) -
sinx
x

- (sinx)x(logsinx + xcotx)

D. xsinx (cosx)(logx) +
sinx
x

+ (sinx)x(logsinx - xcotx)

( )
( )
( )
( )

https://dl.doubtnut.com/l/_IJ5ccHpB5CgO
https://dl.doubtnut.com/l/_tc3jA5fslNtu


Answer: B

Watch Video Solution

311. If y = (logx)x - xlogx, then
dy
dx

=

A. (logx)x
1

logx
+ log(logx) +

(logx)xlogx

x

B. (logx)x
1

logx
+ log(logx) -

(logx)xlogx

x

C. (logx)x
1

logx
+ log(logx) +

2(logx)xlogx

x

D. (logx)x
1

logx
+ log(logx) -

2(logx)xlogx

x

Answer: D

Watch Video Solution

( )
( )
( )
( )

312. If y = (xcosx)x + (xsinx)
1

x , then
dy
dx =

https://dl.doubtnut.com/l/_tc3jA5fslNtu
https://dl.doubtnut.com/l/_fU43OLstveJg
https://dl.doubtnut.com/l/_ICxdb87I0tRW


A. (xcosx)x(1 + xtanx + log(xcosx)) +
(xsinx)

1
x

x2 (1 + xcotx + log(xsinx))

B. (xcosx)x(1 - xtanx + log(xcosx)) +
(xsinx)

1

x

x2 (1 + xcotx + log(xsinx))

C. (xcosx)x(1 - xtanx + log(xcosx)) +
(xsinx)

1

x

x2 (1 + xcotx - log(xsinx))

D. (xcosx)x(1 + xtanx + log(xcosx)) +
(xsinx)

1
x

x2 (1 + xcotx - log(xsinx))

Answer: C

Watch Video Solution

313. If y = xx + ax + xa + aa, then
dy
dx =

A. xx(1 + logx) + axloga + a + axa - 1

B. xx(1 + logx) + axloga + (a - 1)xa - 1

C. xx(1 + logx) + axloga + axa - 2

D. xx(1 + logx) + axloga + (a - 2)xa - 2

Answer: A

https://dl.doubtnut.com/l/_ICxdb87I0tRW
https://dl.doubtnut.com/l/_NLNcI5prwRYT


Watch Video Solution

314. If y = (sinx)x + logx + (logx)tanx + xa, then
dy
dx

=

A. 

(sinx)x(log(sinx) + xcotx) +
1
x

+ (logx)tanx sec2x. log(logx) -
tanx
xlogx

+ axa - 1

B. 

(sinx)x(log(sinx) + xcotx) +
1
x

+ (logx)tanx sec2x. log(logx) +
tanx
xlogx

+ axa -

C. 

(sinx)x(log(sinx) + xcotx) +
1
x

+ (logx)tanx sec2x. log(logx) -
tanx
logx

+ axa - 1

D. 

(sinx)x(log(sinx) + xcotx) +
1
x

+ (logx)tanx sec2x. log(logx) +
tanx
logx

+ axa - 1

Answer: B

Watch Video Solution

( )

( )

( )

( )

https://dl.doubtnut.com/l/_NLNcI5prwRYT
https://dl.doubtnut.com/l/_oDKNIqJznMvw
https://dl.doubtnut.com/l/_SubopXck1VfM


315. If y = 10x
x

+ xx
10

+ x10x, then
dy
dx

A. 10x
x
xx(1 + logx) + xx

10
x9(1 + 10logx) + x10x10x

1
x + log10 ⋅ logx

B. 

10x
x
xxlog10(1 + logx) + xx

10
x9(1 + 10logx) + x10x10x

1
x + log10 ⋅ logx

C. 

10x
x
xxlog10(1 + logx) + xx

10
x9(1 + 10logx) + x10x10x

1
x + log10 ⋅ logx

D. 10x
x
xxlog10(1 + logx) + xx

10
x9(1 + 10logx) + x10x10x

1
x + log(10x)

Answer: C

Watch Video Solution

( )

( )

( )
( )

316. If √x + √y = √a then
dy
dx

=  ?

A. -
y
x√

https://dl.doubtnut.com/l/_SubopXck1VfM
https://dl.doubtnut.com/l/_OrfMbUzKAuht


B. 
y
x

C. 
x
y

D. -
x
y

Answer: A

Watch Video Solution

√
√
√

317. If x√x + y√y = a√a, then
dy
dx

=

A. -
y
x

B. 
y
x

C. -
x
y

D. 
x
y

Answer: C

Watch Video Solution

√
√
√

√

https://dl.doubtnut.com/l/_OrfMbUzKAuht
https://dl.doubtnut.com/l/_dfuByKhCuDol


318. If 
y
x

+
x
y

= 6 , then 
dy
dx

 is

A. -
y
x

B. 
y
x

C. -
x
y

D. 
x
y

Answer: B

Watch Video Solution

√ √

319. If 
y
x

+
x
y

= 6 , then 
dy
dx

 is

A. -
17y - x
y - 17x

B. -
y - 17x
17y - x

C. 
y - 17x
17y - x

√ √
( )
( )

https://dl.doubtnut.com/l/_dfuByKhCuDol
https://dl.doubtnut.com/l/_rplqfazfwfp1
https://dl.doubtnut.com/l/_SmpsKT0z2ODw


D. 
17y - x
y - 17x

Answer: C

Watch Video Solution

320. If x
2

3 + y
2

3 = 10
2

3 , then
dy
dx

=

A. -
y
x

B. 
y
x

C. -3
y
x

D. 3
y
x

Answer: C

Watch Video Solution

√
√

√
√

321. If y = √x - 1 + √x + 1, then
dy
dx

https://dl.doubtnut.com/l/_SmpsKT0z2ODw
https://dl.doubtnut.com/l/_PSk0yQKhCBcF
https://dl.doubtnut.com/l/_ynuar1YjvIpa


A. 
2y

√x2 - 1

B. 
-2y

√x2 - 1

C. 
y

2√x2 - 1

D. 
-y

2√x2 - 1

Answer: C

Watch Video Solution

322. If x3 + y3 + 4x3y = 0, then
dy
dx

=

A. 
3x2(1 + 4y)

4x3 + 3y2

B. 
-3x2(1 + 4y)

4x3 + 3y2

C. 
4x3(1 + 4y)

3x2 + 3y2

D. -
4x3(1 + 4y)

3x2 + 3y2( )

https://dl.doubtnut.com/l/_ynuar1YjvIpa
https://dl.doubtnut.com/l/_aQhhyIkAsufT


Answer: B

Watch Video Solution

323. If x + √xy + y = 1, then
dy
dx

=

A. 
2√xy + x

2√xy + y

B. 
2√xy + y

2√xy + x

C. -
2√xy + x

2√xy + y

D. -
2√xy + y

2√xy + x

Answer: D

Watch Video Solution

( )
( )

324. If y3 - 3y2x = x3 + 3x2y, then
dy
dx

=

https://dl.doubtnut.com/l/_aQhhyIkAsufT
https://dl.doubtnut.com/l/_rBK40St1Jfss
https://dl.doubtnut.com/l/_UaTuTd1JnAHu


A. 
x2 + 2xy + y2

y2 - 2xy - x2

B. 
x2 + 2xy + y2

y2 + 2xy - x2

C. 
x2 - 2xy - y2

y2 + 2xy + x2

D. 
x2 + 2xy - y2

y2 + 2xy + x2

Answer: A

Watch Video Solution

325. if √y + x + √y - x = c then find 
dy
dx

A. 
y
x

-
y2

x2 - 1

B. 
y
x

+
y2

x2 - 1

C. 
y
x

- 1 -
y2

x2

D. 
y
x

+ 1 -
y2

x2

√
√
√
√

https://dl.doubtnut.com/l/_UaTuTd1JnAHu
https://dl.doubtnut.com/l/_0326Lnm3rNBv


Answer: A

Watch Video Solution

326. Find 
dy
dx

in the following:x2 + xy + y2 = 100

A. 
x + 2y
2x + y

B. 
2x + y
x + 2y

C. -
x + 2y
2x + y

D. -
2x + y
x + 2y

Answer: D

Watch Video Solution

( )
( )

327. If x4 + y4 + 5x3y = 0then
dy
dx =

https://dl.doubtnut.com/l/_0326Lnm3rNBv
https://dl.doubtnut.com/l/_ydWwya8JfbNw
https://dl.doubtnut.com/l/_kTBW2sJWuE2x


A. 
-x2 4y3 + 5x3

15y + 4x

B. 
x2 4y3 + 5x3

15y + 4x

C. 
-x2 15y3 + 5x3

4y + 4x

D. 
x2 15y3 + 5x3

4y + 4x

Answer: C

Watch Video Solution

( )

( )

( )

( )

328. If y√1 - x2 + x√1 - y2 = 1, then
dy
dx

=

A. 
-2√1 - y2

√1 - x2

B. 
2√1 - y2

√1 - x2

C. 
-√1 - y2

2√1 - x2

https://dl.doubtnut.com/l/_kTBW2sJWuE2x
https://dl.doubtnut.com/l/_af114fopiVzm


D. 
x2 15y3 + 5x3

4y + 4x

Answer: D

Watch Video Solution

( )

329. If x = y√1 - y2, then
dy
dx

A. 
√1 - y2

1 + 2y2

B. 
√1 - y2

1 - 2y2

C. 0

D. x

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_af114fopiVzm
https://dl.doubtnut.com/l/_ZqCFmto0WKHG


330. x√1 + y + y√1 + x = 0 then 
dy
dx

=

A. 1 + x

B. (1 + x) - 2

C. - (1 + x) - 1

D. - (1 + x) - 2

Answer: D

Watch Video Solution

331. If 
x

√1 + x
+

y

√1 + y
= 0 and x ≠ y, then

dy
dx =

A. 1 + x

B. (1 + x) - 2

C. - (1 + x) - 1

D. - (1 + x) - 2

https://dl.doubtnut.com/l/_ttBq9u2pycPv
https://dl.doubtnut.com/l/_gLgKxI6CY3j5


Answer: D

Watch Video Solution

332. ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

A. 
-y
x

B. 
y
x

C. 
-x
y

D. 
x
y

Answer: B

Watch Video Solution

333. ax2 + 2hxy + by2 + 2gx + 2fy + c = 0

A. -
hx + by + f
ax + hy + g( )

https://dl.doubtnut.com/l/_gLgKxI6CY3j5
https://dl.doubtnut.com/l/_bKkKhozJeu9T
https://dl.doubtnut.com/l/_eq4y5tvasX9p


B. -
ax + hy + g
hx + by + f

C. 
ax + hy + g
hx + by + f

D. 
hx + by + f
ax + hy + g

Answer: B

Watch Video Solution

( )

334. If √1 - x2 + √1 - y2 = a(x - y), then 
dy
dx

 equals

A. 
1 - x2

1 - y2

B. -
1 - x2

1 - y2

C. 
1 - y2

1 - x2

D. -
1 - y2

1 - x2

Answer: C

√
√

√
√

https://dl.doubtnut.com/l/_eq4y5tvasX9p
https://dl.doubtnut.com/l/_K1aoNJwiFeMu


Watch Video Solution

335. If √1 - x2 + √1 - y2 = a(x - y), then 
dy
dx  equals

A. 
√1 - y2 a√1 - y2 - y

√1 - x2 a√1 - x2 + x

B. 
√1 - x2 a√1 - x2 + x

√1 - y2 a√1 - y2 - y

C. 
√1 - x2 a√1 - y2 - y

√1 - y2 a√1 - x2 + x

D. 
√1 - y2 a√1 - x2 + x

√1 - x2 a√1 - y2 - y

Answer: D

Watch Video Solution

( )
( )
( )
( )
( )
( )
( )
( )

https://dl.doubtnut.com/l/_K1aoNJwiFeMu
https://dl.doubtnut.com/l/_wVl7OZbzJUZR
https://dl.doubtnut.com/l/_I38SyOqAfxeV


336. If y√1 - x2 + x√1 - y2 = 1, then
dy
dx

=

A. 
1 - y2

1 - x2

B. -
1 - y2

1 - x2

C. 
1 - x2

1 - y2

D. -
1 - x2

1 - y2

Answer: B

Watch Video Solution

√
√

√
√

337. If xm. yn = (x + y)m+n then 
dy
dx is:

A. 
-y
x

B. 
y
x

C. 
-x
y

https://dl.doubtnut.com/l/_I38SyOqAfxeV
https://dl.doubtnut.com/l/_7qJ4U05P8Yl9


D. 
x
y

Answer: B

Watch Video Solution

338. x5. y7 = (x + y)12

A. 
-x
y

B. 
x
y

C. 
-y
x

D. 
y
x

Answer: D

Watch Video Solution

339. If x4y5 = (x + y)m+ 1 and
dy
dx

=
y
x

, thenm =

https://dl.doubtnut.com/l/_7qJ4U05P8Yl9
https://dl.doubtnut.com/l/_63g6WyXThhlU
https://dl.doubtnut.com/l/_HEtKj11iwSQy


A. 8

B. 4

C. 5

D. 20

Answer: A

Watch Video Solution

340. If xnyn = (x + y)n, then
dy
dx

=

A. 
-1

(x - 1)2

B. 
1

(x - 1)2

C. 
-x

(x - 1)2

D. 
x

(x - 1)2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HEtKj11iwSQy
https://dl.doubtnut.com/l/_ROwdMsWMDaPW


341. If xnyn = (x + y)n, then
dy
dx =

A. 
y2

x2

B. 
-y2

x2

C. 
x2

y2

D. 
-x2

y2

Answer: B

Watch Video Solution

342. If xmyn = (x + y)m+n, then 
dy
dx x= 1 , y= 2

 is equal to

A. 
2m
n

B. 
m
2n

C. 2

( )

https://dl.doubtnut.com/l/_ROwdMsWMDaPW
https://dl.doubtnut.com/l/_1QjS8fxJxuS1
https://dl.doubtnut.com/l/_s5I7gImRPMQg


D. 
1
2

Answer: C

Watch Video Solution

343. If x3 + x2y + xy2 + y3 = 81, then
dy
dx

=

A. -
3x2 + 2xy + y2

x2 + 2xy + 3y2

B. -
x2 + 2xy + 3y2

3x2 + 2xy + y2

C. 
3x2 + 2xy + y2

x2 + 2xy + 3y2

D. 
x2 + 2xy + 3y2

3x2 + 2xy + y2

Answer: A

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_s5I7gImRPMQg
https://dl.doubtnut.com/l/_xtwKKAQ943HH


344. If xy =
π
2
then

dy
dx

=

A. 
y
x

B. 
-y
x

C. 
x
y

D. 
-x
y

Answer: B

Watch Video Solution

345. If x2y2 = tan - 1√x2 + y2 + cot - 1√x2 + y2, then
dy
dx =

A. 
-x
y

B. 
x
y

C. 
-y
x

D. 
y
x

https://dl.doubtnut.com/l/_wmeij4onOJje
https://dl.doubtnut.com/l/_9WXURaIDdW3v


Answer: C

Watch Video Solution

346. If cos(xy) = x + y, then
dy
dx

=

A. -
1 + xsin(xy)
1 + ysin(xy)

B. -
1 + ysin(xy)
1 + xsin(xy)

C. 
1 + ysin(xy)
1 + xsin(xy)

D. 
1 + xsin(xy)
1 + ysin(xy)

Answer: B

Watch Video Solution

( )
( )

347. If xsin(a + y) + sinacos(a + y) = 0then (dy)/(dx)

A. 
- sina

sin2(a + y)

https://dl.doubtnut.com/l/_9WXURaIDdW3v
https://dl.doubtnut.com/l/_wztk6NgkMgIE
https://dl.doubtnut.com/l/_NJdqZY0m5oih


B. 
sina

sin2(a + y)

C. 
- sin2(a + y)

sina

D. 
sin2(a + y)

sina

Answer: D

Watch Video Solution

348. If cosy = xcos(a + y)
, with cosa ≠ ± 1
, prove that

dy
dx =

cos2(a + y)
sina 
.

A. 
-cos(a + y)

sin(a + y) - xsiny

B. 
cos(a + y)

sin(a + y) - siny

C. 
-cos(a + y)

xsin(a + y) - siny

D. 
cos(a + y)

xsin(a + y) - siny

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NJdqZY0m5oih
https://dl.doubtnut.com/l/_xXBB6S3zssGe


349. If cosy = xcos(a + y)
, with cosa ≠ ± 1
, prove that

dy
dx

=
cos2(a + y)

sina

.

A. 
cos2(a + y)

sina

B. 
-cos2(a + y)

sina

C. 
sina

cos2(a + y)

D. 
- sina

cos2(a + y)

Answer: A

Watch Video Solution

350. If xsiny + ysinx = 0, then
dy
dx

=

A. -
ycosx + siny
xcosy + sinx

B. -
xcosy + sinx
ycosx + siny

C. 
xcosy + sinx
ycosx + siny

D. 
ycosx + siny
xcosy + sinx

( )
( )

https://dl.doubtnut.com/l/_rGwgq7QZphRF
https://dl.doubtnut.com/l/_L3DtU9nHiWkg


Answer: A

Watch Video Solution

351. If siny = xsin(a + y), then
dy
dx

A. 
- sin2(a + y)

sina

B. 
sin2(a + y)

sina

C. 
- sin2(a + y)

siny

D. 
sin2(a + y)

siny

Answer: B

Watch Video Solution

352. If siny = xsin(a + y), then show that: 
dy
dx

=
sina

1 - 2x cosa + x2 .

A. 
sina

1 + 2xcosa + x2

https://dl.doubtnut.com/l/_L3DtU9nHiWkg
https://dl.doubtnut.com/l/_RZkD5LdQ9bX9
https://dl.doubtnut.com/l/_OdUcKhKjl6mf


B. 
- sina

1 + 2xcosa + x2

C. 
sina

1 - 2xcosa + x2

D. 
- sina

1 - 2xcosa + x2

Answer: C

Watch Video Solution

353. If sin^(2) x + cos^(2) y = 1 , " then " (dy)/(dx)` is equal to

A. 
sin2x
sin2y

B. 
- sin2x
sin2y

C. 
sin2y
sin2x

D. 
- sin2y
sin2x

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OdUcKhKjl6mf
https://dl.doubtnut.com/l/_qtRIV14KYGMj
https://dl.doubtnut.com/l/_f59pUmudOwr6


354. If sin(x + y) + cos(x + y) = 1, then
dy
dx

=

A. -1

B. 1

C. 0

D. 2

Answer: A

Watch Video Solution

355. If sin2y + cos(xy) = π, then
dy
dx =

A. 
-ysin(xy)

sin2y - xsin(xy)

B. 
ysin(xy)

sin2y - xsin(xy)

C. 
-xsin(xy)

sin2y - xsin(xy)

D. 
xsin(xy)

sin2y - xsin(xy)

https://dl.doubtnut.com/l/_f59pUmudOwr6
https://dl.doubtnut.com/l/_T4lu57Z8xs5X


Answer: B

Watch Video Solution

356. If cos(xy) = sin(x + y), then
dy
dx

A. 
cos(x + y) + ysin(xy)
cos(x + y) + xsin(xy)

B. -
cos(x + y) + ysin(xy)
cos(x + y) + xsin(xy)

C. 
cos(x + y) + xsin(xy)
cos(x + y) + ysin(xy)

D. 

Answer: B

Watch Video Solution

( )

357. If sin
x + y

2
= sinx + siny and sin

x - y
2

≠ 0, then
dy
dx

=

A. 1

( ) ( )

https://dl.doubtnut.com/l/_T4lu57Z8xs5X
https://dl.doubtnut.com/l/_L72Bf72OipgW
https://dl.doubtnut.com/l/_vIQKQdR05Uc1


B. -1

C. 2

D. -2

Answer: A

Watch Video Solution

358. If yex + xey = 1, then
dy
dx

=

A. 
ex + xey

ey + yex

B. 
ey + yex

ex + xey

C. -
ex + xey

ey + yex

D. -
ey + yex

ex + xey

Answer: D

Watch Video Solution

( )
( )

https://dl.doubtnut.com/l/_vIQKQdR05Uc1
https://dl.doubtnut.com/l/_pv8WdF6bGvYV


359. If xy = e ( x - y ) , 
then find 
dy
dx

A. 
y - ex - y

x + ex - y

B. 
ex - y - y

ex - y + x

C. 
x + ex - y

y - ex - y

D. 
ex - y + x

ex - y - y

Answer: B

Watch Video Solution

360. If xy = e ( x - y ) , 
then find 
dy
dx

A. 
x(y + 1)
y(x - 1)

B. 
x(1 + y)
y(1 - x)

C. 
y(x - 1)
x(y + 1)

https://dl.doubtnut.com/l/_pv8WdF6bGvYV
https://dl.doubtnut.com/l/_6VFNJMMPhtew
https://dl.doubtnut.com/l/_TxzbgsONJcsa


D. 
y(1 - x)
x(1 + y)

Answer: C

Watch Video Solution

361. If y = eax, then
dy
dx

=

A. - logy

B. logy

C. -ylogy

D. ylogy

Answer: D

Watch Video Solution

362. If y = exy, then
dy
dx =

https://dl.doubtnut.com/l/_TxzbgsONJcsa
https://dl.doubtnut.com/l/_TvxDSFezn608
https://dl.doubtnut.com/l/_oS6eIALf2FyE


A. 
y(1 + xy)
x(1 - xy)

B. 
-y(1 + xy)
x(1 - xy)

C. 
x(1 - xy)
y(1 + xy)

D. 
-x(1 - xy)
y(1 + xy)

Answer: A

Watch Video Solution

363. If ex+ y = cos(x - y), then
dy
dx

=

A. -
ex+ y + sin(x - y)

ex+ y - sin(x - y)

B. -
ex+ y - sin(c - y)

ex+ y + sin(x - y)

C. 
ex+ y + sin(x - y)

ex+ y - sin(x - y)

D. 
ex+ y - sin(x - y)

ex+ y + sin(x - y)

Answer: A

( )
( )

https://dl.doubtnut.com/l/_oS6eIALf2FyE
https://dl.doubtnut.com/l/_MHJ5Nv8izvdL


Watch Video Solution

364. If siny + e - xcosy = e, then the value of 
dy
dx

 at (1, π) is -

A. 0

B. -1

C. -e

D. e

Answer: D

Watch Video Solution

365. If (x - y)e
x

x - y = k, then
dy
dx =

A. 
x - 2y
y

B. 
2y - x
y

https://dl.doubtnut.com/l/_MHJ5Nv8izvdL
https://dl.doubtnut.com/l/_YOZYu7E5tteP
https://dl.doubtnut.com/l/_vv4Mre5hCMDv


C. 
2x - y
y

D. 
y - 2x
y

Answer: B

Watch Video Solution

366. If e2x + e2y = e2 ( x+ y ) , then
dy
dx

=

A. e2 ( x+ y ) 1 - e2y

1 - e2x

B. -e2 ( x+ y ) 1 - e2y

1 - e2x

C. e2 ( x - y ) 1 - e2y

1 - e2x

D. -e2 ( x - y ) 1 - e2y

1 - e2x

Answer: D

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_vv4Mre5hCMDv
https://dl.doubtnut.com/l/_9BT7cOifgEzN


367. If 2x + 2y = 2x+ y, then
dy
dx =

A. -ey - x

B. ey - x

C. -ex - y

D. ex - y

Answer: A

Watch Video Solution

368. If ex + ey = ex+ y, then
dy
dx

=

A. ex - y 1 - ey

1 - ex

B. -ex - y 1 - ey

1 - ex

( )
( )

https://dl.doubtnut.com/l/_9BT7cOifgEzN
https://dl.doubtnut.com/l/_u969DSf0erCD
https://dl.doubtnut.com/l/_h2sh9IfTfeb4


C. ey - x 1 - ey

1 - ex

D. -ey - x 1 - ey

1 - ex

Answer: B

Watch Video Solution

( )
( )

369. If 2x + 2y = 2x+ y
 then 
dy
dx


 has the value equal to
 -
2y

2x

 (b) 

1

1 - 2x

 (c) 

1 - 2y
(d) 
2x 1 - 2y

2y 2x - 1

A. 2x - y 2y - 1

2x - 1

B. 2x - y 2y - 1

1 - 2x

C. 
2x + 2y

2x - 2y

D. 
2x + 2y

2y - 2x

( )
( )

( )
( )

https://dl.doubtnut.com/l/_h2sh9IfTfeb4
https://dl.doubtnut.com/l/_vNyIAhT89vrX


Answer: B

Watch Video Solution

370. If y = 1 + xey, then
dy
dx

=

A. 
ey

y - 2

B. 
ey

2 - y

C. 
xey

y - 2

D. 
xey

2 - y

Answer: B

Watch Video Solution

371. If xy = log(xy), then
dy
dx

=

A. 
x
y

https://dl.doubtnut.com/l/_vNyIAhT89vrX
https://dl.doubtnut.com/l/_ywLszLofCFR0
https://dl.doubtnut.com/l/_AkcZXoD7MyS5


B. 
-x
y

C. 
y
x

D. 
-y
x

Answer: D

Watch Video Solution

372. If sin(x + y) = log(x + y) then 
dy
dx

=

A. -2

B. 2

C. -1

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AkcZXoD7MyS5
https://dl.doubtnut.com/l/_3HQdAwSuEdbU
https://dl.doubtnut.com/l/_dxDUDJKwfS5a


373. If x2 + siny = y2 + log)(x + y), then
dy
dx =

A. 
2x(x + y) - 1

(x + y)cosy - 2y(x + y) - 1

B. 
(x + y)cosy - 2y(x + y) - 1

2x(x + y) - 1

C. 
1 - 2x(x + y)

(x + y)cosy - 2y(x + y) - 1

D. 
(x + y)cosy - 2y(x + y) - 1

1 - 2x(x + y)

Answer: C

Watch Video Solution

374. If log(x + y) = log(xy) + a, then
dy
dx

=

A. 
y
x

B. 
-y
x

C. 
y2

x2

D. 
-y
x

https://dl.doubtnut.com/l/_dxDUDJKwfS5a
https://dl.doubtnut.com/l/_uuyTwkEjL1fS


Answer: D

Watch Video Solution

375. If ex - y = log
x
y

, then
dy
dx

=

A. 
y
x

1 - xex - y

1 - yex - y

B. 
-y
x

1 - xex - y

1 - yex - y

C. 
x
y

1 - yex - y

1 - xex - y

D. 
-x
y

1 - yex - y

1 - xex - y

Answer: A

Watch Video Solution

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_uuyTwkEjL1fS
https://dl.doubtnut.com/l/_DHVxPlOmDLqJ


376. If x = etan - 1 y - x2

x2  then 
dy
dx

=

A. 2x(1 + tan(logx)) - xsec2(logx)

B. 2x(1 + tan(logx)) + xsec2(logx)

C. 2x(1 + tan(logx)) - x2sec2(logx)

D. 2x(1 + tan(logx)) + x2sec2(logx)

Answer: B

Watch Video Solution

( )

377. If xy = ex - y;  then 
dy
dx

 is

A. 
x - y

xlog(ex)

B. 
y - x

xlog(ex)

C. 
x - y
xlogx

D. 
y - x
xlogx

https://dl.doubtnut.com/l/_GZgUjOtqWOxr
https://dl.doubtnut.com/l/_y8PwFKey4Vpc


Answer: A

Watch Video Solution

378. If xy = ex - y;  then 
dy
dx

 is

A. 
1 + x

1 + logx

B. 
logx

(1 + logx)2

C. 
1 - logx
1 + logx

D. 
1 - x

(1 + logx)

Answer: B

Watch Video Solution

379. If xy = 3x - y, then
dy
dx =

A. 
xlog3 - y
xlog(3x)

https://dl.doubtnut.com/l/_y8PwFKey4Vpc
https://dl.doubtnut.com/l/_pcamF9jcr8QG
https://dl.doubtnut.com/l/_jgOSyCu95p4q


B. 
y - xlog3
xlog(3x)

C. 
xlog3 - y
xlog(3 + x)

D. 
y - xlog3
xlog(3 + x)

Answer: A

Watch Video Solution

380. If yy = xsiny, then
dy
dx

=

A. 
1

x(1 + logy - tany)

B. 
-1

x(1 + logy - tany)

C. 
1

x(1 + logy - coty)

D. 
-1

x(1 + logy - coty)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jgOSyCu95p4q
https://dl.doubtnut.com/l/_C3sWlSPPwjD6
https://dl.doubtnut.com/l/_DSirzv8aoECY


381. If xy = yx then
dy
dx =  ?

A. 
-y(xlogy - y)
x(ylogx - x)

B. 
-x(ylogx - x)
y(xlogy - y)

C. 
y(xlogy - y)
x(ylogx - x)

D. 
x(ylogx - x)
y(xlogy - y)

Answer: C

Watch Video Solution

382. If xyyx = (x + y)x+ y. then
dy
dx

=

A. -
y + xlogy - x(1 + log(x + y))
x + ylogx - y(1 + log(x + y))

B. 
y + xlogy - x(1 + log(x + y))
x + ylogx - y(1 + log(x + y))

C. 
y
x

-y - xlogy + x(1 + log(x + y))
x + ylogx - y(1 + log(x + y))

D. 
y
x

y + xlogy - x(1 + log(x + y))
x + ylogx - y(1 + log(x + y))

( )

( )
( )

https://dl.doubtnut.com/l/_DSirzv8aoECY
https://dl.doubtnut.com/l/_KPha3BmvOqFy


Answer: C

Watch Video Solution

383. If sec
x + y
x - y

= a2, then
dy
dx

=

A. 
x
y

B. 
-x
y

C. 
y
x

D. 
-y
x

Answer: C

Watch Video Solution

( )

384. If cos - 1 x2 - y2

x2 + y2 = a, then
dy
dx

=( )

https://dl.doubtnut.com/l/_KPha3BmvOqFy
https://dl.doubtnut.com/l/_zqVFlBBwVohq
https://dl.doubtnut.com/l/_05C9OHWD8s6F


A. 
x
y

B. 
-x
y

C. 
y
x

D. 
-y
x

Answer: C

Watch Video Solution

385. If cos - 1 x2 - y2

x2 + y2 = tan - 1a, prove than 
dy
dx

=
y
x

.

A. 
y2

x2

B. 
x2

y2

C. 
y
x

D. 
x
y

Answer: C

( )

https://dl.doubtnut.com/l/_05C9OHWD8s6F
https://dl.doubtnut.com/l/_H3unN8iwizjG


Watch Video Solution

386. If cos - 1 x2 - y2

x2 + y2 = a, then
dy
dx =

A. 2xtank

B. xtank

C. 2xtan2k

D. xtan2k

Answer: D

Watch Video Solution

( )

387. If tan - 1 x2 - 2y2

x2 + 2y2 = a, show that
dy
dx =

x(1 - tana)
2y(1 + tana)

A. 
x(1 - tana)

2y(1 + tana)

B. 
x(1 + tana)
2y(1 - tana)

( )

https://dl.doubtnut.com/l/_H3unN8iwizjG
https://dl.doubtnut.com/l/_TGEYUokLNSBF
https://dl.doubtnut.com/l/_w9Ul7bUg20RE


C. 
x(1 - tana)
y(1 + tana)

D. 
x(1 + tana)
y(1 - tana)

Answer: A

Watch Video Solution

388. If log10
x2 - y2

x2 + y2 = 2, then
dy
dx

 is equal to

A. 
-99x
101y

B. 
99x
101y

C. 
-99y
101x

D. 
99y
101x

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_w9Ul7bUg20RE
https://dl.doubtnut.com/l/_HJI2YYRAIsb0
https://dl.doubtnut.com/l/_ioY1Ak2sbnZs


389. IF log10
x3 - y3

x3 + y3 = 2 then 
dy
dx

=

A. 
-101y2

99x2

B. 
101y2

99x2

C. 
-99x2

101y2

D. 
99x2

101y2

Answer: C

Watch Video Solution

( )

390. If y = sinx + sinx + sinx +  
.

→  ∞
, prove that 
dy
dx

=
cosx

2y - 1

A. 
cosx

1 - 2y

B. 
cosx

2y - 1

C. 
2cosx
1 - 2y

D. 
2cosx
2y - 1

√ √ √

https://dl.doubtnut.com/l/_ioY1Ak2sbnZs
https://dl.doubtnut.com/l/_BPhymU0OL1W3


Answer: B

Watch Video Solution

391. If y = logx + √logx + √logx + ......∞, then
dy
dx

 is

A. 
x

1 - 2y

B. 
x

2y - 1

C. 
1

x(1 - 2y)

D. 
1

x(2y - 1)

Answer: D

Watch Video Solution

√

392. If x = ey+ ey+ ... . ∞
, x > 0, then

dy
dx =

A. 
1 + x
x

https://dl.doubtnut.com/l/_BPhymU0OL1W3
https://dl.doubtnut.com/l/_aLMVZmWPZ84R
https://dl.doubtnut.com/l/_EkDlhGxyE2Rw


B. 
1 - x
x

C. 
1
x

D. 
x

1 + x

Answer: B

Watch Video Solution

393. If y = ex+ ex+ ex+ ... ∞

, then
dy
dx

=

A. 
y

1 - y

B. 
1

1 - y

C. 
y

1 + y

D. 
y

y - 1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EkDlhGxyE2Rw
https://dl.doubtnut.com/l/_POx46jzZBhLh
https://dl.doubtnut.com/l/_xtzuteilx3yG


394. If y = x2 +
1

x2 +
1

x2 + ... ∞

, then
dy
dx =

A. 
-xy2

y2 + 1

B. 
xy2

y2 + 1

C. 
-2xy2

y2 + 1

D. 
2xy2

y2 + 1

Answer: D

Watch Video Solution

395. If y =
sinx

1 +
cosx
sinx

1 + ... . ∞

, then
dy
dx

=

A. 
(1 + y)cosx + ysinx
1 + 2y + cosx - sinx

B. 
(1 + y)(cosx - ysinx)
1 + 2y + cosx - sinx

C. 
(1 + y)cosx + ysinx
1 + 2y + cosx + sinx

https://dl.doubtnut.com/l/_xtzuteilx3yG
https://dl.doubtnut.com/l/_Je3gy2D85lFY


D. 
(1 + y)cosx - ysinx

1 + 2y + cosx + sinx

Answer: A

View Text Solution

396. If x = 4t, y =
4
t

, then
dy
dx

=

A. 
4
x

B. 
-4
x

C. 
16

x2

D. 
-16

x2

Answer: D

Watch Video Solution

397. If x = a t -
1
t

, y = a t +
1
t

, where t be the parameter, then 
dy
dx

= ?( ) ( )

https://dl.doubtnut.com/l/_Je3gy2D85lFY
https://dl.doubtnut.com/l/_xE9VEE5tDlVx
https://dl.doubtnut.com/l/_2aizHhLB5S7r


A. 
y
x

B. 
-x
y

C. 
x
y

D. 
-y
x

Answer: C

Watch Video Solution

398. If x = at2, y = at, then
dy
dx

=

A. 
a
t

B. 
1
2t

C. at

D. t

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2aizHhLB5S7r
https://dl.doubtnut.com/l/_5Q3kTQsdNLQP


399. If x = 2at2, y = at4, then
dy
dx =

A. t2

B. 2t2

C. 
1

t2

D. 
1

2t2

Answer: A

Watch Video Solution

400. If x = a
1 - t2

1 + t2
, y =

2bt

1 + t2
, then

dy
dx

=

A. 
x
y

B. 
-x
y

C. 
b2x

a2y

( )

https://dl.doubtnut.com/l/_5Q3kTQsdNLQP
https://dl.doubtnut.com/l/_s4z7lfoD9hVr
https://dl.doubtnut.com/l/_VKhJj5Ad6oKj


D. 
-b2x

a2y

Answer: D

Watch Video Solution

401. If x =
2t

1 + t2
, y =

1 - t2

1 + t2
, thenf ∈ d

dy
dx

a = 2.

A. 
2t

t2 - 1

B. 
2t

1 - t2

C. 
b2x

a2y

D. 
-b2x

a2y

Answer: A

Watch Video Solution

402. Ifx2 + y2 = t -
1
t

and x4 + y4 = t2 +
1

t2
, then

dy
dx

=

https://dl.doubtnut.com/l/_VKhJj5Ad6oKj
https://dl.doubtnut.com/l/_j1KTn9IQ1rMC
https://dl.doubtnut.com/l/_0jcQgFiXUZl2


A. x3y

B. -x3y

C. 
1

x3y

D. 
-1

x3y

Answer: C

Watch Video Solution

403. if x2 + y2 = t -
1
t

 andx4 + y4 = t2 +
1

t2
then prove that 

dy
dx

=
1

x3y

A. 
y
x

B. 
-y
x

C. 
x
y

D. 
-x
y

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0jcQgFiXUZl2
https://dl.doubtnut.com/l/_cZumR9r2TliU


404. If x = acosθ, y = asinθ, then
dy
dx

=

A. x3y

B. - tanθ

C. cotθ

D. -cotθ

Answer: D

Watch Video Solution

405. If xsint, y = cos2t, then
dy
dx

=

A. 4sint

B. -4sint

C. 2sint

https://dl.doubtnut.com/l/_cZumR9r2TliU
https://dl.doubtnut.com/l/_xE49rMZPq8uE
https://dl.doubtnut.com/l/_HKRof1yPAUMn


D. -2sint

Answer: B

Watch Video Solution

406. If x = acotθ, y = bcosecθ, then
dy
dx

=

A. 
-b
a

cosθ

B. 
b
a

cosθ

C. 
-a
b

cosθ

D. 
a
b

cosθ

Answer: B

Watch Video Solution

407. If x = asecθ, y = btanθ then
dy
dx =  ?

https://dl.doubtnut.com/l/_HKRof1yPAUMn
https://dl.doubtnut.com/l/_ufW2c6DMGWhw
https://dl.doubtnut.com/l/_11QHt5t4TJPq


A. 
b
a

sinθ

B. 
b
a

cosecθ

C. 
a
b

cosθ

D. 
a
b

secθ

Answer: B

Watch Video Solution

408. If x = asecθ, y = atanθ, then atθ =
π
4

,
dy
dx

=

A. √2

B. 2

C. 
1

√2

D. 
1
2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_11QHt5t4TJPq
https://dl.doubtnut.com/l/_70yOeYuPan3K


409. If x = acos3ty = asin3t then 
dy
dx

=

A. -3
y
x

B. 2
y
x

C. -3
x
y

D. 3
x
y

Answer: A

Watch Video Solution

√
√
√

√

410. If x = acos3θ, y = asin3θthen 1 +
dy
dx

2
=?

A. |tanθ|

B. |secθ|

√ ( )

https://dl.doubtnut.com/l/_70yOeYuPan3K
https://dl.doubtnut.com/l/_kLX7Lhm3ZzEb
https://dl.doubtnut.com/l/_HOQZQayi8iBc


C. tanθ

D. secθ

Answer: B

Watch Video Solution

411. If x = acos3t, y = asin3t, then att =
π
3

,
dy
dx

=

A. -√3

B. √3

C. 
-1

√3

D. 
1

√3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HOQZQayi8iBc
https://dl.doubtnut.com/l/_XVgI75qXe2fH


412. If x = asec3θandy = atan3θ, f ∈ d
dy
dx

ahη =
π
3

.

A. 
-√3

2

B. 
√3

2

C. 
-1
2

D. 
1
2

Answer: B

Watch Video Solution

413. If x = sec2θ, y = tan3θ, then at θ
π
3

,
dy
dx

=

A. 
-3√3

2

B. 
3√3

2

C. 
-1

2√3

https://dl.doubtnut.com/l/_QObeeUfOBZWb
https://dl.doubtnut.com/l/_xE3O5ClXU5nw


D. 
1

2√3

Answer: B

Watch Video Solution

414. If x = 3tanθ, y = 3cosecθ, then at θ =
π
6 ,

dy
dx =

A. 
-3√3

2

B. 
3√3

2

C. 
-3
2

D. 
3
2

Answer: A

Watch Video Solution

415. If x = 2cos4(t + 3), y = 3sin4(t + 3), then
dy
dx

=

https://dl.doubtnut.com/l/_xE3O5ClXU5nw
https://dl.doubtnut.com/l/_iXcSmGFfwQ4O
https://dl.doubtnut.com/l/_hUJUvv9leqQI


A. 
2x
3y

B. -
2x
3y

C. 
3y
2x

D. -
3y
2x

Answer: D

Watch Video Solution

√
√

√
√

416. if x = acos4θ, y = asin4θ, then
dy
dx

atθ =
3π
4

 is

A. a2

B. -a2

C. 1

D. -1

Answer: D

https://dl.doubtnut.com/l/_hUJUvv9leqQI
https://dl.doubtnut.com/l/_jHhfirptRdmG


Watch Video Solution

417. If x = sintcos2t, y = costsin2t, then at t =
π
4 ,

dy
dx

A. 
-1
2

B. 
1
2

C. -2

D. 2

Answer: B

Watch Video Solution

418. Ify = 1 - cosθ, x = 1 - sinθ, then
dy
dx

at θ =
π
4
is

A. -1

B. 1

C. 
1
2

https://dl.doubtnut.com/l/_jHhfirptRdmG
https://dl.doubtnut.com/l/_THUSWTO2YzNA
https://dl.doubtnut.com/l/_rnL9tHJjbooq


D. 
1

√2

Answer: A

Watch Video Solution

419. If x = θ - sinθ, y = 1 - cosθ, then at θ =
π
2 ,

dy
dx =

A. 
-1
2

B. 
1
2

C. -1

D. 1

Answer: D

Watch Video Solution

420. If x = a(θ - sinθ), y = a(1 - cosθ), then
dy
dx

=

https://dl.doubtnut.com/l/_rnL9tHJjbooq
https://dl.doubtnut.com/l/_0rTWcemkXLdV
https://dl.doubtnut.com/l/_3UCYsHRk2qrk


A. - tan
θ
2

B. tan
θ
2

C. -cot
θ
2

D. cot
θ
2

Answer: D

Watch Video Solution

( )
( )
( )

( )

421. If x = a√secθ - tanθ, y = a√secθ + tanθ, then
dy
dx

=

A. 
y
x

B. 
-y
x

C. 
x
y

D. 
-x
y

Answer: B

https://dl.doubtnut.com/l/_3UCYsHRk2qrk
https://dl.doubtnut.com/l/_TBTSXMlO0WTV


Watch Video Solution

422. If x = 3cost - 2cos3t, y = 3sint - 2sin3t, then
dy
dx =

A. cott

B. -cott

C. tant

D. - tant

Answer: A

Watch Video Solution

423. If x = 3cosθ - 2cos3θ, y = 3sinθ - 2sin3θ, then at θ =
π
4

,
dy
dx

A. √2

B. 2

C. 1

https://dl.doubtnut.com/l/_TBTSXMlO0WTV
https://dl.doubtnut.com/l/_nO0DuBGqQj1x
https://dl.doubtnut.com/l/_WHgYuEbNbznh


D. -1

Answer: C

Watch Video Solution

424. If x = 2cost + cos2t, y = 2sint - sin2t, then at t =
π
4

,
dy
dx

A. 1 + √2

B. -1 - √2

C. √2 - 1

D. 1 - √2

Answer: D

Watch Video Solution

425. If x = 2cosθ - cos2θ, y = 2sinθ - sin2θ, then
dy
dx =

https://dl.doubtnut.com/l/_WHgYuEbNbznh
https://dl.doubtnut.com/l/_ArdemhCZ0x8n
https://dl.doubtnut.com/l/_CtLyrSmyeeem


A. tan
θ
2

B. - tan
θ
2

C. tan
3θ
2

D. - tan
3θ
2

Answer: C

Watch Video Solution

( )
( )

( )
( )

426. यदि x = asin2θ(1 + cos2θ), y = bcos2θ(1 - cos2θ),  तब dy /dx =

A. 
b

atanθ

B. 
atanθ
b

C. 
a

btanθ

D. 
btanθ
a

Answer: D

https://dl.doubtnut.com/l/_CtLyrSmyeeem
https://dl.doubtnut.com/l/_OVPNsFWqx5L3


Watch Video Solution

427. If x = a(tcost - sint), y = a(tsint + cost), then
dy
dx

=

A. - tant

B. tant

C. -cott

D. cott

Answer: C

Watch Video Solution

428. If x =
sin3t

√cos2t
, y =

cos3t

√cos2t
 show that 

dy
dx

= 0att =
π
6

A. tan3t

B. - tan3t

https://dl.doubtnut.com/l/_OVPNsFWqx5L3
https://dl.doubtnut.com/l/_pCBXwfzZkorP
https://dl.doubtnut.com/l/_Nbkjd6Pr550z


C. cot3t

D. -cot3t

Answer: D

Watch Video Solution

429. If x = a(cosθ + θsinθ), y = a(sinθ - θcosθ), then
dy
dx

=

Watch Video Solution

430. If x = sin(logt), y = log(sint), then
dy
dx =

A. 
tcott

cos(logt)

B. 
- tcott

cos(logt)

C. 
ttant

cos(logt)

D. 
- ttant

cos(logt)

https://dl.doubtnut.com/l/_Nbkjd6Pr550z
https://dl.doubtnut.com/l/_2S73nUVskx1Y
https://dl.doubtnut.com/l/_vGolvDkpI1aE


Answer: A

Watch Video Solution

431. If x = cos(logt), ylog(cost), then
dy
dx

=

A. 
- tcost

sin(logt)

B. 
tcott

sin(logt)

C. 
- ttant

sin(logt)

D. 
ttant

sin(logt)

Answer: D

Watch Video Solution

432. If x = cosθ, y = log tan
θ
2

, then
dy
dx

=

A. sin2θ

( ( ))

https://dl.doubtnut.com/l/_vGolvDkpI1aE
https://dl.doubtnut.com/l/_VKnsVS4l0vdr
https://dl.doubtnut.com/l/_5VJ1Uv3upwh7


B. - sin2θ

C. cosec2θ

D. -cosec2θ

Answer: D

Watch Video Solution

433. If x = sin√t, y = e√t, then
dy
dx

=

A. 
e√t

cos√t

B. 
-e√t

cos√t

C. 
2e√t

cos√t

D. 
-2e√t

cos√t

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5VJ1Uv3upwh7
https://dl.doubtnut.com/l/_K3gALumzff5g


434. Derivative of log(secθ + tanθ) with respect top secθ at 


θ =
π
4

 is

A. 0

B. 1

C. 
1

√2

D. 
1
2

Answer: B

Watch Video Solution

435. If x = a cost + log tan
t
2 , y = asint, then

dy
dx =

A. tant

B. - tant

C. cott

( ( ( )))

https://dl.doubtnut.com/l/_K3gALumzff5g
https://dl.doubtnut.com/l/_0KmzCi6Etfhv
https://dl.doubtnut.com/l/_21TM9BxCcsj5


D. -cott

Answer: A

Watch Video Solution

436. If x =
em + e -m

2
, y =

em - e -m

2
, then

dy
dx

=

A. 
-y
x

B. 
y
x

C. 
-x
y

D. 
x
y

Answer: D

Watch Video Solution

437. If x = esin3t, y = ecos , 3t, then
dy
dx

=

https://dl.doubtnut.com/l/_21TM9BxCcsj5
https://dl.doubtnut.com/l/_xkkM0aFR43oJ
https://dl.doubtnut.com/l/_q4odBSCpKXE8


A. 
-y
x

tan2t

B. 
y
x

tan2t

C. 
-y
x

cot2t

D. 
y
x

cot2t

Answer: C

Watch Video Solution

438. If x = esin3ty = ecos , 3t, then
dy
dx

=

A. 
ylogx
xlogy

B. 
-ylogx
xlogy

C. 
xlogy
ylogx

D. 
-xlogy
ylogx

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_q4odBSCpKXE8
https://dl.doubtnut.com/l/_3dJt4GaYTg6K


439. If x = t +
1
t

a
, y = at+

1

t , f i n d
dy
dx

A. 
a t+

1

t (loga)

t +
1
t

a - 1

B. 

a t +
1
t (loga)

t +
1

t

1 -a

C. 
a t+

1
t - 1 (loga)

t +
1
t

(a - 1 )

D. 
at+

1
t - 1(loga)

t +
1
t

( 1 -a )

Answer: C

Watch Video Solution

( )
( )
( )
( )
( )
( )
( )

( )

https://dl.doubtnut.com/l/_3dJt4GaYTg6K
https://dl.doubtnut.com/l/_xQ3zMZxEyZuT


440. If x = asin - 1t, y = acos - 1t then show that,
dy
dx

= -
y
x

.

A. 
-x
y

B. 
x
y

C. 
-y
x

D. 
y
x

Answer: C

Watch Video Solution

√ √

441. If x = eθ(sinθ - cosθ), y = eθ(sinθ + cosθ) then 
dy
dx  at θ =

π
4 is

A. -1

B. 1

C. -2

D. 2

https://dl.doubtnut.com/l/_QXgXub1WrVEM
https://dl.doubtnut.com/l/_NUHHP1tzYDZu


Answer: B

Watch Video Solution

442. If u = elogcos4x, v = elogsin4x, then
dv
du

=

A. 
v
u

B. 
-v
u

C. 
u
v

D. 
-u
v

Answer: D

Watch Video Solution

443. If x = tlogt, y = tt, then
dy
dx =

A. -e - x

https://dl.doubtnut.com/l/_NUHHP1tzYDZu
https://dl.doubtnut.com/l/_B5BLNiD292ar
https://dl.doubtnut.com/l/_9yCA7Jjp6QFi


B. e - x

C. -ex

D. y

Answer: D

Watch Video Solution

444. If x = √1 + u2, y = log 1 + u2 , then
dy
dx

=

A. 
x
2

B. 
x
4

C. 
4
x

D. 
2
x

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_9yCA7Jjp6QFi
https://dl.doubtnut.com/l/_7KvO62CWuJoB
https://dl.doubtnut.com/l/_qMKybV16Ql14


445. If x = log 1 + t2 and y = t - tan - 1t, then
dy
dx  is equal to

A. 2√ex - 1

B. 2√1 - ex

C. 
√ex - 1

2

D. 
√1 - ex

2

Answer: C

Watch Video Solution

( )

446. If u = log 1 + x2 and v = x - tan - 1x, then
dy
dx

=

A. 
2
x

B. 
-2
x

C. 
x
2

D. 
-x
2

( )

https://dl.doubtnut.com/l/_qMKybV16Ql14
https://dl.doubtnut.com/l/_TtfkjVz6GzUs


Answer: C

Watch Video Solution

447. If x =
1 + logt

t2
, y =

3 + 2logt
t

, f i n d
dy
dx

.

A. 0

B. 2

C. -1

D. 1

Answer: D

Watch Video Solution

448. If x = sin - 1 t

√1 + t2
, y = cos - 1 1

√1 + t2
, show that

dy
dx

= 1( ) ( )

https://dl.doubtnut.com/l/_TtfkjVz6GzUs
https://dl.doubtnut.com/l/_Fm2qvy19w9EN
https://dl.doubtnut.com/l/_ES8mgCsMfXn6


A. 1

B. `-1

C. 2

D. -2

Answer: A

Watch Video Solution

449. x = sin - 1 2θ

1 + θ2 , y = sec - 1 √1 + θ2

A. 
-1
2

B. 
1
2

C. -2

D. 2

Answer: B

( ) ( )

https://dl.doubtnut.com/l/_ES8mgCsMfXn6
https://dl.doubtnut.com/l/_UQjGzYXj5rEW


Watch Video Solution

450. If x = cos - 1 4t3 - 3t , y = tan - 1
√1 - t2

t , then
dy
dx =

A. 
1
3

B. 
-1
3

C. 3

D. -3

Answer: A

Watch Video Solution

( ) ( )

451. If x = tan
1
2

sin - 1 2t

1 + t2
+

1
2

cos - 1 1 - t2

1 + t2
, then y =

2t

1 - t2
,  then 

dy
dx

=

A. -2

( ( ) ( ))

https://dl.doubtnut.com/l/_UQjGzYXj5rEW
https://dl.doubtnut.com/l/_5qi75Wb63fBc
https://dl.doubtnut.com/l/_0XofUkO1hdDT


B. 2

C. 1

D. -1

Answer: C

Watch Video Solution

452. If f(x) = tan - 1x, then derivative of f(tanx)w.r.t.f(cotx) is

A. -1

B. 1

C. 
-1
2

D. 
1
2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_0XofUkO1hdDT
https://dl.doubtnut.com/l/_RyOQ8Y2MkZcE
https://dl.doubtnut.com/l/_GW949rfTj1Mm


453. If f ′ (1) = - 2√2andg ′ √2 = 4
 , then the derivative of f(tanx)
 with

respect to g(secx)
at x =
π
4

, 
is
1 (b) -1
(c) 2
(d) 4

A. 2√2

B. √2

C. 
1

2√2

D. 
1

√2

Answer: D

Watch Video Solution

( )

454. If f′
1
2

= 2, g′
√3

2
= 2 then derivates of f(cosx), w.r.t. g(sinx)at 

x =
π
3

 is

A. √3

B. -√3

( ) ( )

https://dl.doubtnut.com/l/_GW949rfTj1Mm
https://dl.doubtnut.com/l/_FbJTPlxg0pbn


C. 2√3

D. -2√3

Answer: B

Watch Video Solution

455. If y = x - x2, then the derivative of y2 w.r.t x2 is

A. x(x - 1)(1 - 2x)

B. x(1 - x)(1 - 2x)

C. (x - 1)(1 - 2x)

D. (1 - x)(1 - 2x)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_FbJTPlxg0pbn
https://dl.doubtnut.com/l/_EJ2hzjRWCGAt


456. Darivative of sin x w.r.t. cos x is

A. cotx

B. -cotx

C. tanx

D. - tanx

Answer: B

Watch Video Solution

457. excos x w.r.t.exsinx

A. - tan
π
4

+ x

B. tan
π
4

+ x

C. tan
π
4

- x

D. - tan
π
4

- x

( )
( )
( )
( )

https://dl.doubtnut.com/l/_SIrqaOhI3jtH
https://dl.doubtnut.com/l/_mAom8baiIfEk


Answer: C

Watch Video Solution

458. Derivative excosx w.r.t. exsinx , at x = 0 is

A. -1

B. 1

C. 0

D. e

Answer: B

Watch Video Solution

459. excos x w.r.t.exsinx

A. 
2cosx - sinx
2sinx + cosx

https://dl.doubtnut.com/l/_mAom8baiIfEk
https://dl.doubtnut.com/l/_NceB1znBLDJQ
https://dl.doubtnut.com/l/_KR3jmhGi71h4


B. 
sinx - 2cosx
cosx + 2sinx

C. 
2sinx + cosx
2cosx - sinx

D. 
cosx + 2sinx
sinx - 2cosx

Answer: A

Watch Video Solution

460. Derivative 5xw. r. t. log5x is

A. 5x(log5)

B. x5x(log5)

C. 5x(log5)2

D. x5x(log5)2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KR3jmhGi71h4
https://dl.doubtnut.com/l/_EOGdlTtNebqs
https://dl.doubtnut.com/l/_H8z4vsn2oIAX


461. Differential coefficient of log10xw. r. tlogx10 is

A. - log10x
2

B. log10x
2

C. - logx10 2

D. logx10 2

Answer: A

Watch Video Solution

( )
( )
( )

( )

462. log 1 + x2 w.r.t.tan - 1x

A. x

B. 2x

C. 
1
2x

D. 
2
x

( )

https://dl.doubtnut.com/l/_H8z4vsn2oIAX
https://dl.doubtnut.com/l/_feV2VdDHCfml


Answer: B

Watch Video Solution

463. Darivative of tan - 1(logt)w. r. tlog sec - 1t  is

A. 
√1 - t2sec - 1t

1 + (logt)2

B. 
-√1 - t2sec - 1t

1 + (logt)2

C. 
√t2 - 1sec - 1t

1 + (logt)2

D. 
-√t2 - 1sec - 1t

1 + (logt)2

Answer: C

Watch Video Solution

( )

464. Derivative of xx w.r.t xlogx is

https://dl.doubtnut.com/l/_feV2VdDHCfml
https://dl.doubtnut.com/l/_GWDLpmLqYxO5
https://dl.doubtnut.com/l/_A1UeGBCPfLHb


A. 1 + logx

B. xx + logx

C. xx

D. xx - logx

Answer: C

Watch Video Solution

465. Derivative of (logx)xw. r. tlogx is

A. (logx)x log(logx) +
1

logx

B. (logx)x log(logx) +
1

xlogx

C. x(logx)x log(logx) +
1

logx

D. x(logx)x log(logx) +
1

xlogx

Answer: C

( )
( )
( )
( )

https://dl.doubtnut.com/l/_A1UeGBCPfLHb
https://dl.doubtnut.com/l/_2BykarDXiFQr


Watch Video Solution

466. Differentiate (cosx)sinx w.r.t (sinx)cosx

A. 
(sinx)cosx(cosxcotx - sinxlog(sinx))

(cosx)sinx(cosxlog(cosx) - sinxtanx)

B. 
- (sinx)cosx(cosxcotx - sinxlog(sinx))

(cosx)sinx(cosxlog(cosx) - sinxtanx)

C. 
(cosx)sinx(cosxlog(cosx) - sinxtanx)

- (sinx)cosx(cosxcotx - sinxlog(sinx))

D. 
- (cosx)sinx(cosxlog(cosx) - sinxtanx)

(sinx)cosx(cosxcotx - sinxlog(sinx))

Answer: C

Watch Video Solution

467. cos - 1(sinx)w. r. t. tan - 1x

A. - 1 + x2

B. 1 + x2

C. 
-1

1 + x2

( )

https://dl.doubtnut.com/l/_2BykarDXiFQr
https://dl.doubtnut.com/l/_B0xUPbUZLz5H
https://dl.doubtnut.com/l/_PpAeTcfgtM1x


D. 
1

1 + x2

Answer: A

Watch Video Solution

468. tan - 1 x

√1 - x2
w.r.t.sec - 1 1

2x2 - 1

A. 
1
2

B. 
-1
2

C. 2

D. -2

Answer: B

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_PpAeTcfgtM1x
https://dl.doubtnut.com/l/_fLrmEyq4v9nK


469. Darivative of tan - 1 x

√1 - x2
w. r. t. sin - 1 3x - 4x3  is

A. 
1

√1 - x2

B. 
3

√1 - x2

C. 3

D. 
1
3

Answer: D

Watch Video Solution

( ) ( )

470. Differential coefficient of tan - 1 1 - x2

1 + x2 
w.r.t. cos - 1 x2 
is equal to.....

A. 
-1
2

B. 
1
2

C. 1

√ ( )

https://dl.doubtnut.com/l/_MCzNmaFSGTJa
https://dl.doubtnut.com/l/_h0tP2TBUXQrV


D. 0

Answer: B

Watch Video Solution

471. [" (v) Differentiate "log[(sqrt(1+x^(2))+x)/(sqrt(1+x^(2))-x)]" w.r.t."],

[cos(log x)]

A. 
x

√1 + x2sin(logx)

B. 
-x

√1 + x2sin(logx)

C. 
2x

√1 + x2sin(logx)

D. 
-2x

√1 + x2sin(logx)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_h0tP2TBUXQrV
https://dl.doubtnut.com/l/_rBMPfBSqYkMO


472. Derivative of tan - 1 a - x
1 + ax

w. r. t. sin - 1 3x - 4x3  is

A. 
-3 1 + x2

√1 + x2

B. 
3 1 + x2

√1 + x2

C. 
-√1 - x2

3 1 + x2

D. 
√1 - x2

3 1 + x2

Answer: C

Watch Video Solution

( ) ( )

( )

( )

( )

( )

473. Derivative of tan - 1
√1 + x2 - 1

x
w. r. t. tan - 1

2x√1 - x2

1 - 2x2  is( ) ( )

https://dl.doubtnut.com/l/_G6GNsLbmD8YK
https://dl.doubtnut.com/l/_HUSvG8Ty56XL


A. 
-√1 - x2

4 1 + x2

B. 
√1 - x2

4 1 + x2

C. 
-√1 - x2

1 + x2

D. 
√1 - x2

1 + x2

Answer: B

Watch Video Solution

( )

( )

474. Derivative of tan - 1
√1 + x2 - 1

x
w. r. cos - 1

1 + √1 + x2

2√1 + x2
 is

A. 1

B. -1

C. 2

D. -2

( ) √

https://dl.doubtnut.com/l/_HUSvG8Ty56XL
https://dl.doubtnut.com/l/_wW0oTW8wN7V1


Answer: A

Watch Video Solution

475. Find the differential coefficient of : 

tan - 1x

1 + tan - 1x
w.r.t. tan - 1x

A. 
-1

2 1 + tan - 1x 2

B. 
1

1 + tan - 1x 2

C. 
-1

1 + tan - 1x

D. 
1

1 + tan - 1x

Answer: B

Watch Video Solution

( )

( )

476. If x2 + 6xy + y2 = 10,  Show that 
d2y

dx2 =
80

(3x + y)3 .

https://dl.doubtnut.com/l/_wW0oTW8wN7V1
https://dl.doubtnut.com/l/_gn9BJ7MPXSOS
https://dl.doubtnut.com/l/_OpFqHilbTPLK


A. 
-40

(3x + y)3

B. 
40

(3x + y)3

C. 
-80

(3x + y)3

D. 
80

(3x + y)3

Answer: D

Watch Video Solution

477. If y = x3 + 5x2 - 3x + 10, then
d2y

dx2 =

A. 3x2 + 10x

B. 3x2 + 5x

C. 3x + 5

D. 6x + 10

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OpFqHilbTPLK
https://dl.doubtnut.com/l/_k5zPsl41YpzS


478. If ax2 + 2hxy + by2 = 0, show that
d2y

dx2 = 0

A. 0

B. 1

C. 
y
x

D. 
x
y

Answer: A

Watch Video Solution

479. If ax2 + 2hxy + by2 = 1, then
d2y

dx2 
is

h2 - ab

(hx + by)2 
 (b) 
ab - h2

(hx + by)2 

h2 + ab

(hx + by)2

(d) none of these

A. - h2 + ab

B. - h2 - ab

( )
( )

https://dl.doubtnut.com/l/_k5zPsl41YpzS
https://dl.doubtnut.com/l/_j2BXEpAl5luF
https://dl.doubtnut.com/l/_O4Zf8S41auER


C. h2 + ab

D. h2 - ab

Answer: D

Watch Video Solution

480. If xmyn = (x + y)m+n, prove that 
d2y

dx2 = 0.

A. 0

B. m

C. n

D. mn

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_O4Zf8S41auER
https://dl.doubtnut.com/l/_uy6I1FI0teCr


481. If y = axn+ 1 + bx -n
, then x2d
2y

dx2 = 
n(n - 1)y
(b) n(n + 1)y
(c) ny
(d) n2y

A. ny

B. n2y

C. n(n + 1)y

D. n(n - 1)y

Answer: C

Watch Video Solution

482. If y2 = ax2 + bx + c
 , then y3d
2y

dx2 
 is
 (a) a constant (b) a function of x

only
(c) a function of y
only (d) a function of x
and y

A. a function of x and y

B. a function of y only

C. a function of x only

https://dl.doubtnut.com/l/_eSTiCuLq4meo
https://dl.doubtnut.com/l/_cenhLTIh2EXp


D. a constant

Answer: D

Watch Video Solution

483. if (x - a)2 + (y - b)2 = c2 then 

1 +
dy

dx

2

d2y

dx2

= ?

A. a constant

B. dependent of a and b

C. a constant, independent of a and b

D. dependent of a, b and c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_cenhLTIh2EXp
https://dl.doubtnut.com/l/_OH7zv6BFBhxM


484. If f(x) = 1 + nx +
n(n - 1)

2
x2 +

n(n - 1)(n - 2)
6

x3


+... + nx, thenf′ ′ (1) is equal to

A. n(n - 1)2n - 2

B. n(n - 1)2n

C. n(n - 1)2n - 1

D. (n - 1)2n - 1

Answer: A

Watch Video Solution

485. If y = 5 cosx - 3 sinx, prove that 
d2y

dx2 + y = 0.

A. -y

B. y

C. 5y

https://dl.doubtnut.com/l/_2iLkQv6tyVau
https://dl.doubtnut.com/l/_kNQmktFk71s8


D. -3y

Answer: A

Watch Video Solution

486. If y = secx - tanx, then
d2y

dx2  =

A. 
1
4

sec2 π
4

-
x
2

tan
π
4

-
x
2

B. 
-1
4

sec2 π
4

-
x
2

tan
π
4

-
x
2

C. 
1
2

sec2 π
4

-
x
2

tan
π
4

-
x
2

D. 
-1
2

sec2 π
4

-
x
2

tan
π
4

-
x
2

Answer: C

Watch Video Solution

( ) ( )
( ) ( )

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_kNQmktFk71s8
https://dl.doubtnut.com/l/_GrMHekGBo6QT


487. If y = cos2 3x
2

- sin2 3x
2

, then
d2y

dx2  =

A. -3√1 - y2

B. 3√1 - y2

C. 9y

D. -9y

Answer: D

Watch Video Solution

( ) ( )

488. If y = sinx√cosx, then
d2y

dx2  =

A. 
5
2

sinx√cosx -
sin3

4cosx√cosx

B. 
-5
2

sinx√cosx -
sin3

4cosx√cosx

C. 
-5
2

sinx√cosx +
sin3

4cosx√cosx

D. 
5
2

sinx√cosx +
sin3

4cosx√cosx

https://dl.doubtnut.com/l/_oJ3uCMWyX2cT
https://dl.doubtnut.com/l/_0vY4BXJWgcQ0


Answer: B

Watch Video Solution

489. If y = cos(logx), then
d2y

dx2 =

A. 
cos(logx) - sin(logx)

x

B. 
sin(logx) - cos(logx)

x

C. 
cos(logx) - sin(logx)

x2

D. 
sin(logx) - cos(logx)

x2

Answer: D

Watch Video Solution

490. The number of values of b, 
 for which in an acute triangle ABC
 , the

coordinates of orthocentre H
are (4, b)
, that of centroid G
are (b, 2b - 8)
,

and that of circumcenter S are ( - 4, 8)
is_____

https://dl.doubtnut.com/l/_0vY4BXJWgcQ0
https://dl.doubtnut.com/l/_oS7fMKS4DdZv
https://dl.doubtnut.com/l/_A8ZWneAMcw2B


A. 1

B. 0

C. m2 aemx - be -mx

D. m aemx - be -mx

Answer: B

Watch Video Solution

( )
( )

491. If y = axb2x - 1, then
d2y

dx2 =

A. y2logab2

B. y log ab2 2

C. ylogab2

D. y log a2b 2

Answer: B

Watch Video Solution

( ( ) )

( ( ) )

https://dl.doubtnut.com/l/_A8ZWneAMcw2B
https://dl.doubtnut.com/l/_tBTWeHa7zp52


492. If y = cos - 1x
, find 
d2y

dx2 
in terms of y
alone.

A. -cosecycoty

B. cosecycoty

C. -cosec2ycoty

D. cosec2ycoty

Answer: C

Watch Video Solution

493. if y = tan - 1x ,find 
d2y

dx2 .

A. 
-2x

1 + x2 2

B. 
2x

1 + x2 2

( )

( )

https://dl.doubtnut.com/l/_tBTWeHa7zp52
https://dl.doubtnut.com/l/_AvAA1NIs0Fjn
https://dl.doubtnut.com/l/_3ibyyERm3alr


C. 

D. 
x

1 + x2 2

Answer: A

Watch Video Solution

( )

494. If y = tan - 1x 2, then x2 + 1 2d2y

dx2 + 2x x2 + 1
dy
dx

=

A. 
2 1 + 2xtan - 1x

1 + x2 2

B. 
2 1 - 2xtan - 1x

1 + x2 2

C. 
2 1 + xtan - 1x

1 + x2 2

D. 
2 1 - xtan - 1x

1 + x2 2

( ) ( ) ( )

( )
( )

( )
( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_3ibyyERm3alr
https://dl.doubtnut.com/l/_FZegRPaLWSMc


Answer: B

Watch Video Solution

495. If y = log
x2

ex
, then

d2y

dx2  =

A. 
x
2

B. 
1
2

C. 
2
2x

D. 
-2

x2

Answer: D

Watch Video Solution

( )

496. If y = log(sinx), find 
d2y

dx2

https://dl.doubtnut.com/l/_FZegRPaLWSMc
https://dl.doubtnut.com/l/_x050b1N7oPhg
https://dl.doubtnut.com/l/_ozH4psY9Juzj


A. -cosecxcotx

B. secxtanx

C. -cosec2x

D. sec2x

Answer: C

Watch Video Solution

497. If y = sinx + ex, then
d2x

dy2 =

A. 
1

-sinx + ex

B. 
sinx - ex

cosx + ex 3

C. 
sinx - ex

cosx + ex 2

D. 
sinx + ex

cosx + ex 3

( )

( )

( )

https://dl.doubtnut.com/l/_ozH4psY9Juzj
https://dl.doubtnut.com/l/_lpAm9bFogTEK


Answer: B

Watch Video Solution

498. If x2 + y2 = 1, then
d2y

dx2  =

A. 
-1

y3

B. 
1
3

C. 
-y

x2

D. 
y

x2

Answer: A

Watch Video Solution

499. If sin(x + y) + cos(x + y) = log(x + y), then
d2y

dx2 =

A. 
-y
x

https://dl.doubtnut.com/l/_lpAm9bFogTEK
https://dl.doubtnut.com/l/_irmulWhJcc1e
https://dl.doubtnut.com/l/_zA1i63SlnDx7


B. -1

C. 0

D. 1

Answer: C

Watch Video Solution

500. If sec
x + y
x - y

= a2, then
d2y

dx2 = ......

A. y

B. x

C. 
y
x

D. 0

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_zA1i63SlnDx7
https://dl.doubtnut.com/l/_Kc64ORp6TAGh


501. If ey + xy = e, the ordered pair 
dy
dx

,
d2y

dx2  at x = 0 is equal to

A. e2

B. e

C. 
1

e2

D. 
1
e

Answer: C

Watch Video Solution

( )

502. If y = xx
, find 
d2y

dx2 
.

A. xx (1 + logx)2 +
1
x

B. xx (1 + logx)2 -
1
x

C. xx 1 + logx +
1
2

( )
( )
( )

https://dl.doubtnut.com/l/_JSHPwktYEeUX
https://dl.doubtnut.com/l/_5hdsj7mIECnT


D. xx 1 + logx -
1
x

Answer: A

Watch Video Solution

( )

503. If y = x2(sinx + cosx), then
d2y

dx2 =

A. 2 - x2 (sinx + cosx) + 4x(cosx - sinx)

B. 2 - x2 (sinx + cosx) - 4x(cosx - sinx)

C. x2 - 2 (sinx + cosx) + 4x(cosx - sinx)

D. x2 - 2 (sinx + cosx) - 4x(cosx - sinx)

Answer: A

Watch Video Solution

( )
( )
( )
( )

504. If y = xlogx, then
d2y

dx2 =

https://dl.doubtnut.com/l/_5hdsj7mIECnT
https://dl.doubtnut.com/l/_oNh4IAC0J6UL
https://dl.doubtnut.com/l/_HEE4bHWBjQ6g


A. 
1
x

B. 
-1

x2

C. 1

D. -1

Answer: A

Watch Video Solution

505. If y = exsin3x, then
d2y

dx2 =

A. ex(8sin3x - 6cos3x)

B. ex(6cos3x - 8sin3x)

C. `e^(x) (3sin 3x - 4cos 3x )

D. ex(3cos3x - 4sin3x)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HEE4bHWBjQ6g
https://dl.doubtnut.com/l/_XKLF3D2LFRj5


506. If y = e4xcos5x, then
d2y

dx2 =

A. -e4x(9cos5x + 20sin5x)

B. e4x(9cos5x + 20sin5x)

C. -e4x(9cos5x + 40sin5x)

D. e4x(9cos5x + 40sin5x)

Answer: C

Watch Video Solution

507. If y = e2xtanx, then
d2y

dx2 =

A. e2x(1 + tanx) 2 + tanx + tan2x

B. 2e2x(1 + tanx) 2 + tanx + tan2x

C. e2x(1 + tanx) 1 + tanx + tan2x

( )
( )

( )

https://dl.doubtnut.com/l/_XKLF3D2LFRj5
https://dl.doubtnut.com/l/_gW180L0WxDZO
https://dl.doubtnut.com/l/_1ofdXQ1PAHeI


D. 2e2x(1 + tanx) 1 + tanx + tan2x

Answer: B

Watch Video Solution

( )

508. If y = x3logx, then
d2y

dx2 =

A. 5x + 6xlogx

B. 6x + 5logx

C. 5x + 3xlogx

D. 

Answer: A

Watch Video Solution

509. If y = xnlognx. , then
d2y

dx2 =

https://dl.doubtnut.com/l/_1ofdXQ1PAHeI
https://dl.doubtnut.com/l/_1PmgiYznmweO
https://dl.doubtnut.com/l/_ATIqEjhBSbl8


A. xn - 2(n - 1 - n(n - 1)lognx)

B. xn - 2(n - 1 + n(n - 1)lognx)

C. xn - 2(2n - 1 - n(n - 1)lognx)

D. xn - 2(2n - 1 + n(n - 1)lognx)

Answer: D

Watch Video Solution

510. If y = x3log(log(1 + x)), theny′ ′ (0) =

A. 6

B. 6log2

C. -1

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ATIqEjhBSbl8
https://dl.doubtnut.com/l/_dvt717K7Pl7f


511. If
y = log x + √x2 + 1
2
, s h o wt h a t 1 + x2 d2y

dx2 + x
dy
dx

= 2.

A. 0

B. 1

C. 2

D. -2

Answer: C

Watch Video Solution

{ ( )} ( )

512. If y = x + √1 + x2 n
 then 1 + x2 d2y

dx2 + x
dy
dx

A. -m2y

B. m2y

C. -my

( ) ( )

https://dl.doubtnut.com/l/_dvt717K7Pl7f
https://dl.doubtnut.com/l/_83PEJQdClLFd
https://dl.doubtnut.com/l/_V04ISPlGsErk


D. my

Answer: B

Watch Video Solution

513. If y = x + √1 + x2 n
 then 1 + x2 d2y

dx2 + x
dy
dx

A. -n2y

B. n2y

C. -y

D. 2x2y

Answer: B

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_V04ISPlGsErk
https://dl.doubtnut.com/l/_LN62UAuTjZMh


514. (i) If y1 /m + y - 1 /m = 2x then prove that x2 - 1
d2y

dx2 + x
dy
dx

- m2y = 0 


(ii) If y = ln x + √1 + x2 , then prove that 1 + x2 d2y

dx2 + x
dy
dx

= 0

A. -m2y2

B. m2y2

C. -m2y

D. m2y

Answer: D

Watch Video Solution

( )
( ( )

515. If
y = sin(sinx), p r o v et h a t

d2y

dx2 + tanx
dy
dx

cos2x = 0.

A. sin(cosx)cos2x

B. - sin(cosx)cos2x

C. sin(cosx)sin2x

https://dl.doubtnut.com/l/_4EeQpDGMeBjG
https://dl.doubtnut.com/l/_4Bwzo490mHzK


D. cos(sinx)sin2x

Answer: B

Watch Video Solution

516. If y = 3cos(logx) + 4sin(logx), 
then show
that x2

.

d2 y

dx2 +
dy
dx

+ y = 0

A. -y

B. y

C. -12y

D. 12y

Answer: A

Watch Video Solution

517. If y = cosecx - cotx, thensinx
d2y

dx2 =

https://dl.doubtnut.com/l/_4Bwzo490mHzK
https://dl.doubtnut.com/l/_g36Als8Px11d
https://dl.doubtnut.com/l/_pOHIPH8I0QQW


A. - (1 + cosx)
dy
dx

B. (1 + cosx)
dy
dx

C. - (1 - cosx)
dy
dx

D. (1 - cosx)
dy
dx

Answer: D

Watch Video Solution

518. If y = sin logex , then x2d
2y

dx2 + x
dy
dx

 is equal to

A. sin(logx)

B. cos(logx)

C. -y

D. y2

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_pOHIPH8I0QQW
https://dl.doubtnut.com/l/_AzWuTiWkQ1kP


519. If y = cos(logx), then x2d
2y

dx2 + x
dy
dx

=

A. 0

B. 1

C. y

D. -y

Answer: D

Watch Video Solution

520. If y = sin msin - 1x , then 1 - x2 d2y

dx2 - x
dy
dx

=

A. -2m2y

B. 2m2y

C. -m2y

( ) ( )

https://dl.doubtnut.com/l/_AzWuTiWkQ1kP
https://dl.doubtnut.com/l/_WzQIkboKadaL
https://dl.doubtnut.com/l/_j7zPF1B5zXjL


D. m2y

Answer: C

Watch Video Solution

521. If y = sin mcos - 1x , show that 1 - x2 d2y

dx2 - x
dy
dx

+ m2y = 0

A. m2y

B. -m2y

C. my

D. -my

Answer: B

Watch Video Solution

( ) ( )

522. If y = cos mcos - 1x , then 1 - x2 d2y

dx2 - x
dy
dx

=( ) ( )

https://dl.doubtnut.com/l/_j7zPF1B5zXjL
https://dl.doubtnut.com/l/_o7AFlyM9mK5L
https://dl.doubtnut.com/l/_GsFSfg1Sa21l


A. my

B. -my

C. m2y

D. -m2y

Answer: D

Watch Video Solution

523. If y = sin mlog x + √1 + x2 , then 1 + x2 d2y

dx2 + x
dy
dx

=

A. -m2y

B. m2y

C. -my

D. my

Answer: A

Watch Video Solution

( ( )) ( )

https://dl.doubtnut.com/l/_GsFSfg1Sa21l
https://dl.doubtnut.com/l/_VaEQZP8VgEGL


524. If y = acos(logx) + bsin(logx)wherea, bare parameters ,then 

x2y′ ′ + xy′ =

A. -2y

B. 2y

C. -y

D. y

Answer: C

Watch Video Solution

525. If y = 3e2x + 2e3x, then
d2y

dx2 - 5
dy
dx

=

A. 6y

B. -6y

https://dl.doubtnut.com/l/_VaEQZP8VgEGL
https://dl.doubtnut.com/l/_xLsRdFrdyTfa
https://dl.doubtnut.com/l/_mYKwdmVU8kam


C. 3y

D. -3y

Answer: B

Watch Video Solution

526. If u = Aemx + Benx, theny2 - (m + n)y1 + mny =

A. m

B. n

C. 1

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mYKwdmVU8kam
https://dl.doubtnut.com/l/_ArTyS41vD4bK


527. If y = emcos - 1x, then 1 - x2 d2y

dx2 - x
dy
dx

=

A. -m2y

B. m2y

C. -2m2y

D. 2m2y

Answer: B

Watch Video Solution

( )

528. If y = x2ex, then
d2y

dx2 -
dy
dx

=

A. (x + 1)ex

B. - (x + 1)ex

C. 2(x + 1)ex

D. -2(x + 1)ex

https://dl.doubtnut.com/l/_YkBiq2Yuj96I
https://dl.doubtnut.com/l/_xemkiMK1A5vc


Answer: C

Watch Video Solution

529. If ey(x + 1) = 1, theny2 =

A. y2
1

B. -y2
1

C. 2y1

D. -2y1

Answer: A

Watch Video Solution

530. (a + bx)e
y
x = x , Prove that x3d

2y

dx2 = x
dy
dx

- y
2

A. x
dy
dx

- y

( )

https://dl.doubtnut.com/l/_xemkiMK1A5vc
https://dl.doubtnut.com/l/_kJXSM6QY1NEH
https://dl.doubtnut.com/l/_mczhktloaGeG


B. x
dy
dx

+ y

C. x
dy
dx

- y
2

D. x
dy
dx

+ y
2

Answer: C

Watch Video Solution

( )
( )

531. If y = xlog
x

a + bx
, then x3d

2y

dx2 =

A. x
dy
dx

- y

B. y
dy
dx

- x

C. y
dy
dx

- x
2

D. x
dy
dx

- y
2

Answer: D

Watch Video Solution

( )

( )
( )

https://dl.doubtnut.com/l/_mczhktloaGeG
https://dl.doubtnut.com/l/_IAVMEs2nEs23


532. If y = log(log2x), thenx
d2y

dx2 +
dy
dx

=

Watch Video Solution

533. If y = sin - 1x
, then show that 1 - x2  
d2y

dx2 - x
dy
dx

= 0
.

A. 2

B. -2

C. 1

D. 0

Answer: D

Watch Video Solution

( )

534. If y = tan - 1x 2
, then prove that 1 + x2 2 y2 + 2x  1 + x2 y1 = 2
.( ) ( ) ( )

https://dl.doubtnut.com/l/_IAVMEs2nEs23
https://dl.doubtnut.com/l/_zAHyTzNJQcRb
https://dl.doubtnut.com/l/_VDSjsE6WEVRU
https://dl.doubtnut.com/l/_ivYNh3qKXaAS


A. -2

B. 2

C. -2x

D. 2x

Answer: B

Watch Video Solution

535. If y = xx, thenxy
d2y

dx2 - x
dy
dx

2
=

A. -y2

B. y2

C. -xy2

D. xy2

Answer: B

W t h Vid S l ti

( )

https://dl.doubtnut.com/l/_ivYNh3qKXaAS
https://dl.doubtnut.com/l/_dh6A0aEQJbkA


Watch Video Solution

536. If x = at2, y = 2at then 
d2y

dx2  is equal to

A. 
1

2at3

B. 
-1

2at3

C. 
2a

t3

D. 
-2a

t3

Answer: B

Watch Video Solution

537. If x = 2at2, y = 4at, then
d2y

dx2 =

A. 
-1

2at3

B. 
1

2at3

C. 
-1

4at3

https://dl.doubtnut.com/l/_dh6A0aEQJbkA
https://dl.doubtnut.com/l/_Eyfo2bkK8bOs
https://dl.doubtnut.com/l/_XID3wzDOvR2m


D. 
1

4at3

Answer: C

Watch Video Solution

538. let y = t10 + 1,  and x = t8 + 1,  then 
d2y

dx2  is

A. 
5t
2

B. 
5

(16t)6

C. 20t8

D. 8t7

Answer: B

Watch Video Solution

539. If x = asecθ, y = atanθ, then at θ =
π
4

,
d2y

dx2 =

https://dl.doubtnut.com/l/_XID3wzDOvR2m
https://dl.doubtnut.com/l/_5UeL2rjZufUb
https://dl.doubtnut.com/l/_H7xF1EuzUHZV


A. 
-1
a

B. 
1
a

C. -a

D. a

Answer: A

Watch Video Solution

540. If x = sinθ, y = sin3θ then 
d2y

dx2  at θ =
π
2

 is …….

A. 6

B. -6

C. 3

D. -3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_H7xF1EuzUHZV
https://dl.doubtnut.com/l/_6bgNz3b4nAls


541. If
x = cosθ, ysin3θ, p r o v et h a t
y
d2y

dx2 +
dy
dx

2
= 3sin2θ 5cos2θ - 1

.

A. 3sin2θ 1 - 2cos2θ

B. 3sin2θ 2cos2θ - 1

C. 3sin2θ 1 - 5cos2θ

D. 3sin2θ 5cos2θ - 1

Answer: D

Watch Video Solution

( ) ( )

( )
( )
( )
( )

542. If x = acos3θ
and y = asin3θ, 
then find
the value of 
d2y

dx2 
at θ =
π
6

.

A. 
sec2θ
3asinθ

B. 
- sec2θ
3asinθ

C. 
sec4θ
3asinθ

https://dl.doubtnut.com/l/_6bgNz3b4nAls
https://dl.doubtnut.com/l/_ml5LfOLCQiKz
https://dl.doubtnut.com/l/_gz3dDA0GJ8ns


D. 
- sec4θ
3asinθ

Answer: C

Watch Video Solution

543. If x = asinθ, y = bcosθ, then
d2y

dx2 =

A. 
-b

a2 sec2θ

B. 
-b
a

sec2θ

C. 
a
b

sec2θ

D. 
-b2

a2 sec3θ

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gz3dDA0GJ8ns
https://dl.doubtnut.com/l/_2ohJZlzxqDea


544. If x = 2cost - cos2t, y = 2sint - sin2t, then the value of 

d2y

dx2
t=π / 2

is

A. 
3

2√2

B. 
-3

2√2

C. 
3
2

D. 
-3
2

Answer: D

Watch Video Solution

| |

545. If x = asint - bcost, y = acost + bsint, theny3d
2y

dx2 =

A. - a2 + b2

B. a2 + b2

C. x2 + y2

( )

https://dl.doubtnut.com/l/_uc7xJt98HtVh
https://dl.doubtnut.com/l/_LDNgqpv7Kamr


D. - x2 + y2

Answer: D

Watch Video Solution

( )

546. If x = θ - sinθ, y = 1 - cosθ, then
d2y

dx2 =

A. 
-1

4sin4 θ

2

B. 
1

4sin4 θ
2

C. 
-1

2sin4 θ
2

D. 
1

2sin2 θ

2

Answer: A

Watch Video Solution

( )

( )

( )

( )

https://dl.doubtnut.com/l/_LDNgqpv7Kamr
https://dl.doubtnut.com/l/_cQQfrj4Yxgao


547. if x = a(cosθ + θsinθ), y = a(sinθ - θcosθ) then 
d2y

dx2

A. 
√2

aπ

B. 
2√2

aπ

C. 
4√2

aπ

D. 
8√2

aπ

Answer: D

Watch Video Solution

548. If x = sin√t, y = e√t, then
d2y

dx2 =

A. 
e√t cos√t - sin√t

cos2√t

B. 
e√t cos√t + sin√t

cos2√t

( )

( )

https://dl.doubtnut.com/l/_cQQfrj4Yxgao
https://dl.doubtnut.com/l/_Atyg7pGDy8lF
https://dl.doubtnut.com/l/_nxN3FLslbFfn


C. 
e√t cos√t - sin√t

cos3√t

D. 
e√t cos√t + sin√t

cos3√t

Answer: D

Watch Video Solution

( )

( )

549. If x = √asin ^ (( - 1)t), y = √acos ^ (( - 1)t), show that 
dy
dx

= -
y
x

A. 
-2y

x2

B. 
2y

x2

C. 
-y

x2

D. 
y

x2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nxN3FLslbFfn
https://dl.doubtnut.com/l/_E1RTW2zlH8KT
https://dl.doubtnut.com/l/_rjW93JWK6Uwh


550. The second order derivative of asin3t w.r.t, acos3t at t =
π
4

 is

A. 
4√2

3a

B. 
2√2

3a

C. 
1

12a

D. 2

Answer: A

Watch Video Solution

551. If x = logθ, θ > 0 and y =
1
θ , then

d2y

dx2 =

A. 0

B. 1

C. 
dy
dx

D. -
dy
dx( )

https://dl.doubtnut.com/l/_rjW93JWK6Uwh
https://dl.doubtnut.com/l/_mSWuhcJVPcL9


Answer: D

Watch Video Solution

552. Let f(x)
be a polynomial.Then, the second order derivative of f ex 
 is

fe
x
e2x + f ′ ex ex
fe

x
ex + f ′ ex 
fe

x
e2x + fe

x
ex
(d) fe

x

A. f′ ′ ex e2x + f′ ex ex

B. f′ ′ ex e2x + f′ ex

C. f′ ex

D. f′ ′ ex ex + f′ ex

Answer: A

Watch Video Solution

( )
( ) ( )

( ) ( )
( ) ( )

( )
( ) ( )

553. If x = f(t) and yy=g(t) are differentiable functions of t then 
d2y

dx2  is

https://dl.doubtnut.com/l/_mSWuhcJVPcL9
https://dl.doubtnut.com/l/_TKQSe28igQyk
https://dl.doubtnut.com/l/_OcA6uzbKkYbi


A. 
f′ (t)′ ′ (t) - g′ (t)f′ ′ (t)

(f′ (t))3

B. 
f′ (t)′ ′ (t) - g′ (t)f′ ′ (t)

(f′ (t))2

C. 
g′ (t)f′ ′ (t) - f′ (t)g′ ′ (t)

(f′ (t))3

D. 
g′ (t)f′ ′ (t) + f′ (t)g′ ′ (t)

(f′ (t))3

Answer: A

Watch Video Solution

554. 
d2x

dy2  equals

A. -
dy
dx

3d2y

dx2

B. 
dy
dx

3d2y

dx2

C. -
dy
dx

- 3d2y

dx2

D. 
dy
dx

- 3d2y

dx2

Answer: C

( )
( )
( )

( )

https://dl.doubtnut.com/l/_OcA6uzbKkYbi
https://dl.doubtnut.com/l/_m1GoLkhbTwJc


Watch Video Solution

555. 
d2x

dy2  equals

A. 
d2y

dx2

B. 
1

dy

dx

2

C. 
1

dy

dx

2

d2y

dx2

D. 
-1

dy

dx

2

d2y

dx2

Answer: D

Watch Video Solution

( )

( )

( )

556. Given f(x) = 2x, x < 0 = 0, x ≥ 0, then f(x) is

https://dl.doubtnut.com/l/_m1GoLkhbTwJc
https://dl.doubtnut.com/l/_DJYUyR8kClds
https://dl.doubtnut.com/l/_LbyXOFnKLC4O


A. discontinuous and not differentiable at x =0

B. continuous and differentiable at x =0

C. discontinuous and differentiable at x=0

D. continuous and not differentiable at x =0

Answer: D

Watch Video Solution

557. If g(x) is the inverse function of f(x) and f′ (x) =
1

1 + x4 , then g′ (x) is

A. (1 + g(x))4

B. (1 - g(x))4

C. 1 + (f(x))4

D. 
1

1 + (g(x))4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LbyXOFnKLC4O
https://dl.doubtnut.com/l/_dnUwqwYdXfft


558. If for x 0,
1
4

, 
 the derivative of tan - 1
6x√x

1 - 9x3 
 is √x
.

g(x), 
 then g(x)

equals:

3x

1 - 9x3 
(2) 
3

1 + 9x3 
(3) 
9

1 + 9x3 
(4) 
3x√x

1 - 9x3

A. 
3

1 + 9x3

B. 
9

1 + 9x3

C. 
3x√x

1 - 9x3

D. 
3x

1 - 9x3

Answer: B

Watch Video Solution

( ) ( )

559. Derivative of tan3θ with respect to sec3θ at θ =
π
3

 is

A. 
3
2

https://dl.doubtnut.com/l/_dnUwqwYdXfft
https://dl.doubtnut.com/l/_PtNa6jGNBSxL
https://dl.doubtnut.com/l/_7bxGzBAWhLHU


B. 
√3

2

C. 
1
2

D. 
-√3

2

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7bxGzBAWhLHU

